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CHAPTER 1. DOUBLE_CAV

1. Code information

CFD Simulation Z&, Double_cav 2 &

2. Makefile

Original Z=2| Makefile

OBJS = bound.o boundzone2.0 initcotom.o nastokzone2.0 vsflux.o W
boundturb.o boundzone3.0 metric.0 nastokzone3.o vsfluxz2.o0 W
boundturbzone2.o datain.o metriczone2.o outputtest.o vsfluxz3.o W
boundturbzone3.o double_cav.o metriczone3.o turb_ca_rktom.o W
grid.o nastok.o turb_ca_tktomz2.o

FFLAGS = -pg -g -O3 -grealsize=8 -qdpc=e -qgsource -gattr=full
FFLAG = -pg -bmaxdata:0x80000000 -bmaxstack:0x10000000
FC = xIf
double_cav: $(OBJS)

$(FC) $(FFLAG) -0 $@ $(OBJS)
clean:

rm *.o

Z &3 ZEO| Makefile

OBJS = bound.o boundzone2.o initcotom.o nastokzone2.o0 vsflux.o W
boundturb.o boundzone3.o metric.o nastokzone3.o vsfluxz2.0 W
boundturbzone2.o0 datain.o metriczone2.o outputtest.o vsfluxz3.o W
boundturbzone3.o double_cav.o metriczone3.o turb_ca_rktom.o W
grid.o nastok.o turb_ca_tktomz2.o

FFLAGS = -pg -g -O -grealsize=8 -qdpc=e -gsource -qattr=full
FFLAG = -pg -bmaxdata:0x80000000 -bmaxstack:0x10000000
FC = xIf
double_cav: $(OBJS)

$(FC) $(FFLAG) -0 $@ $(OBJS)
clean:

rm *.o0

MPI &3t D=2 Makefile

OBJS = datain.o grid.o initcotom.o W
outputtest.o turb_ca_rktom.o turb_ca_tktomz2.0 W




metric.0 metriczone2.0 metriczone3.o0 nastok.o W
nastokzone2.o0 nastokzone3.0 vsflux.o vsfluxz2.o vsfluxz3.o0 W
bound.o boundturb.o boundzone2.o0 boundturbzone2.o0 boundzone3.0 W
boundturbzone3.oW
mpi_subroutines.o double_cav.o
FFLAGS = -q64 -pg -g -03 -gsave -qrealsize=8 -qdpc=e -garch=pwr4
FFLAG = -g64 -pg -Imass -L/applic/mpitrace/lib -Impitrace
FC = mpxIf
LD = mpxIf_r
double_cav: $(OBJS)
$(LD) $(FFLAG) -0 $@ $(OBJS)
clean:

rm *.o

&Ml Original Z& 2 Serial &3 2ENAE MPI HE35 RE2Makefiledd Z Y
SEO0l —garch=pwr4(-03) SA2 FJtot, &3 SH8U -ImassS F=Itotd MASS library
0 =

=
£ MEoH & &% FIHHe dsgd=s Jlieg



3. Flow Chart

T2 MptA&ol 2Ax= & &0[ Initializing Process, Main Calculation Process
ol double_cav £& ¥ finalizing Process2 ?&E Lt LptXol DEQ} OI&IIXNIZ R
Ol HI&HAIZHOlI Man process®! double_cav EE 0 11 6t2 subroutineS0HAMN AREH =
6l NASTOK, NASTOKzone2, NASTOKzone3 % Turbkom, turbkomzone?2, turbkomzone3
ElOIM CHREE2 Al2tES XHXIGHH O 220 st "3 Az E5H2Z 0|1F0

X CY.
s datin | 4|

Initializing Ij ntcrEoned |4—| ntcrEone? |-q—| prdiErnes |-q—| prliEpne?
Process metniETne? I_,.l melicETnes |_|.| bound |_|. | brundiurk ;:I
"_| bnundhlbznneﬂl._|hnundmmznnez|4_| boundzrned |.‘._| boundzrneZ

* - nastok | — o] nastokznez | .| nastokzone3
bomdzone3 |« | bondzone?z || bound ::I

turbkom | — & tobkomzonez | .| turbkomzone3
*— boundturbzone3 |« | boundturbzone2 |« |  boundturb ::|

Finalzing
Process _| Uhiphizes

iy

pritin | 5| ke ||  mehic

double_cay

J1&. 1.1 Double_cav flow chart



>/ |

4. Profiling &1}

=
lteration E4+8 2022 I} HR2 =& ZWO0|C.
<Original ZZ=2| profiling Z 1>
cumulative self self total
%time seconds seconds calls ms/call ms/call name
23.4 803.46 803.46 80 10043.25 11740.41 .turhs [5]
22.5 1577.17 773.71 80 9671.38 11368.53 .vsflux [6]
19.9 2261.58 684.41 80 8555.12 19923.66 .nastok [3]
6.0 2466.27 204.69 80 2558.62 14299.03 .turbkom [4]
5.3 2646.52 180.25 ._sqrt [8]
4.6 2804.17 157.65 1209856000 0.00 0.00 . _pow [7]
2.5 2890.62 86.45 1209856000 0.00 0.00 .expinner2 [10]
2.2 2965.20 74.58 1209856000 0.00 0.00 .loginner2 [12]
2.1 3037.39 72.19 1 72190.00 3123450.00 . main [1]
2.1 3108.02 70.63 80 882.88 1665.58 .nastokzone2 [9]
1.9 3174.07 66.05 .__mcount [14]
1.5 3226.81 52.74 80 659.25 864.70 .turhszone2 [13]
1.3 3272.99 46.18 80 577.25 782.70 .vsfluxz2 [15]
0.9 3302.36 29.37 80 367.12 695.26 .nastokzone3 [16]
0.7 3325.06 22.70 80 283.75 372.89 .turhszone3 [18]
0.6 3344.18 19.12 80 239.00 328.14 .vsfluxz3 [19]
0.3 3355.87 11.69 80 146.12 1010.83 .turbkomzone2 [11]
0.3 3365.44 9.57 45234697 0.00 0.00 .cvtloop [23]
0.2 3373.90 8.46 .__mcount [24]
0.2 3380.92 7.02 45311020 0.00 0.00 ._ cvt r[22]
0.2 3386.43 5.51 .FmtRToQED [20]
0.1 3390.85 4.42 80 55.25 428.14 .turbkomzone3 [17]
0.1 3394.72 3.87 .FormatControl [25]
0.1 3398.17 3.45 ._moveeq [26]
0.1 3401.47 3.30 81 40.74 40.74 .bound [27]
0.1 3404.70 3.23 .__stack pointer [28]
0.1 3407.19 2.49 .gincrementl [29]
0.1 3409.66 2.47 1 2470.00 2470.00 .metric [30]
0.1 3412.08 2.42 ._XIfWriteFmt [31]
0.1 3414.47 2.39 .gincrement [32]
0.1 3416.62 2.15 .WriteUnit [33]
0.1 3418.62 2.00 81 24.69 24.69 .boundturb [34]
0.0 3420.04 1.42 57004536 0.00 0.00 .mf2x1 [35]
0.0 3421.34 1.30 ._fill [36]
0.0 3422.53 1.19 .10Write [37]
<Serial &3 ZE9| profiling Z 1>
cumulative self self total
%time seconds seconds calls ms/call ms/call name
26.8 458.47  458.47 80 5730.88 10549.76 .nastok [3]
19.8 796.32 337.85 80 4223.12 4818.88 .vsflux [4]
17.9 1102.75 306.43 80 3830.38 4426.13 .turhs [6]
10.8 1287.65 184.90 ._sqrt [7]
3.3 1343.25 55.60 80 695.00 1148.12 .nastokzone2 [9]
3.1 1396.23 52.98 419306240 0.00 0.00 . _pow [8]
2.0 1429.98 33.75 419306240 0.00 0.00 .expinner2 [14]
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1.8 1461.29 31.31 80 391.38 465.62 .turhszone2 [12]
1.8 1491.60 30.31 80 378.88 453.12 .vsfluxz2 [13]
1.6  1519.49  27.89 .__mcount [16]
1.5 1545.24 25.75 419306240 0.00 0.00 .loginner2 [18]
1.4 1569.64 24.40 80 305.00 600.62 .nastokzone3 [10]
1.4 1592.88 23.24 80 290.50 323.50 .turhszone3 [17]
1.2 1613.89 21.01 80 262.62 295.62 .vsfluxz3 [20]
0.8 1627.08 13.19 1 13190.00 1440890.00 ._main.GL [1]
0.8 1640.25 13.17 80 164.62 4590.76 .turbkom [5]
0.6 1649.88 9.63 45234697 0.00 0.00 .cvtloop [23]
0.5  1658.07 8.19 .__mcount [24]
0.4 1665.74 7.67 45311020 0.00 0.00 .__cvt r[22]
0.3  1671.11 5.37 .FmtRToQED [19]
0.3 1675.46 4.35 80 54.38 377.87 .turbkomzone3 [15]
0.2 1679.08 3.62 ._moveeq [25]
0.2 1682.61 3.53 .FormatControl [26]
0.1 1685.11 2.50 1 2500.00 2500.00 .metric [27]
0.1 1687.26 2.15 . XIf\WriteFmt [28]
0.1 1689.29 2.03 80 25.38 490.99 .turbkomzone2 [11]
0.1 1691.20 1.91 .WriteUnit [29]
0.1 1693.07 1.87 81 23.09 23.09 .bound [30]
0.1 1694.55 1.48 57027661 0.00 0.00 .mf2x1 [31]
0.1 1695.84 1.29 .10Write [32]
0.1  1697.03 1.19 _fill [33]
0.1 1697.95 0.92 81 11.36 11.36 .boundturb [34]
0.1 1698.86 0.91 114055322 0.00 0.00 .pwrl0 [35]
<MPI &3 Z =9 profiling &2 1>
16J1 CPUE 0|83t 8t = S0lA &8 16012 profiling Z2UE summationdt0d LIE}
i Z 0l Ct.(iteration & &= : 20)
cumulative self self total
%time seconds seconds calls ms/call ms/call name
40.3  1052.26 1052.26 .kickpipes [3]
14.5 1429.93 377.67 1280 295.05 544.95 .nastok [4]
12.3 1749.79 319.86 1280 249.89 249.89 .vsflux [5]
9.7 2002.47 252.68 1280 197.41 197.41 .turhs [7]
46  2123.18 120.71 .mpci_wait [8]
3.9 222527 102.09 pow [9]
1.9 2273.72 48.45 1280 37.85 58.92 .nastokzone2 [10]
1.2 2305.77 32.05 1280 25.04 25.04 .turhszone2 [13]
1.0 2332.74 26.97 1280 21.07 21.07 .vsfluxz2 [14]
0.9 2356.90 24.16 1280 18.88 44.43 .turbkomzone2 [11]
0.8 2378.83 21.93 .mpci_recv [16]
0.8 2400.40 21.57 1280 16.85 28.28 .nastokzone3 [12]
0.8 2421.22 20.82 16 1301.25 1301.25 .initco [17]
0.7 2439.54 18.32 16 1145.00 76186.88 . _main [1]
0.6 2455.61 16.07 1280 12.55 210.48 .turbkom [6]
0.6 2471.46 15.85 1280 12.38 12.38 .turhszone3 [21]
0.6 2486.09 14.63 1280 11.43 11.43 .vsfluxz3 [22]
0.4  2496.67  10.58 .gettime [23]
0.4 2507.01 10.34 .__mcount [24]
0.4 2516.91 9.90 45235834 0.00 0.00 .cvtloop [25]
0.3 2524.43 7.52 45312300 0.00 0.00 . cvt r[19]
0.2 2530.07 5.64 mcount [26]
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0.2 2535.42 5.35 .FormatControl [27]
0.2 2540.52 5.10 .FMtRToQED [15]

0.2 2545.50 4.98 3840 1.30 1.30 .mpi_com_pm?2 [28]
0.2 2550.15 4.65 .cpfromdev [29]

0.2 2554.56 4.41 7776 0.57 0.57 .cast10 [30]

0.2 2558.89 4.33 16 270.62 270.62 .gridin [31]

0.1 2562.71 3.82 ._moveeq [33]

0.1 2566.01 3.30 .cptodevX [34]

0.1 2569.07 3.06 ._XIfWriteFmt [36]

0.1 2571.83 2.76 .global_unlock_ppc_mp [37]
0.1 2574.40 2.57 16 160.62 160.62 .initcozone?2 [38]

0.1 2576.77 2.37 1296 1.83 2.96 .bound [32]

0.1 2578.80 2.03 .read_real_time [39]
0.1 2580.79 1.99 3840 0.52 0.52 .mpi_com_pm2_2 [40]
0.1 2582.50 1.71 48 35.62 35.62 .mpi_com_output [41]
0.1 2584.19 1.69 1296 1.30 2.44  .boundturb [35]

0.1 2585.82 1.63 16 101.88 101.88 .metric [42]

0.1 2587.40 1.58 .10Write [43]

0.0 2588.63 1.23 114009914 0.00 0.00 .pwrl0 [45]

0.0 2589.78 1.15 ._fill [46]

0.0 2590.92 1.14 .WriteUnit [47]

0.0 2592.00 1.08 .global_lock_ppc_mp [48]
0.0 2592.94 0.94 57004957 0.00 0.00 .mf2x1 [52]

0.0 2593.85 0.91 16 56.88 56.88 .initcozone3 [53]

1o 2= iteration==If M2 HRZ 0] R M ZZ )8 SHAI2ZHHA Z2 0
SHAl OFXISOH XEE = output2 writedote & =8 AlZ2H0

Ct. O dUE2Z SA&IAIZE0l BOtM A Kickpipes &Sl HIE0l = LEgCH
(

OroF DIXI2H0Il THME= outputS wiitedls PES AY JL(AH DEE +E A2
Ot= 2 iteration2 0¥ = OLXZH StH 0IFUH K= Z2UE writeote 222 HI20|
SAE £ QULCH) TS 22 profile 201 LE=2CH OteHel Z b= iteration 848 2002
Z gt #AL0|C.

% cumulative  self self total

time seconds seconds calls ms/call ms/call name
22.5 3852.66 3852.66 12800 300.99 556.79 .nastok [3]
19.1 7126.85 3274.19 12800 255.80 255.80 .vsflux [4]

18.8 10344.38 3217.53 .kickpipes [5]
14.9 12893.35 2548.97 12800 199.14 199.14 .turhs [7]
6.0 13920.85 1027.50 ._pow [8]

3.0 1443336 51251 12800 40.04  62.34 .nastokzone2 [9]

2.0 1478429 350.93 12800 27.42  27.42 .turhszone2 [12]

17 15069.74 28545 12800 22.30  22.30 .vsfluxz2 [13]

1.5 15332.44 262.70 .mpci_wait [14]

1.4 15576.28 243.84 12800 19.05  47.02 .turbkomzone2 [10]
1.3 15804.61 228.33 12800 17.84  29.46 .nastokzone3 [11]

1.0 15980.68 176.07 16 11004.38 761395.62 ._main [1]
1.0 16149.95 169.27 12800 13.22 13.22 .turhszone3 [16]
1.0 16319.05 169.10 .mpci_recv [17]

0.9 16479.91 160.86 12800 12,57 212.26 .turbkom [6]
0.9 16628.72 148.81 12800 11.63  11.63 .vsfluxz3 [18]
0.3 16682.82  54.10 38400 1.41 1.41 .mpi_com_pm2 [19]
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0.3 16726.67 43.85 .cpfromdev [21]
0.3 16770.34 43.67 76896 0.57 0.57 .cast10 [22]

0.2 16802.87  32.53 .cptodevX [26]
0.2 1683475  31.88 .gettime [27]
0.2 16866.23  31.48 16 1967.50 1967.50 .initco [28]
0.1 16889.68 23.45 12816 1.83 2.97 .bound [25]
0.1 16912.32  22.64 .__mcount [30]

0.1 16933.63 21.31 38400 055  0.55 .mpi_com_pm2_2 [31]
0.1 16953.07  19.44 90312290  0.00  0.00 .cvtloop [32]

0.1 16969.66 16.59 12816  1.29  2.43 .boundturb [29]

0.1 16985.96  16.30 90464540  0.00  0.00 . cvt r [24]

0.1 16997.76 11.80 .__mcount [34]

0.1 17008.93 11.17 .FormatControl [35]
0.1 17019.95 11.02 .FmtRToQED [20]
0.0 17028.31 8.36 12800 0.65 14.43 .turbkomzone3 [15]
0.0 17036.14 7.83 ._XIfWriteFmt [37]
0.0 17043.33 7.19 .memcpy [38]

0.0 17049.42 6.09 .read_real_time [39]
0.0 17055.18 5.76 16 360.00 360.00 .gridin [40]

0.0 17060.56 5.38 12816 0.42 0.99 .boundzone2 [33]
0.0 17065.85 5.29 .global_unlock_ppc_mp [41]
0.0 17070.84 4.99 .cptodev [42]

0.0 17074.73 3.89 16 243.12 243.12 .initcozone2 [43]

0.0 17078.58 3.85 113899412 0.00 0.00 .mf2x1 [44]

2+2+9l profiling Z2U4E 2% A oY subroutinedl CHoll Iz s SA0 HOHLE
A=A mdol = = J=ed, =0l

subroutineOll A &

|0l M= turbs, vsflux, nastok, turbkom &2

&
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5. hpmcount Z13}

AU AHIAS hpmecountt 20| =dolH O30 Z€2 ZE =& &8t 3EE
2 + AT

<Original 2Z&2| hpmcount & 1t>

hpmcount (V 2.4.3) summary

Total execution time (wall clock time): 3435.172295 seconds

HitHH#HHH#H#H#H  Resource Usage Statistics #H#HAHHHH

Total amount of time in user mode : 3431.540000 seconds

Total amount of time in system mode : 1.800000 seconds

Maximum resident set size : 858780 Kbytes

Average shared memory use in text segment : 1375783 Kbytes*sec

Average unshared memory use in data segment : 2147483647 Kbytes*sec

Number of page faults without 1/0O activity : 214828

Number of page faults with 1/0 activity 119

Number of times process was swapped out :0

Number of times file system performed INPUT : 0

Number of times file system performed OUTPUT : O

Number of IPC messages sent :0

Number of IPC messages received :0

Number of signals delivered :0

Number of voluntary context switches : 2403

Number of involuntary context switches 1 3399

#HiH#H##H##  End of Resource Statistics #H#H#HHHHH
PM_FPU_FDIV (FPU executed FDIV instruction) 24159504153
PM_FPU_FMA (FPU executed multiply-add instruction) 392718097185
PM_FPUOQ_FIN (FPUO produced a result) 560558058362
PM_FPU1 FIN (FPU1 produced a result) 547644045427
PM_CYC (Processor cycles) 5850328258706
PM_FPU_STF (FPU executed store instruction) 190280736037
PM_INST_CMPL (Instructions completed) 2116927321666

Utilization rate : 99.946 %
Load and store operations : 685338.653 M
MIPS : 616.251
Instructions per cycle : 0.362

HW Float points instructions per Cycle : 0.189

Floating point instructions + FMAs 1310639.465 M
Float point instructions + FMA rate 381.535 Mflip/s
FMA percentage : 59.928 %
Computation intensity : 1.912

PM_LSU_LDF (LSU executed Floating Point load instruction) : 495057916598

14



<Serial &3 ZE9 hpmcount Z1>

hpmcount (V 2.4.3) summary
Total execution time (wall clock time): 1713.916778 seconds

HitHH#HHH#H#H#H  Resource Usage Statistics ##HAHHHH

Total amount of time in user mode : 1706.740000 seconds
Total amount of time in system mode : 2.780000 seconds
Maximum resident set size : 1450336 Kbytes
Average shared memory use in text segment : 527682 Kbytes*sec

Average unshared memory use in data segment : 2147483647 Kbytes*sec
Number of page faults without I/0 activity : 362785

Number of page faults with 1/0 activity 217

Number of times process was swapped out :0

Number of times file system performed INPUT : 0

Number of times file system performed OUTPUT : O

Number of IPC messages sent :0
Number of IPC messages received :0
Number of signals delivered :0
Number of voluntary context switches : 2527
Number of involuntary context switches : 1696

HitHHH#  End of Resource Statistics #HHHHHHHH

PM_FPU_FDIV (FPU executed FDIV instruction) : 51697911259
PM_FPU_FMA (FPU executed multiply-add instruction) : 388444889895
PM_FPUOQ_FIN (FPUO produced a result) : 512064683762
PM_FPU1 FIN (FPU1 produced a result) : 484707872045
PM_CYC (Processor cycles) : 2913083861638
PM_FPU_STF (FPU executed store instruction) : 161491119527
PM_INST_CMPL (Instructions completed) : 1806708137807
PM_LSU_LDF (LSU executed Floating Point load instruction) : 423403344143
Utilization rate : 99.746 %

Load and store operations : 584894.464 M

MIPS : 1054.140

Instructions per cycle : 0.620

HW Float points instructions per Cycle : 0.342

Floating point instructions + FMAs : 1223726.326 M

Float point instructions + FMA rate : 713.994 Mflip/s

FMA percentage : 63.486 %

Computation intensity : 2.092

<MPI €3l =9 hpmcount 21>

16012l CPUE A26IH =8MS [ 0Y rank2 hpmcount Z 10| L.

hpmcount (V 2.4.3) summary
Total execution time (wall clock time): 168.441202 seconds
HE#HH#HH##A  Resource Usage Statistics #HA#HHHHHH

Total amount of time in user mode : 159.510000 seconds
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Total amount of time in system mode : 3.050000 seconds
Maximum resident set size : 782256 Kbytes
Average shared memory use in text segment : 75337 Kbytes*sec
Average unshared memory use in data segment : 96757984 Kbytes*sec
Number of page faults without 1/0 activity : 196015

Number of page faults with 1/0 activity 110

Number of times process was swapped out :0

Number of times file system performed INPUT : 0

Number of times file system performed OUTPUT : O

Number of IPC messages sent :0
Number of IPC messages received :0
Number of signals delivered 01
Number of voluntary context switches : 3556
Number of involuntary context switches : 165

HitHHH#  End of Resource Statistics #HHHHHHHH

PM_FPU_FDIV (FPU executed FDIV instruction) : 1675349197
PM_FPU_FMA (FPU executed multiply-add instruction) : 24748546598
PM_FPUO_FIN (FPUO produced a result) : 39481932506
PM_FPU1_FIN (FPU1 produced a result) : 37085071423
PM_CYC (Processor cycles) : 277081326850
PM_FPU_STF (FPU executed store instruction) : 15938383770
PM_INST_CMPL (Instructions completed) : 225997300230
PM_LSU_LDF (LSU executed Floating Point load instruction) : 33617856069
Utilization rate : 96.537 %

Load and store operations : 49556.240 M

MIPS : 1341.698

Instructions per cycle : 0.816

HW Float points instructions per Cycle : 0.276

Floating point instructions + FMAs : 85377.167 M

Float point instructions + FMA rate : 506.866 Mflip/s

FMA percentage : 57.975 %

Computation intensity : 1.723

Original 2 E2 Serial &3 ZE2 hpmcount ZUE Hlwol EH HAHY original

1]

Lo FER REsSasd dax=It 18310630MEX EHD FSAd i ZE0}

381.5MFLOPS H& &0, Serial &3 BEQ AR 22SA4E HARIRIL 1223726M

Bk T FS4AE g4 £50F 714.0MFLOPS E5 =0 =/ H3g 20 AMe|=JF X5

.OMFLOPSOIIAl 506.9MFLOPSZ Z AKXt MPI EEZ3tZ Qo 0P rankJt HIAHGHOF

ot R Azxd ARSI oF 1481 HEE =SS0 HHMFQ AHLAIZI0l 108HE S
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6. Serial %23} I= Hlu U BM

CtS subroutinesS0l Uioh M X=&SIE XEH5EALCEH

Main Calculation Process

Subroutine & | Original 2 E29| ticke | &3t ZE9 tick= | Speed-up
1 double_cav 7,219 1,319 5.47
2 nastok 68,441 45,847 1.49
3 vsflux 77,371 33,785 2.29
4 nastokzone?2 7,063 5,560 1.27
5 vsfluxz2 4,618 3,031 1.52
6 nastokzone3d 2,937 2,440 1.20
7 vsfluxz3 1,912 2,101 0.91
8 bound 330 187 1.76
9 turbkom 20,469 1,317 15.54
10 turhs 80,346 30,643 2.62
R turbkomzone?2 1,169 203 5.76
12 turhszone?2 5,274 3,131 1.68
13 turhszone3 2,270 2,324 0.98
14 boundturb 200 92 217
total - 279,619 131,980 2.12

HIIM tick == oY subroutinell HEFAEQl =

el

Al 2¢

nio

LHEFY

i
»
10
Hu

1 tick%
0.01=E UEIHHEH speed-up= oY ZE=0 OHol =& XYz A HIE= LLE

HCH MME2Z Main Calculation ProcessOlAl 2+ subroutine

in
o
fral
JA
fon
ol
2

e

2.12812 d=¢40l

ull

%S

o

2 o QUCH 2 subroutine0ll CHoi Al otLIA =406 EH

Ct

0lo

ot 20

1. double _cav FE

A. do-loop =A HB2Z Cache miss rateE =&

<Original 2 &>

119 do 100 i=2,il

17



120 11 do 100 j=2,jl

121 do 100 k=2,kl

122 2828 ur(i,j,k)=w(2,i,j,k)/w(1,i,j,k)

123 87 vr(i,j,K)=w(3,i,j,k)/w(1,i,j,k)

124 2083 wr(i,j,k)=w(4,i,j,k)/w(1,i,j,k)

125 1410 p(i.j,K)=(w(5,i,j,k)-0.5*w(1,i,j,K)*(ur(i,j,k)**2
126 * +vr(i,j,K)**2+wr(i,j,k)**2))*(gamm)

127 7 t(i.j.K)=p(i.j,K)/w(1,i,j,k)

128 8 100 continue

135 do 101 i=2,ilz2

136 4 do 101 j=2,jlz2

137 do 101 k=2,klz2

138 204 urz2(i,j,k)=wz2(2,i,j,k)/wz2(1,i,j,k)

139 9 vrz2(i,j,k)=wz2(3,i,j,k)/wz2(1,i,j,k)

140 105 wrz2(i,j,k)=wz2(4,i,j,k)/wz2(1,i,j,k)

141 75 pz2(i,j,k)=(wz2(5,i,j,k)-0.5*wz2(1,i,j,k)*(urz2(i,j,k)**2
142 * +vrz2(i,j,k)**2+wrz2(i,j,k)**2))*(gamm)
143 1 tz2(i,j,k)=pz2(i,j,k)/wz2(1,i,j,k)

144 1 101 continue

149 do 102 i=2,ilz3

150 1 do 102 j=2,jlz3

151 do 102 k=2,klz3

152 51 urz3(i,j,K)=wz3(2,i,j,k)/wz3(1,i,j,k)

153 9 vrz3(i,j,k)=wz3(3,i,j,k)/wz3(1,i,j,k)

154 26 wrz3(i,j,k)=wz3(4,i,j,k)/wz3(1,i,j,k)

155 15 pz3(i,j,k)=(wz3(5,i,j,k)-0.5*wz3(1,i,j,k)* (urz3(i,j,k)**2
156 * +vrz3(i,j,K)**2+wrz3(i,j, k) **2))*(gamm)
157 tz3(i,j,k)=pz3(i,j,k)/wz3(1,i,j,k)

158 102 continue

<ZE| |

119 do 100 k=2,kl

120 do 100 j=2,jl

121 do 100 i=2,il

122 142 ur(i,j,k)=w(2,i,j,k)/w(1,i,j,k)

123 353 vr(i,j,k)=w(3,i,j,k)/w(1,i,j,k)

124 23 wr(i,j,k)=w(4,i,j,k)/w(1,i,j,k)

125 110 p(i,j,K)=(w(5,i,j,k)-0.5*w(1,i,j,k)*(ur(i,j,k)**2
126 * +vr(i,j,K)**2+wr(i,j,k)**2))*(gamm)

127 264 t(i,J,K)=p(.j,k)/w(1,i,j,k)

128 100 continue

135 do 101 k=2,klz2

136 do 101 j=2,jlz2

137 do 101 i=2,ilz2

138 6 urz2(i,j,K)=wz2(2,i,j,k)/wz2(1,i,j,k)
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139 48 vrz2(i,j,k)=wz2(3,i,j,k)/wz2(1,i,j,k)

140 4 wrz2(i,j,k)=wz2(4,i,j,k)/wz2(1,i,j,k)

141 3 pz2(i,j,k)=(wz2(5,i,j,k)-0.5*wz2(1,i,j,k)*(urz2(i,j,k) **2
142 * +vrz2(i,j,k)**2+wrz2(i,j,k)**2))*(gamm)

143 30 tz2(i,j,k)=pz2(i,j,k)/wz2(1,i,j,k)

144 101 continue

149 do 102 k=2,klz3

150 do 102 j=2,jIz3

151 do 102 i=2,ilz3

152 4 urz3(i,j,k)=wz3(2,i,j,k)/wz3(1,i,j,k)

153 19 vrz3(i,j,K)=wz3(3,i,j,k)/wz3(1,i,j,k)

154 1 wrz3(i,j,k)=wz3(4,i,j,k)/wz3(1,i,j,k)

155 6 pz3(i,j,K)=(wz3(5,i,j,k)-0.5*wz3(1,i,j,k)*(urz3(i,j,k)**2
156 *  +vrz3(i,j,k)**2+wrz3(i,j,k)**2))*(gamm)

157 15 tz3(i,j,k)=pz3(i,j,k)/wz3(1,i,j,k)

@ Original ZE0 A H]

e

=X0l M2l accessE ILlotdl A inner loop%t

outer loop2l =HE=AE HIRAH HZEQl H22| accessE ot== =8oHALCE.

2. nastok £

El

—

A. do-loop =N BIZ2Z Cache miss rateE =&

<Original 2 &>

274
275
276
277
278
279
280
281
282

430

440
441
442
443

446
447
448
449
450
451

477

757
1101
310
64

530
152

50

33

do 200 k=2,kI
do 200 i=2,il
do 20 j=1,j2

pi2=(gamma-1)*(ur(i,j,k)**2+vr(i,j,K)**2+wr(i,j,k)**2)/2.
pi=sqgrt(etx(i,j,k)**2+ety(i,j,k)**2+etz(i,j,k) **2)
ex=etx(i,j,K)/pi

ey=ety(i,j,k)/pi

ez=etz(i,j,k)/pi

do 823 ir=1,idim

g(ir,j)=fprc*vol(i,j,k)
gm(ir,j)=fmrc*vol(i,j,k)
823 continue
20 continue

do 21 j=2,jl

m=j-1

if((j.eq.2)) then

do ir=1,5
dw(ir,i,j,k)=dw(ir,i,j,k)+g(ir,j)-g(ir,j-1)

enddo

endif
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478

21 continue

513 1 200 continue

514 do 300 i=2,il

515 do 300 j=2,jl

516 2 do 30 k=1,k2

517 4035 pi2=(gamma-1)*(ur(i,j,k)**2+vr(i,j,K)**2+wr(i,j,K)**2)/2.
518 6609 pi=sqrt(ztx(i,j,k)**2+zty(i,j,k)**2+ztz(i,], k) **2)
519 2675 zx=ztx(i,j,k)/pi

520 59 zy=zty(i,j,k)/pi

521 zz=ztz(i,j,k)/pi

668 do 833 ir=1,idim

678 8 h(ir,k)=gprc*vol(i,j,k)

679 150 hm(ir,k)=gmrc*vol(i,j,k)

680 833 continue

682 22 30 continue

717 1 do 33 k=2,ki

718 12 n=k+1

719 159 if((k.eq.kl)) then

720 do ir=1,5

721 dw(ir,i,j,K)=dw(iri,j,k)+(hm(ir,n)-hm(ir,k))
722 enddo

748 endif

749 33 continue

750 1 300 continue

<Z| &>

276 do 200 k=2,kl

277 do 20 j=1,j2

278 1 do i=2,il

279

280 51 pi2=(gamma-1)*(ur(i,j,k)**2+vr(i,j,k)**2+wr(i,j, k) **2)/2.
281 304 pi=sqgrt(etx(i,j,k)**2+ety(i,j,k) **2+etz(i,j,k) **2)
282 ex=etx(i,j,k)/pi

283 380 ey=ety(i,j,k)/pi

284 39 ez=etz(i,j,k)/pi

432 do 823 ir=1,idim

442 87 gj(ir,i,j)=fprc*vol(i,j,k)

443 297 gmj(iri,j)=fmrc*vol(i,j,k)

444 823 continue

445 24 enddo

446 20 continue

449 do 21 j=2,jl

450 m=j-1

451 do i=2,il

20




o AtSotRALEH

3. nastokzone?2

=2 E|

L]

452 4 if((j.eq.2)) then

453 do ir=1,5

454 11 aw(ir,i,j,K)=dw(iri,j,k)+gj(ir,i,j)-gj(iri,j-1)

455 enddo

481 endif

482 enddo

483 21 continue

521 200 continue

522 do 30 k=1,k2

523 do j=2,jl

524 do i=2,il

525 118 pi2=(gamma-1)*(ur(i,j,k)**2+vr(i,j,k)**2+wr(i,j, k) **2)/2.

526 334 pi=sqrt(ztx(i,j,K)**2+zty(i,j,K)**2+ztz(i,j,k) **2)

527 zx=ztx(i,j,k)/pi

528 433 zy=zty(i,j,k)/pi

529 34 zz=ztz(i,j,K)/pi

676 do 833 ir=1,idim

686 88 hk(ir,i,j,k)=gprc*vol(i,j,k)

687 356 hmk(ir,i,j,K)=gmrc*vol(i,j,k)

688 833 continue

690 28 enddo

691 1 enddo

692 30 continue

731 do 33 k=2,kl

732 n=k+1

733 do j=2,jl

734 do i=2,il

735 6 if((k.eq.kl)) then

736 do ir=1,5

737 4 dw(ir,i,j,kK)=dw(ir,i,j,k)+(hmk(ir,i,j,n)-hmk(ir,i,j,k))

738 enddo

766 enddo

767 enddo

768 33 continue
@ Original 2E0AM HIHEAQ 22l accessE Tlot)l foHA inner loop%t

outer loopl =HE=AHME HIHRH H=HQl W22l accessE ot== =&oIUL.
@ Loop =ME BHAHGBII| ol original D=2 2X& g, gm & h, hm array CHal
Serial Z &gt DEOM A= 3XE gj, gmj array ¥ 4XH& hk, hmk arrayE &St

nastokzone3 FEl
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Nastokzone?2, nastokzone3 ZFE&

SEO0IJl =0l Otchel nastok FEIS = A3t 82t Hl=zotH +=HotALH

A. Bt= JlatE =

<Original Z&>

ro

>

QO

<
o

=~
alll
rm
&
£
1
=]
o
0
H
2
>

=

visc arrayE St B J| &t

tolg= He

Bl =<

51

22 do 100 k=2,kI

26 1 do 100 j=2,jl

30 doi=1,i2

31 30 visc(i) = (t(i,j,k)/tfree)**vex/res

32 enddo

170 34 vco=(visc(i)*facl+visc(ip)*fac2)/pr
171 *  +(emu(i,j,k)*facl+emu(ip,j,k)*fac2)/prt
196 1 100 continue
200 do 200 k=2,kl
203 do 200 i=2,il
207 doj=1,j2
208 138 visc(j) = (t(i,j,k)/tfree)**vex/res
209 enddo
346 271 vco=(visc(j)*facl+visc(jp)*fac2)/pr
347 *  +(emu(i,j,k)*facl+emu(i,jp,k)*fac2)/prt
372 9 200 continue
376 do 300 i=2,il
379 do 300 j=2,jl
383 2 do k = 1,k2
384 420 visc(k) = (t(i,j,k)/tfree)**vex/res
385 enddo
523 118 vco=(visc(k)*facl+visc(kp)*fac2)/pr
524 *  +(emu(i,j,k)*facl+emu(i,j,kp)*fac2)/prt
548 4 300 continue
<FHg DE>

23 do k =1,k2

24 doj=1,j2

25 doi=1,i2

26 357 visc(i,j,k) = (t(i,j,k)/tfree)**vex/res

27 enddo

28 enddo

29 enddo

30 do 100 k=2 kI
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34
39

175
176

195
202

206
216
218

355
356

376
377
385

398
400
403

540
541

559
560
561

120

44
12

58

[EEN

180

do 100 j=2,jI
do 10 i=1,il

vco=(visc(i,j,k)*facl+visc(ip,j,k)*fac2)/pr
*  +(emu(i,j,k)*facl+emu(ip,j,k)*fac2)/prt

10 continue
100 continue

do 200 k=2 kI
do 20 j=1,jl
do i=2,il

vco=(visc(i,j,k)*facl+visc(i,jp,k)*fac2)/pr
*  +(emu(i,j,k)*facl+emu(i,jp,k)*fac2)/prt

enddo
20 continue
200 continue

do 30 k=1,kl
do j=2,jl
do i=2,il

vco=(visc(i,j,k)*facl+visc(i,j,kp)*fac2)/pr
*  +(emu(i,j,k)*facl+emu(i,j,kp)*fac2)/prt

enddo
enddo
30 continue

Original ZEWM 1X322 &S = 342 2 do-loopUH M BISdiA S
H HAE = visc arrayE serial &35 =W A= 3XE arrayz &

10t HI&GH AFZOHUCH,

B. do-loop =A BHHE2Z Cache miss rateE =&

<Original 2 &>

ol st

o

=
-

%

ol

o

200
201
202
203
204
205

211
212
213

352
353
354
355

109

191

211

do 200 k=2,kI
kp=k+1
km=k-1

do 200 i=2,il
ip=i+1
im=i-1

do 20 j=1,jl
jp=i+1
vol2=vol(i,j,k)+vol(i,jp,k)

fv(1,j)=dn*(d1*ui+d5*vi+d6*wi+b1*uj+b5*vj+b7*wj
* +f1*uk+f7*vk+f9*wk) -2./3.*r1*tk1*sjx*vol22

fv(2,j)=dn*(d7*ui+d2*vi+d8*wi+b5*uj+b2*vj+b6*wj
* +f5*uk+f2*vk+f10*wk) -2./3.*r1*tk1*sjy*vol22
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356 184
357

fv(3,j)=dn*(d9*ui+d10*vi+d3*wi+b7*uj+b6*vj+b3*wj
* +f6*uk+f8*vk+f3*wk) -2./3.*r1*tkl*sjz*vol22

358 1308 fv(4,j)=dn*(0.5*(d1*uui+d2*vvi+d3*wwi)+d5*ul*vi+d6*ul*wi+d7*v1*ui
359 *  +d8*v1*wi+d9*wl*ui+d10*wl*vi

360 * +0.5*(b1*uuj+b2*vvj+b3*wwj)+b5*uvj+b6*vwj+b7*uw;j
361 * +0.5*(f1*uuk+f2*vvk+f3*wwk)

362 * +f5*v1*uk+f6*wl*uk+f7*ul*vk+f8*wi*vk+f9*ul*wk+f10*v1*wk
363 *)

364 * +ck*vol22*(d4*tti+b4*ttj+f4*ttk)

365 * -2./3.*r1*tk1*(ul*sjx+v1*sjy+wl*sjz)*vol22

366 20 continue

367 4 do 21 j=2,jl

368 doir=1,4

369 1692 dw(ir+1,i,j,k)=dw(ir+1,i,j,k)-(fv(ir,j)-fv(ir,j-1))

370 enddo

371 21 continue

372 9 200 continue

376 do 300 i=2,il

377 ip=i+1

378 im=i-1

379 do 300 j=2,jl

380 jp=j+1

381 jm=j-1

387 8 do 30 k=1,kl

388 kp=k+1

389 3406 vol2=vol(i,j,k)+vol(i,j,kp)

529 253 fv(1,k)=dn*(el*ui+e5*vi+e6*wi+fl*uj+f5*vj+f6*wj

530 * +cl*uk+c5*vk+c7*wk) -2./3.*r1*tk1*skx*vol22

531 161 fv(2,k)=dn*(e7*ui+e2*vi+e8*wi+f7*uj+f2*vj+f8*wj

532 * +c5*uk+c2*vk+c6*wk) -2./3.*r1*tk1*sky*vol22

533 210 fv(3,k)=dn*(e9*ui+el0*vi+e3*wi+fo*uj+f10*vj+f3*wj
534 * +c7*uk+c6*vk+c3*wk) -2./3.*r1*tk1*skz*vol22

535 901 fv(4,k)=dn*(0.5*(e1l*uui+e2*vvi+e3*wwi)+e5*ul*vi+e6*ul*wi+e7*vi*ui
536 *  +e8*vi*wi+e9*wl*ui+elO*wl*vi

537 * +0.5*(f1*uuj+f2*vvj+f3*wwj)+f5*ul*vj+fe*ul*wj-+f7*v1i*uj+f8*vi*wj
538 * +fo*wl*uj+f10*wl*vj +0.5*(cl*uuk+c2*vvk+c3*wwk)
539 * +c5*uvk+c6*vwk+c7*uwk)

540 * +ck*vol22*(ed*tti+f4*ttj+ca*ttk)

541 * -2./3.*r1*tk1*(ul*skx+v1*sky+wl*skz)*vol22

542 186 30 continue

543 15 do 31 k=2,kl

544 doir=1,4

545 3777 dw(ir+1,i,j,k)=dw(ir+1,i,j,k)-(fv(ir,k)-fv(ir,k-1))

546 enddo

547 31 continue

548 4 300 continue

do 200 k=2,kl
kp=k+1
km=k-1
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216 3 do 20 j=1,jl

217 jp=j+1

218 do i=2,il

219 ip=i+1

220 im=i-1

221

222 8 vol2=vol(i,j,k)+vol(i,jp,k)

362 492 fvj(1,i,j)=dn*(d1*ui+d5*vi+d6*wi+b1*uj+b5*vj+b7*wj
363 * +f1*uk+f7*vk+f9*wk) -2./3.*r1*tk1*sjx*vol22

364 416 fvj(2,i,j)=dn*(d7*ui+d2*vi+d8*wi+b5*uj+b2*vj+b6*wj
365 * +f5*uk+f2*vk+f10*wk) -2./3.*r1*tk1*sjy*vol22

366 149 vj(3,i,j)=dn*(d9*ui+d10*vi+d3*wi+b7*uj+b6*Vvj+b3*wj
367 * +f6*uk+f8*vk+f3*wk) -2./3.*r1*tk1*sjz*vol22
368 908 fvj(4,i,j)=dn*(0.5*(d1*uui+d2*vvi+d3*wwi)+d5*ul*vi
369 *  +d6*ul*wi+d7*v1*ui+d8*v1*wi+d9*wl*ui+d10*wl*vi
370 * +0.5*(b1*uuj+b2*vvj+b3*wwj)+b5*uvj+b6*vwj+b7*uwj
371 * +0.5*(f1*uuk+f2*vvk-+f3*wwk)

372 * +f5*v1*uk+f6*wl*uk+f7*ul*vk+f8*wi*vk+fo*ul*wk+f10*v1*wk
373 *)

374 * +ck*vol22*(d4*tti+b4*ttj+f4*ttk)

375 * -2./3.*r1*tk1*(ul*sjx+v1*sjy+wl*sjz)*vol22

376 1 enddo

377 3 20 continue

378 do 21 j=2,jl

379 do i=2,il

380 doir=1,4

381 465 dw(ir+1,i,j,k)=dw(ir+1,i,j,k)-(fvj(ir,i,j)-fvj(iri,j-1))

382 enddo

383 enddo

384 21 continue

385 200 continue

398 do 30 k=1,kl

399 kp=k+1

400 5 do j=2,jl

401 jp=j+1

402 jm=j-1

403 do i=2,il

404 ip=i+1

405 im=i-1

406 59 vol2=vol(i,j,k)+vol(i,j,kp)

546 435 fvk(1,i,j,k)=dn*(el*ui+e5*vi+e6*wi+fl*uj+f5*vj+f6*wj
547 * +cl*uk+c5*vk+c7*wk) -2./3.*r1*tk1*skx*vol22

548 273 fvk(2,i,j,k)=dn*(e7*ui+e2*vi+e8*wi+f7*uj+f2*vj+f8*wj
549 * +c5*uk+c2*vk+c6*wk) -2./3.*r1*tk1*sky*vol22
550 176 fvk(3,i,j,k)=dn*(e9*ui+e10*vi+e3*wi+f9*uj+f10*vj+f3*wj
551 * +c7*uk+c6*vk+c3*wk) -2./3.*r1*tk1*skz*vol22
552 945 fvk(4,i,j,k)=dn*(0.5*(el*uui+e2*vvi+e3*wwi)+e5*ul*vi
553 *  +eb6*ul*wi+e7*vi*ui+e8*v1*wi+e9*wl*ui+el0*wl*vi
554 * +0.5*(f1*uuj+f2*vvj+f3*wwj)+f5*ul*vj+fe*ul*wj-+f7*v1i*uj+f8*v1i*wj
555 * +fo*wl*uj+f10*wl*vj +0.5*(cl*uuk+c2*vvk+c3*wwk)
556 * +c5*uvk+c6*vwk+c7*uwk)

557 * +ck*vol22*(ed*tti+f4*ttj+ca*ttk)

558 * -2./3.*r1*tk1*(ul*skx+v1*sky+wl*skz)*vol22
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559 enddo

560 3 enddo

561 30 continue
562 do 31 k=2,kl
563 do j=2,jl
564 do i=2,il
565 do ir=1,4
566 616 dw(ir+21,i,j,k)=dw(ir+1,i,j,k)-(fvk(ir,i,j,k)-fvk(ini,j,k-1))
567 enddo

568 enddo

569 enddo

570 31 continue
571 300 continue

@ Original 2ZE0AM HIHEAQ H2el accessE LlatIl fAHA inner loop2t
outer loop2 =H=AE HIRO HAEHO W22l accessE ot== +=&FotUL

@ Do-loop =ME BRI AdH ZZL arraysHl CHHA dimensionS XA 21 &6t
O AtE0HRLCEH

5. vsfluxz2 2El, vsfluxz3 F¢

1§ &8 X0l A9 Hi==g FEO0IJl H=20

=HoI¥CH, AHESZ do-loopl AJIJI &2
vsfluxz3 R EI2 Bt= HAHE = visc array 22 =&ML

A. do-loop =A HB2Z Cache miss rateE &

<Original Z&>

3 do 100 j=2,jl

4 do 100 k=2,kI

5 do ir=1,5

6 76 w(ir,i2,j,k)=w(ir,il,j,k)

7 enddo

8 1 ur(i2,j,k)=ur(il,j,k)

9 vr(i2,j,k)=vr(il,j,k)
10 1 wr(i2,j,k)=wr(il,j,k)
11 21 p(i2,j,k)=p(il.j,k)

12 1 (i2,j,k)=p(i2,j,k)/w(1,i2,j,k)
13 100 continue

15 do 300 i=1,i2

16 do 300 j=2,jl
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17 doir=1,5
18 21 w(iri,j,k2)=w(iri,j,kl)
19 3 w(iri,j,1)=w(iri,j,2)
20 enddo
21 1 ur(i,j,k2)=ur(i,j,kl)
22 vr(i,j,k2)=vr(i,j,kl)
23 2 wr(i,j,k2)=wr(i,j,kl)
24 8 t(i,j,k2)=t(i,j,kl)
25 1 p(i.j,k2)=p(i,j,kl)
26 8 ur(i,j,1)=ur(i,j,2)
27 2 vr(i,j,1)=vr(i,j,2)
28 4 wr(i,j,1)=wr(i,j,2)
29 5 t(i,j,1)=t(i,j,2)
30 6 p(i.j,1)=p(ij,2)
31 300 continue
34 do 200 i=1,i2
35 do 200 k=1,k2
36
37 do ir=1,5
38 18 w(ini,j2,k)=w(ir,i,jl,k)
39 26 w(ini,1,k)=w(ir,i,2,k)
40 enddo
41 7 ur(i,j2,k)=ur(i,jl,k)
42 11 vr(i,j2,k)=vr(i,jl,k)
43 4 wr(i,j2,k)=wr(i,jl,k)
44 14 t(i,j2,k)=t(i,jl,k)
45 10 p(i,j2,k)=p(,jl,k)
46 ur(i,1,k)=ur(i,2,k)
47 vr(i,1,k)=vr(i,2,k)
48 13 wr(i,1,k)=wr(i,2,k)
49 t(i,1,k)=t(i,2,k)
50 15 p(i,1,k)=p(i,2,k)
51 200 continue

<z H3G DE>

3 do 100 k=2,kl

4 do 100 j=2,jl

5 do ir=1,5

6 78 w(iri2,j,k)=w(iril,j,k)

7 enddo

8 ur(i2,j,k)=ur(il,j,k)

9 vr(i2,j,k)=vr(il,j,k)
10 wr(i2,j,K)=wr(il,j,k)
11 14 p(i2,j,k)=p(il,j,k)

12 15 1(i2,j,k)=p(i2,j,k)/w(1,i2,j,k)
13 100 continue
15 do 300 j=2,jl
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16 do 300 i=1,i2

17 do ir=1,5

18 2 w(ir,i,j,k2)=w(ir,i,j,kI)
19 5 w(iri,j,1)=w(ini,j,2)
20 enddo

21 2 ur(i,j,k2)=ur(i,j,kl)
22 1 vr(i,j,k2)=vr(i,j,kl)
23 3 wr(i,j,k2)=wr(i,j,kl)
24 t(i,j,k2)=t(i,j,kl)

25 p(i.j,k2)=p(i,j,kl)
26 ur(i,j,1)=ur(i,j,2)
27 5 vr(i,j,1)=vr(i,j,2)
28 wr(i,j,1)=wr(i,j,2)
29 2 t(i,j,1)=t(i,j,2)

30 4 p(i.j,1)=p(i.j,2)

31 300 continue

34 do 200 k=1,k2

35 do 200 i=1,i2

36 !

37 do ir=1,5

38 9 w(ir,i,j2,k)=w(ir,i,jl,k)
39 11 w(ir,i,1,k)=w(ir,i,2,k)
40 enddo

41 3 ur(i,j2,k)=ur(,jl,k)
42 1 vr(i,j2,k)=vr(i,jl,k)
43 2 wr(i,j2,k)=wr(i,jl,k)
44 t(i,j2,k)=t(i,jl,k)

45 p(@i,j2,k)=p(i,jl,k)
46 6 ur(i,1,k)=ur(i,2,k)
47 1 vr(i,1,K)=vr(i,2,k)
48 9 wr(i,1,k)=wr(i,2,k)
49 2 t(i,1,k)=t(i,2,k)

50 p(i,1,k)=p(i,2,k)

51 200 continue

@ Original 2E0A HIH=SE0l H22] access= Hlotdl oA inner loop%t

outer loop2l =HE=AE HIRAH HZEQl H22| accessE ot== =8GHALCE.

7. turbkom FE

A. do-loop =N HA2Z Cache miss rateE &, do-loop Merging

<Original 2 &>

18 do 600 i=2,il

19 1 do 600 j=2,jl

20 do 600 k=2,kl

21 5374 witk(i,j,k)=wtkn(i,j,k)

22 e +rungefactor*tw(1,i,j,k)/vol(i,j,k)
23 2062 wtom(i,j,k)=wtomn(i,j,k)
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24 * +rungefactor*tw(2,i,j,k)/vol(i,j,k)
25 11 600 continue
26 do 601 i=2,il
27 do 601 j=2,jl
28 do 601 k=2,kl
29 4056 tk(i,j, k)=wtk(i,j,k)/w(1,i,j,k)
30 2055 tom(i,j,k)=wtom(i,j,k)/w(1,i,j,k)
31 573 if(tom(i,j,k).It.tomfree) then
32 tom(i,j,k)=tomfree
33 332 wtom(i,j,k)=w(1,1,J,K)*tom(i,j,k)
34 endif
35 11 601 continue
36
37 do 611 i=2,il
38 1 do 611 j=2jl
39 do 611 k=2,kl
40 2533 emu(i,j,k)=tk(,j,k)/tom(i,j,k)
41 828 if(emu(i,j,k).gt.emumax) then
42 emu(i,j,k)=emumax
43 25 tk(i,j,k)=emu(i,j,k)*tom(i,j,k)
44 wik(i,j,k)=tk(i,j,k)*w(1,i,j,k)
45 endif
46 9 611 continue
47
48 tkm=0
49 tem=0
50 do 410 i=2,il
51 1 do 410 j=2,jl
52 do 410 k=2,kl
53 1422 if(tk(i,j,k).gt.tkm) then
54 tkm=tk(i,j,k)
55 ikm=i
56 jkm=j
57 kkm=k
58 endif
59 1172 if(tom(i,j,k).gt.tem) then
60 tem=tom(i,j,k)
61 iem=i
62 jem=j
63 kem=k
64 endif
65
66 3 410 continue
<FHg ZE>
18 tkm=0
19 tem=0
20 do 600 k=2,kl
21 16 do 600 j=2,jl
22 do 600 i=2,il
23 183 witk(i,j,k)=wtkn(i,j,k)
24 £ +rungefactor*tw(1,i,j,k)/vol(i,j,k)
25 315 wtom(i,j,k)=wtomn(i,j,k)
26 * +rungefactor*tw(2,i,j,k)/vol(i,j,k)
31 16 tk(i,j, k) =wtk(i,j,k)/w(1,i,j,k)
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32 154 tom(i,j,k)=wtom(i,j,k)/w(Z,i,j,k)

33 224 if(tom(i,j,k).It.tomfree) then

34 4 tom(i,j,k)=tomfree

35 wtom(i,j,k)=w(1,1,J,K)*tom(i,j,k)

36 endif

42 8 emu(i,j,k)=tk(i,j,k)/tom(i,j,k)

43 354 if(emu(i,j,k).gt.emumax) then

44 emu(i,j,k)=emumax

45 tk(i,j,k)=emu(i,j,k)*tom(i,j,k)

46 witk(i,j,k)=tk(i,j,k)*w(1,i,j,k)

47 endif

53 9 if(tk(i,j,k).gt.tkm) then

54 tkm=tk(i,j,k)

55 ikm=i

56 jkm=j

57 kkm=k

58 endif

59 34 if(tom(i,j,k).gt.tem) then

60 tem=tom(i,j,k)

61 iem=i

62 jem=j

63 kem=k

64 endif

65

66 600 continue
® Original 2ZE0AM HIEEAQ K22l accessE LlotIl <IGHA  inner loop2t

outer loop2l =H=AE HIFEOH AHAEZHO H22| accessE ot==E +=&otRULL

@ Original LEWHA 1=2,il, j=2,jl, k=2,kl It 20| ss AJI2 2 do-loopE ol

o

Lt2 Ioop A WolZet0ld0l EH== otEHA do-loop =20l 2l

8. turbkomzone2 ZEl

turbkomzone2 Z|EI2 turbkom FEII HCO &2 A2=Z do-loop =Ma+H2Z cache
AL
T

miss rateE =0 z&3F oIUCH A XM turbkomzone2 |EI2 turbkom FEIF H

T8 Ol E Al Hl=olH A do-loopl =JIJt =2 =FEIOICH

A. Bt JAtSElE visc arrayE SHHOE | &
<Original 2 &>

98 do 100 k=2,kl

99 kp=k+1
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100 km=k-1

101 do 100 j=2,jl

102 jp=j+1

103 jm=j-1

104

105 1 do i=1,2

106 29 visc(i) = (t(i,j,k)/tfree)**vex/res

107 enddo

127 288 vise=((visc(i)+emu(i,j,k)*sigma_tko)*facl

128 kel +(visc(ip)+emu(ip,j,k)*sigma_tko)*fac2)*vol2/2.
129 18 visk=((visc(i)+emu(i,j,k)*sigmastar_tko)*facl

130 * +(visc(ip)+emu(ip,j,k)*sigmastar_tko)*fac2)*vol2/2.
320 do 200 k=2,kl

321 kp=k+1

322 km=k-1

323 do 200 i=2,il

324 ip=i+1

325 im=i-1

326

327 doj=1,j2

328 320 visc(j) = (t(i,j,k)/tfree)**vex/res

329 enddo

352 413 vise=((visc(j)+emu(i,j,k)*sigma_tko)*facl

353 * +(visc(jp)+emu(i,jp,k)*sigma_tko)*fac2)*vol2/2.
354 304 visk=((visc(j)+emu(i,j,k)*sigmastar_tko)*facl

355 e +(visc(jp)+emu(i,jp,k)*sigmastar_tko)*fac2)*vol2/2.
537 do 300 i=2,il

538 ip=i+1

539 im=i-1

540 2 do 300 j=2,jl

541 jp=j+1

542 jm=j-1

543

544 1 do k = 1,k2

545 4107 visc(k) = (t(i,j,k)/tfree)**vex/res

546 enddo

569 4178 vise=((visc(k)+emu(i,j,k)*sigma_tko)*facl

570 * +(visc(kp)+emu(i,j,kp)*sigma_tko)*fac2)*vol2/2.
571 970 visk=((visc(k)+emu(i,j,k)*sigmastar_tko)*facl

572 2 +(visc(kp)+emu(i,j,kp)*sigmastar_tko)*fac2)*vol2/2.
<%l c>

102 do k=1k2

103 do j=1,j2

104 do i=1,i2

105 315 visc(i,j,k) = (t(i,j,k)/tfree)**vex/res

106 enddo

107 enddo

108 enddo

135 424 vise=((visc(i,j,K)+emu(i,j,k)*sigma_tko)*facl
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136
137
138

356
357
358
359

586
587
588
589

13

548

66

171

77

* +(visc(ip,j,k)+emu(ip,j,k)*sigma_tko)*fac2)*vol2/2.
visk=((visc(i,j,k)+emu(i,j,k)*sigmastar_tko)*facl

= +(visc(ip,j,k)+emu(ip,j,k)*sigmastar_tko)*fac2)*vol2/2.

vise=((visc(i,j,k)+emu(i,j,k)*sigma_tko)*facl
* +(visc(i,jp,k)+emu(i,jp,k)*sigma_tko)*fac2)*vol2/2.
visk=((visc(i,j,k)+emu(i,j,k)*sigmastar_tko)*facl

* +(visc(i,jp,k)+emu(i,jp,k)*sigmastar_tko)*fac2)*vol2/2.

vise=((visc(i,j,k)+emu(i,j,k)*sigma_tko)*facl
i +(visc(i,j,kp)+emu(i,j,kp)*sigma_tko)*fac2)*vol2/2.
visk=((visc(i,j,k)+emu(i,j,k)*sigmastar_tko)*facl

* +(visc(i,j,kp)+emu(i,j,kp)*sigmastar_tko)*fac2)*vol2/2.

@ Original LEHAM 1XH2ez &
H HAE = visc arrayE serial 2&ES 2ENA= 3XE arrayE

OF HIAFGH AHEGHRILC.

o
ol

B. do-loop &=A HHE2Z Cache miss rateE £

<Original Z&>

M ASH

(A wi iy

342l 2 do-looplilAl Et=oHA S

=
-

P

ol

o

320
321
322
323
324
325

405
406
407
408
409
410

434

533

537
538
539
540
541
542

548
549
550
551
552
553

930

2016

13

do 200 k=2,kl
kp=k+1
km=k-1

do 200 i=2,il
ip=i+1
im=i-1

do 25 j=1,j2

uu=ur(i,j,k)*etx(i,j,k)+vr(,j,k)*ety(i,j,k)
* +wr(i,j,k)*etz(i,j,k)
cc=sqgrt(gamma*p(i,j,K)/w(l,i,j,k))*sqrt(etx(i,j,K)**2+
* ety(i,j,k)**2+etz(i,j,k)**2)

25 continue

200 continue

do 300 i=2,il
ip=i+1
im=i-1
do 300 j=2,jl
ip=j+1
im=j-1

do 30 k=1,kl
kp=k+1

vol2=vol(i,j,k)+vol(i,j,kp)
facl=vol(i,j,kp)/vol2
fac2=vol(i,j,k)/vol2
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554 1862 six=fac1*xix(i,j,k)+fac2*xix(i,j,kp)

555 37 siy=fac1*xiy(i,j,k)+fac2*xiy(i,j,kp)

556 a7 siz=fac1*xiz(i,j,k)+fac2*xiz(i,j,kp)

557 5425 sjx=facl*etx(i,j,k)+fac2*etx(i,j,kp)

558 9 sjy=facl*ety(i,j,k)+fac2*ety(i,j,kp)

559 1886 sjz=facl*etz(i,j,k)+fac2*etz(i,j,kp)

560 75 skx=fac1*ztx(i,j,k)+fac2*ztx(i,j,kp)

561 56 sky=facl*zty(i,j,k)+fac2*zty(i,j,kp)

562 53 skz=facl*ztz(i,j,k)+fac2*ztz(i,j,kp)

620 30 continue

622 do 35 k=1,k2

623 6654 uu=ur(i,j,k)*ztx(i,j,k)+vr(,j,k)*zty(i,j,k)
624 * +wr(i,j,k)*ztz(i,j,K)

625 9390 cc=sqrt(gamma*p(i,j,k)/w(1,i,j,k))*sart(ztx(i,j,k)**2+
626 * zty(i,j,K)**2+ztz(i,j,k)**2)

643 tc(1,k)=vol(i,j,k)*w(1,i,j,k)*tk(i,j,k)*ctp
644 27 tc(2,k)=vol(i,j,k)*w(1,i,j,k)*tom(i,j,k)*ctp
645 42 tem(1,k)=vol(i,j,k)*w(1,i,j,k)*tk(i,j,k)*ctm
646 63 tem(2,k)=vol(i,j,k)*w(1,i,j,k)*tom(i,j,k)*ctm
649 180 35 continue

650 do 31 k=2,kl

651 I=k-1

652 21 if((k.eq.2) .or. (k.eq.kl)) then

653 do ir=1,2

654 58 tw(ir,i,j,K)=tw(ir,i,j,k)+(tc(ir,k)-tc(ir,k-1))
655 enddo

656 else

657 do ir=1,2

688 4424 tw(ini,j,K)=tw(iri,j,k)+(1.+0.5*p1)*(tc(ir,k)-tc(ir,1))
689 * -0.5*p2*(tc(ir,l)-tc(ir,l-1))

690 enddo

691 endif

692 5 31 continue

748 300 continue

<z H3t ZE>

328 do 200 k=2,kl

329 kp=k+1

330 km=k-1

410 do 25 j=1,j2

411 do i=2,il

412 !

413 471 uu=ur(i,j,k)*etx(i,j,k)+vr(,j,k)*ety(i,j,k)
414 * +wr(i,j,k)*etz(i,j,k)

415 154 cc=sqrt(gamma*p(i,j,k)/w(l,i,j,k)) *sqrt(etx(i,j,k)**2+
416 * ety(i,j,k)**2+etz(i,j,k)**2)

440 21 enddo
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441

546

559
560
561
562
563
564
565
566
567
568
569
570
571
572
573
574
575
576
577
578
579

636
637
638
639

641
642
643
644
645
646
647

664
665
666
667

670
671
672

673
674
675
676
677
678
679
680
681
682

713

14

544

86
408
814
656
900

11

10

528

465

169
155
73

13

164

25 continue
200 continue

do 30 k=1,kl
kp=k+1

do i=2,il
ip=i+1
im=i-1

do j=2,jl
jp=j+1
jm=j-1

vol2=vol(i,j,k)+vol(i,j,kp)
facl=vol(i,j,kp)/vol2
fac2=vol(i,j,k)/vol2
six=fac1*xix(i,j,k)+fac2*xix(i,j,kp)
siy=fac1*xiy(i,j,k)+fac2*xiy(i,j,kp)
siz=fac1*xiz(i,j,k)+fac2*xiz(i,j,kp)
six=fac1*etx(i,j,k)+fac2*etx(i,j.kp)
sjy=fac1*ety(i,j,k)+fac2*ety(i,j,kp)
sjz=fac1*etz(i,j,k)+fac2*etz(i,j,kp)
skx=fac1*ztx(i,j,k)+fac2*ztx(i,j,kp)
sky=fac1*zty(i,j,k)+fac2*zty(i,j,kp)
skz=fac1*ztz(i,j,k)+fac2*ztz(i,j,kp)

enddo
enddo

30 continue

do 35 k=1,k2
do j=2,jl
do i=2,il
uu=ur(i,j,K)*ztx(i,j,K)+vr(i,j,k) *zty(i,j,k)
* +wr(i,j,k)*ztz(i,j,k)
cc=sqrt(gamma*p(i,j,k)/w(l,i,j,k))*sqrt(ztx(i,j,k) **2+
* 2ty (i,j,K)**2+ztz(i,j, k) **2)

tek(1,i,j,K)=vol(i,j,k)*w(1,i,j,K)*tk(i,j,k)*ctp
tek(2,i,j,k)=vol(i,j,k)*w(1,i,j,k)*tom(i,j,k)*ctp
temk(3,i,j,k)=vol(i,j,k)*w(1,i,j,k)*tk(i,j,k)*ctm
temk(2,i,j,k)=vol(i,j,k)*w(1,i,j,k)*tom(i,j,K)*ctm

enddo
enddo
35 continue

do 31 k=2l
I=k-1
do j=2,jl
do i=2,il
if((k.eq.2) .or. (k.eq.kl)) then
doir=1,2
tw(ini,j,K)=tw(ir,i,j,k)+(tck(iri,j,k)-tck(iri,j,k-1))
enddo
else
doir=1,2

tw(iri,j,K)=tw(ir,i,j,k)
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714 * +(1.+0.5*p1)*(tck(iri,j,k)-tck(iri,j,1))
715 * -0.5*p2*(tck(ir,i,j,)-tck(iri,j,I-1))

716 enddo

717 endif

718 enddo

719 enddo

720 31 continue

@ Original ZENAM HIHEHQ HXZe2l accessE Lo MM inner loop2t
outer loop2l =#=KE HIR2UH ASHQ 22l accessE ot=F =HotRULL

@ Loop =ME HHBII| Al original 2=29 2XH& tc, tcm array &l Serial X
gt DEUME 4XH2 tck, tcmk arrayZ2 A AGH0 AFESHALCE

® Serial 2183 DEUM 5598 & 22X k—>i->) &=MZ2 AL = do-loopE
kK=>j—>1 =A2 =38 B2 O 450/ LIOE £ JUCH(AH MPI 2EUHME

kK=>j—>1 =AZ2 =&

10. turhszone2 2|E!, turhszone3 FE!

2 E MO Xold® HO dli=g ZE0lJ] =
turhs FEIS =35 8210 HI==olH £=ZotF2M, AUUESZ2 do-loopl AJIJt &2
PSS

Ct.

i

turhszone2 REI2 turhs FEF BI4=0|
X

I
!

turhszone3 FEI2 OFHOIA visc arrayft2 =3

11. boundturhs FEl

A. do-loop =A HB2Z Cache miss rategE =&
<COriginal 2 &>

4 do 100 j=2,jl
5 do 100 k=2,kI
6 12 witk(i2,j,k)=wtk(il,j,k)
7 26 wtom(i2,j,k)=wtom(il,j,k)
8 18 tk(i2,j,k)=tk(il,j,k)
9 16 tom(i2,j,k)=tom(il.j,Kk)
10 15 emu(i2,j,k)=emu(il j,k)
11 100 continue
12
13 do 300 i=1,i2
14 do 300 j=2,jl
15 1 wik(i,j,k2)=wtk(i,j,kl)
16 2 wtom(i,j,k2)=wtom(i,j,kl)
17 2 tk(i,j,k2)=tk(i,j,kI)
18 1 tom(i,j,k2)=tom(i,j,kI)
19 emu(i,j,k2)=emu(i,j,kl)
20 4 witk(i,j,1)=wtk(i,j,2)
21 3 wtom(i,j,1)=wtom(i,j,2)
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22 4 tk(i,j,1)=tk(i,j,2)
23 7 tom(i,j,1)=tom(i,j,2)
24 7 emu(i,j,1)=emu(i,j,2)
25 300 continue
26
27 do 200 i=1,i2
28 do 200 k=1,k2
29 14 tk(i,j2,k)=tkfree
30 2 tom(i,j2,k)=tomfree
31 21 emu(i,j2,k)=emufree
32 10 witk(i,j2,k)=tk(i,j2,k)*w(1,i,j2,k)
33 wtom(i,j2,k)=tom(i,j2,k)*w(1,i,j2,k)
34 witk(i,1,k)=wtk(i,2,k)
35 wtom(i,1,k)=wtom(i,2,k)
36 12 tk(i,1,k)=tk(i,2,k)
37 4 tom(i,1,k)=tom(i,2,k)
38 emu(i,1,k)=emu(i,2,k)
39 200 continue
<FHg DE>
4 do 100 k=2,kl
5 do 100 j=2,jl
6 wik(i2,j,k)=wtk(il,j,k)
7 wtom(i2,j,k)=wtom(il,j,k)
8 21 tk(i2,j,k)=tk(il,j,k)
9 26 tom(i2,j,k)=tom(il,j,k)
10 10 emu(i2,j,k)=emu(il j,k)
11 1 100 continue
12
13 do 300 j=2,jl
14 do 300 i=1,i2
15 2 wik(i,j,k2)=wtk(i,j,kl)
16 1 wtom(i,j,k2)=wtom(i,j,kl)
17 tk(i,j,k2)=tk(,j,kI)
18 tom(i,j,k2)=tom(i,j,kl)
19 emu(i,j,k2)=emu(i,j,kl)
20 2 witk(i,j,1)=wtk(i,j,2)
21 2 wtom(i,j,1)=wtom(i,j,2)
22 3 tk(i,j,1)=tk(i,j,2)
23 tom(i,j,1)=tom(i,j,2)
24 1 emu(i,j,1)=emu(i,j,2)
25 300 continue
26
27 do 200 k=1,k2
28 do 200 i=1,i2
29 1 tk(i,j2,k)=tkfree
30 tom(i,j2,k)=tomfree
31 emu(i,j2,k)=emufree
32 9 witk(i,j2,k)=tk(i,j2,k)*w(1,i,j2,k)
33 wtom(i,j2,k)=tom(i,j2,k)*w(1,i,j2,k)
34 6 wik(i,1,k)=wtk(i,2,k)
35 wtom(i,1,k)=wtom(i,2,k)
36 tk(i,1,k)=tk(i,2,k)
37 4 tom(i,1,k)=tom(i,2,k)
38 1 emu(i,1,k)=emu(i,2,k)
39 200 continue
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@ Original 2E0AM HIH=X0l H22] accessE Hloldl oA inner loop2t

outer loop2l =&d=KE HIROH ASHC! HZ22| accessE ot==F =&EotRULL
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7. Serial |23 Zin}
2 Original ZE2 Serial &3 ZEE Hl =246 22 M AAH ==

22 9ol AHAXZXHO W22l accessE Rot0H do-loopl =AHME HIGIH =2

AEHE 2l Z0IC
p690 1.7GHz 1CPU
Original 2 & 164.84 sec/iteration
Serial | &gt DE 58.12 sec/iteration
Speedup 2.84

Serial /M3 Z1} v

500 164.84

160

120

(o]
o

Timing per Iteration
(sec/iteration)

N
(@]

Original Z & Serial M3t 2=
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8. MPI &3 3=

MPI 2232 oM CS2 Z=E== +=dotULh.

1. param_mpi.inc

A. MPI 82 DCE QI8 J|=2H0l HAEZ Mo
<MPI &3 ZE>
parameter(maxmpi=256,maxmpil=maxmpi-1)
common/mpi_variables/nproc,id,nprocj,nprock,idj,idk,
& jse(2,0:maxmpil),kse(2,0:maxmpil),
& jsez2(2,0:maxmpil),ksez2(2,0:maxmpil),
& jsez3(2,0:maxmpil),ksez3(2,0:maxmpil)
data id0/0/
@ OI24JtXl MPI subroutineS2 98t JI2XQl BHaE-5 L AN HEs5s 222
FAS LittH= 52 Aol SALL
2. decomp_2d FE
A, HE2 HMENHE arraysS S8z 2&dl=e FE

<MPI €3 ZE=>

1 subroutine decomp_2d
2 include 'vcom_cav_rk.inc'
3 INCLUDE ‘param_mpi.inc'
4 integer tab(maxmpi)
5 c
6 n=nproc
7 nn=0
8 do i=1,n
9 if(mod(n,i) .eq. 0) then
10 nn=nn+1
11 tab(nn)=i
12 endif
13 enddo
14 c
15 i0=1
16 nl=sqrt(float(n))
17 if(n1**2.ne.n) n1=n1+1
18 do i=1,nn
19 if(nl.le.tab(i)) then
20 i0=i
21 goto 100
22 endif
23 enddo
24 100 continue
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25 do i=i0,nn

26 do j=i0,1,-1

27 ii=tab(i)*tab(j)

28 if(ii .eq. n) then

29 nprock=tab(i)

30 nprocj=tab(j)

31 goto 101

32 elseif(ii .It. n) then

33 goto 102

34 endif

35 enddo

36 102 continue

37 enddo

38 101 continue

39 idk=id/nproc;j

40 idj=mod(id,nprocj)

46 call mpicut(kse,1,k2,nprock)
47 call mpicut(jse,1,j2,nproc;j)
48 call mpicut(ksez2,1,k2z2,nprock)
49 call mpicut(jsez2,1,j2z2,nprocj)
50 call mpicut(ksez3,1,k2z3,nprock)
51 call mpicut(jsez3,1,j2z3,nprocj)
55 subroutine mpicut(ks,kstart,kend,nthds)
56 integer ks(2,*)

57 c

58 nn=kend-kstart+1

59 nblk=nn/nthds

60 ndelta=mod(nn,nthds)

61 if(ndelta.gt.0) then

62 k=1

63 ks(1,1)=1

64 ks(2,1)=ks(1,1)+nblk

65 do k=2,ndelta

66 ks(1,k)=ks(1,k-1)+nblk+1
67 ks(2,k)=ks(1,k)+nblk

68 enddo

69 k=ndelta+1

70 ks(1,k)=ks(1,k-1)+nblk+1
71 ks(2,k)=ks(1,k)+nblk-1
72 do k=ndelta+2,nthds

73 ks(1,k)=ks(1,k-1)+nblk
74 ks(2,k)=ks(1,k)+nblk-1
75 enddo

76 else

77 ks(1,1)=1

78 ks(2,1)=ks(1,1)+nblk-1
79 do k=2,nthds

80 ks(1,k)=ks(1,k-1)+nblk
81 ks(2,k)=ks(1,k)+nblk-1
82 enddo

83 endif

84 do k=1,nthds

85 ks(1,k)=ks(1,k)+kstart-1
86 ks(2,k)=ks(2,k)+kstart-1
87 enddo
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MPI task =0l het S2H2Z Us0H = JES St

@ = MPI task==Jt HoH XIH Z[CHi&

[EI2 "9 g LI HGHH 2 kse, jse, ksez?2, jsez2, ksez3, jsez3 array

Hi=gt M2 2 kEatocg JH9 ~8
HASHD Y FEO indexE ASHCE. 3 & mpicut REIS callotd =IOISt
load balancing0l TI=%= jse, jsez2, jsez3 arraylll CHollAl= j2H&E I M2
LSO =1, kse, ksez2, ksez3 arraylll OiohM= kEe 29 dis=2 US0H =
Ct.
® dHHO JHARE 2Ex= OS D80 20
K k2 nproc=nprocj*nprock
idk=nprock-1
idk=nprock-2
I
|
.
I
_______ [ [P ——
I
|
I
|
I
idk=1
idk=0 j2
| idji=0 idj=1 idj=nprocj-1 j
idj=nprocj-2

@ dolo HANA oHE ranke= CHSDH 2CH.
rank = idj + nprocj * idk
® S mpi task =5 122 ot decomp_2d FRES LSS

GilOI Ct.

OB WNE OO

> nproc = 12

: id= 0 >> nprocj= 3 nprock= 4 idj= 0 idk= 0
: id= 1 >> nprocj= 3 nprock= 4 idj= 1 idk= 0
: id= 2 >> nprocj= 3 nprock= 4 idj= 2 idk= 0
: id= 3 >> nprocj= 3 nprock= 4 idj= 0 idk= 1
: id= 4 >> nprocj= 3 nprock= 4 idj= 1 idk= 1
1 id= 5 >> nprocj= 3 nprock= 4 idj= 2 idk= 1
: id= 6 >> nprocj= 3 nprock= 4 idj= 0 idk= 2
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7: id= 7 >> nprocj= 3 nprock= 4 idj= 1 idk= 2

8: id= 8 >> nprocj= 3 nprock= 4 idj= 2 idk= 2

9: id= 9 >> nprocj= 3 nprock= 4 idj= 0 idk= 3
10: id= 10 >> nprocj= 3 nprock= 4 idj= 1 idk= 3
11: id= 11 >> nprocj= 3 nprock= 4 idj= 2 idk= 3

0: == =] == =] =]
0: kse(1,0)= 1 kse(2,0) = 31

0: kse(1,1) = 32 kse(2, 1) = 62

0: kse(1, 2) = 63 kse(2,2) = 92

0: kse(1, 3) = 93 kse(2, 3) = 122

0: ksez2(1,0)= 1 ksez2(2,0)= 16

0: ksez2(1,1) = 17 ksez2(2,1) = 32

0: ksez2(1, 2) = 33 ksez2(2,2)= 47

0: ksez2(1,3) = 48 ksez2(2,3) = 62

0: ksez3(1,0)= 1 ksez3(2,0)= 16

0: ksez3(1,1) = 17 ksez3(2,1) = 32

0: ksez3(1, 2) = 33 ksez3(2,2)= 47

0: ksez3(1,3) = 48 ksez3(2,3) = 62

0: == = === =] =]
0: jse(1,0)= 1 jse(2,0) = 28

0: jse(d, 1) = 29 jse(2,1) = 55

0: jse(1, 2) = 56 jse(2,2) = 82

0: jsez2(1,0)= 1 jsez2(2,0)= 21

0: jsez2(1,1)= 22 jsez2(2,1)= 42

0: jsez2(1,2) = 43 jsez2(2,2)= 62

0: jsez3(1,0)= 1 jsez3(2,0)= 21

0: jsez3(1,1)= 22 jsez3(2,1)= 42

0: jsez3(1, 2) = 43 jsez3(2,2)= 62

0: == =] === = =]

3. mpi_com_pm2 FH

A. k L4802 0|R6t= rank? ZBH 222 data W&

<MP| H&3 DE=>

179 nj=je-js+1

180 if(idk.ne.nprock-1) THEN

181 idest1=idj+nprocj*(idk+1)
182 11=1

183 do k=ke-1,ke

184 do j=js,je

185 do i=1,i2

186 do ir=1,5

187 20 BUFFSJ1(11)=w(ir,i,j,k)
188 27 11=11+1

189 enddo

190 enddo

191 enddo

192 enddo

193 else

194 idest1=MPI_PROC_NULL
195 endif

196 if(idk.ne.0) THEN

197 idest2=idj+nprocj*(idk-1)
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198
199
200
201
202
203
204
205
206
207
208
209
210
211
212
213
214
215
216
217
218
219
220
221
222
223
224
225
226
227
228
229
230
231
232
233
234
235
236
237
238
239
240
241
242
243
244
245
246
247
248
249
250
251
252
253
254
255

24
21

21
12

11=1
do k=ks,ks+1
do j=js,je
do i=1,i2
doir=1,5
BUFFSJ2(11)=w(ir,i,j,K)
11=11+1
enddo
enddo
enddo
enddo
else
idest2=MPI_PROC_NULL
endif

len=5%*i2*nj*2

itag=1

CALL MPI_ISEND(BUFFSJ1,len,MPI_REALS,idest1,itag,
& MPI_COMM_WORLD,isend1,ierr)

CALL MPI_ISEND(BUFFSJ2,len,MPI_REALS,idest2,itag,
& MPI_COMM_WORLD,isend2,ierr)

CALL MPI_IRECV(BUFFRJ1,len,MPI_REALS, idest2,itag,
& MPI_COMM_WORLD,irecv1,ierr)

CALL MPI_IRECV(BUFFRJ2,len,MPI_REALS, idest1,itag,
& MPI_COMM_WORLD,irecv2,ierr)

CALL MPI_WAIT(isendl,istatus,ierr)
CALL MPI_WAIT (isend2,istatus,ierr)
CALL MPI_WAIT(irecvl,istatus,ierr)
CALL MPI_WAIT (irecv2,istatus,ierr)

if(idk.ne.0) THEN
11=1
do k=ks-2,ks-1
do j=js,je
do i=1,i2
do ir=1,5
w(in,i,j,k)=BUFFRJ1(11)
11=11+1
enddo
enddo
enddo
enddo
endif
if(idk.ne.nprock-1) THEN
11=1
do k=ke+1,ke+2
do j=js,je
do i=1,i2
do ir=1,5
w(ir,i,j,k)=BUFFRJ2(11)
11=11+1
enddo
enddo
enddo
enddo
endif
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@

VN

array0ff  CHoll ©®HXH k gsez O
229 dataE BUFFSJ10 M&ESH = C
rank 2BUWFH O3 rankllAd= BUFFRJ1SZ 2H0F 0/0] 21 Y= A9

2t rankOllA €10 UsE w
=

rank(idj+nprocj*(idk+1))2t & ot

arraytll EI)IEo=z2 MASHC.
Lt kK ez

Ol& rank(idj+nprocjx(idk-1))2t &ol= &S89 datas

BUFFSJ20l M&ESH = 0N rank& BUW=H 0l& ranklllAM= BUFFRJ2Z &0t
0|0 &1 Ye

U[= A warraylll FIOHEL=2 HESHLH

SRS S4I01 22 M rank0ll Z2Hd UERI &0IM SEE= 2= 80| stgg

o o
CZ 0IFNAEZ St a8 =2 = UL 5 JME2Z © 289 SAL2

Rank Bum=
idjnprocpick+1) %
I‘.'.'.‘.‘.‘.'.'.‘.‘.‘.‘.'.‘.‘.‘.'.‘.‘.‘.‘.'.‘.‘.’
BUFFSJ2 is e
mmmmmrasmnceeannanas -2 BUFFSJ1
AT . o
ki ot
Rank Num= Flﬂrlc Ii.m_|=_ Rark Hunm— .
Idj~1+nprocjid idjinprocpridk Idj+1+nprocipdk
P
e
:_ _______________________
BUFFSJ2
sespsnonssamansnatananad BUFFSJ1
Rank Bum=

idj*nprociick-1)

d8 12K S22 OHI0IH &5 WE:
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B. j 2&o

<MPI €83 ZE

0|20t= rank® A 229 data W&t
>

257
258
259
260
261
262
263
264
265
266
267
268
269
270
271
272
273
274
275
276
277
278
279
280
281
282
283
284
285
286
287
288
289
290
291
292
293
294
295
296
297
298
299
300
301
302
303
304
305
306
307
308

59
26

61
23

ksl=max(1,ks-2)
kel=min(k2,ke+2)
nk=kel-ks1+1
if(idj.ne.nprocj-1) THEN
idest1=idj+1+nprocj*idk
11=1
do k=ks1,kel
do j=je-1,je
do i=1,i2
do ir=1,5
BUFFSK1(11)=w(ir,i,j,k)
11=11+1
enddo
enddo
enddo
enddo
else
idest1=MPI_PROC_NULL
endif
if(idj.ne.0) THEN
idest2=idj-1+nprocj*idk
11=1
do k=ks1,kel
do j=js,js+1
do i=1,i2
doir=1,5
BUFFSK2(11)=w(iri,j,k)
11=11+1
enddo
enddo
enddo
enddo
else
idest2=MPI_PROC_NULL
endif
len=5%*i2*2*nk
itag=1
CALL MPI_ISEND(BUFFSK1,len,MP1_REALS,idest1,itag,
& MPI_COMM_WORLD,isend1,ierr)
CALL MPI_ISEND(BUFFSK2,len,MPI_REALS,idest2,itag,
& MPI_COMM_WORLD,isend2,ierr)

CALL MPI_IRECV(BUFFRK1,len,MPI_REALS,idest2,itag,
& MPI_COMM_WORLD,irecv1,ierr)

CALL MPI_IRECV(BUFFRK2,len,MPI_REALS8,idest1,itag,
& MPI_COMM_WORLD,irecv2,ierr)

CALL MPI_WAIT(isendl,istatus,ierr)
CALL MPI_WAIT (isend2,istatus,ierr)
CALL MPI_WAIT(irecvl,istatus,ierr)
CALL MPI_WAIT (irecv2,istatus,ierr)
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309
310
311
312
313
314
315
316
317
318
319
320
321
322
323
324
325
326
327
328
329
330
331
332
333
334
335

if(idj.ne.0) THEN
11=1
do k=ks1,kel
do j=js-2,js-1
do i=1,i2
do ir=1,5
23 w(ir,i,j,K)=BUFFRK1(I1)
49 11=11+1
enddo
6 enddo
enddo
enddo
endif
if(idj.ne.nprocj-1) THEN
11=1
do k=ks1,kel
do j=je+1,je+2
do i=1,i2
do ir=1,5
36 w(ir,i,j,k)=BUFFRK2(11)
25 11=11+1
enddo
11 enddo
enddo
enddo

endif

o

AUN EYE k LBEHOZO| data W& OI&EIIXNZ JHECE data WES
Ch. Ol k S22 data W= 2 & 0I=ot= rank22 BAAHRE datak
20| d&ot)| o ke 2012 ks1RH kel A =3 =Ch
2t rank0lA 230 U= warrayOll Tl j 2&22 G rank(idj+1+nprocj*idk) 2t
Hote £22 datag BUFFSKI0 MESH = US rankZ EWHFH OS rankOl
M= BUFFRK1I2Z 200t 0101 €10 U= FH w arraylil FIHEZ K& &Y.
Cshj ¢atoz 0lA™ rank(idj-1+nprocj*idk) 2t &ot= 222 dataE BUFFSK2
= 0l™ rankZ2 2UWH=H 0l& rankOllA= BUFFRK2Z 20+ 00| &
D A= F2 warraydl FIHECZ MEEHLHL
SA0l 22 & rank0ll 2H UERD d0lM SEEH=E B=
2

&0
OXISE S& S8 =2 4 UL 5 FUH2E o 28

HU
i

£©

0

==
S

o
g
[0 oo

10
=
o

[
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Rank Num=

k idj+nprocjs(idk+1)

BUFFSK1

§

i

&
i
il
o : i
Rank Num= } i E Rank Num= Rank Num=
[ 40 Lo
o oy b - idj+nproci=idk Idj+ 1 +nprocj=idk
Idj- 1 +nprocj=idk i i
i &
i il
. i )
s il
B i
BUFFSK2
Rank Num=

idj+nprocj={idk-1)

8 1.3 JEELZ2 H0IH &5 WE:

4. mpi_com_pm2 FEl

<MPI &3 ZE>

353 nj=je-js+1
354 if(idk.ne.nprock-1) THEN
355 idestl=idj+nprocj*(idk+1)
356 11=1
357 do k=ke-1,ke
358 do j=js,je
359 do i=1,i2
360 do ir=1,2
361 1 BUFFSJ1(11)=w(ir,i,j,k)
362 6 11=11+1
363 enddo
364 5 enddo
365 enddo
366 enddo
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367
368
369
370
371
372
373
374
375
376
377
378
379
380
381
382
383
384
385
386
387
388
389
390
391
392
393
394
395
396
397
398
399
400
401
402
403
404
405
406
407
408
409
410
411
412
413
414
415
416
417
418
419
420
421
422
423
424
425
426

11

14

else
idest1=MPI_PROC_NULL
endif
if(idk.ne.0) THEN
idest2=idj+nprocj*(idk-1)
11=1
do k=ks,ks+1
do j=js,je
do i=1,i2
do ir=1,2
BUFFSJ2(11)=w(ir,i,j,k)
11=11+1
enddo
enddo
enddo
enddo
else
idest2=MPI_PROC_NULL
endif

len=2%*i2*nj*2

itag=1

CALL MPI_ISEND(BUFFSJ1,len,MPI_REALS,idest1,itag,
& MPI_COMM_WORLD,isend1,ierr)

CALL MPI_ISEND(BUFFSJ2,len,MPI_REALS,idest2,itag,
& MPI_COMM_WORLD,isend2,ierr)

CALL MPI_IRECV(BUFFRJ1,len,MPI_REALS,idest2,itag,
& MPI_COMM_WORLD,irecv1,ierr)

CALL MPI_IRECV(BUFFRJ2,len,MPI_REALS,idest1,itag,
& MPI_COMM_WORLD,irecv2,ierr)

CALL MPI_WAIT (isend1,istatus,ierr)
CALL MPI_WAIT(isend2,istatus,ierr)
CALL MPI_WAIT (irecvl,istatus,ierr)
CALL MPI_WAIT (irecv2,istatus,ierr)
if(idk.ne.0) THEN
11=1
do k=ks-2,ks-1
do j=js,je
do i=1,i2
do ir=1,2
w(in,i,j,k)=BUFFRJ1(11)
11=11+1
enddo
enddo
enddo
enddo
endif
if(idk.ne.nprock-1) THEN
11=1
do k=ke+1,ke+2
do j=js,je
do i=1,i2
do ir=1,2
w(ini,j,k)=BUFFRJ2(11)
11=11+1
enddo
enddo
enddo
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427
428

enddo
endif

O mpi_com_pm2 =FED 29 SLGtH X X0 U= 2
mpi_com_pm2 FEINAM= data w&0l OIFHX = array2l XM index 3
Jb 50171 20 w arrayS BUFFO M&EE O do ir=1,52 do loopE =
dl, mpi_com_pm2_2 [EIN A= data W20l O|RUHX= array2 HEM index
2210t 2010] W20l do=1,2% do loopE & &tCh= AO0ICH.

Al
fo
fo

S

s
rr

5. mpi_com_output FE

A. O array0Oll CHoll 2t rankOllA &0 U= R = Orank=2 MY

<MPI &

g3t ZE>

531
532
533
534
535
536
537
538
539
540
541
542
543
544
545
546
547
548
549

552
553
554
555
556
557
558
559
560
561
562
563
564
565
566
567
568

if(id.eq.0) then

DO kk=0,nprock-1
ks=kse(1,kk)
ke=kse(2,kk)
nk=ke-ks+1

DO jj=0,nprocj-1
ip=jj+nprocj*kk
js=ise(1.jj)
je=jse(2,j)
nj=je-js+1
len=13*i2*nj*nk
ilrecv(ip)=len

enddo

enddo
iadrecv(0)=0

do ip=1,nproc-1
iadrecv(ip)=iadrecv(ip-1)+ilrecv(ip-1)

enddo

endif

ks=kse(1,idk)
ke=kse(2,idk)
nk=ke-ks+1
js=jse(1,idj)
je=jse(2,idj)
nj=je-js+1
ilsend=13*i2*nj*nk
11=1
do k=ks,ke
do j=js,je
do i=1,i2
do ir=1,5
66 BUFFS(11)=w(ir,i,j,k)
11=11+1
enddo
7 BUFFS(I11)=ur(i,j,k)
11=11+1
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569
570
571
572
573
574
575
576
577
578
579
580
581
582
583
584
585
586
587
588
589
590
591
592
593
594
595
596
597
598
599
600
601
602
603
604
605
606
607
608
609
610
611
612
613
614
615
616
617
618
619
620
621
622
623
624
625
626
627

4 BUFFS(11)=vr(i,j,k)

11=11+1
9 BUFFS(11)=wr(i,j,k)
11=11+1
10 BUFFS(11)=p(i,j,k)
11=11+1
13 BUFFS(11)=wtk(i,j,k)
1 11=11+1
12 BUFFS(11)=wtom(i,j,k)
11=11+1
8 BUFFS(11)=tk(i,j,k)
11=11+1
8 BUFFS(11)=tom(i,j,k)
1 11=11+1
enddo
enddo
enddo
CALL MPI_GATHERV(BUFFS,ilsend, mpi_real8,
& BUFFR,ilrecv,iadrecv,mpi_real8,
& 0,MPI_COMM_WORLD,ierr)
if(id.eq.0) then
11=1

DO kk=0,nprock-1
ks=kse(1,kk)
ke=kse(2,kk)

DO jj=0,nprocj-1
js=jse(1.jj)
je=jse(2,j)

do k=ks,ke
do j=js,je
do i=1,i2
do ir=1,5
17 w(ir,i,j,K)=BUFFR(11)
3 11=11+1
enddo
2 ur(i,j,k)=BUFFR(11)
11=11+1
3 vr(i,j,k)=BUFFR(11)
11=11+1
wr(i,j,k)=BUFFR(I1)
11=11+1
p(i,j,k)=BUFFR(I1)
11=11+1
3 witk(i,j,k)=BUFFR(I1)
11=11+1
2 wtom(i,j,k)=BUFFR(I1)
11=11+1
tk(i,j,k)=BUFFR(11)
11=11+1
tom(i,j,k)=BUFFR(11)
2 11=11+1
enddo
enddo
enddo

enddo
enddo
endif
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@ HAHM 0 rankOlA 2 rank22H A EES data 3IJIE UEHMHE ilrecy array &

datag M&EE fXIE LEtWH= iadrecy array=S

H &kt

@ & rankOilAd 0 rankZ 2Y data IJIE UEHHE ilsendS HAtotD Lo S

gt data array==2 25 BUFFS array0l &8t = MPI_GATHERY ZE

04 0 rank® BUFFR arraytil 25 X &stL}.

sendcount

® O0rankWlAN= BUFFR array22H &Ml dataE ==ol0 SHCY.
comm
rank=0=root ranks=1 rank=2

1 3

sendbuf 3

3

------------------------------ sendbuf

1 0 = displs(0)

recvcournts(0)
r

recvcournts(1)

recvcounts(2)

recvbuf

1 =| displs(1)
3 =| displs(2)
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< Initializing Process >

1. datain €

A. input data reading &

<Serial &g DE>

5 OPEN(15,FILE="double_cav.d")
17 read(iread,*) istart,ifinal
20 READ (IREAD,*) RM, res, iturb
23 read(iread,*) delt
40 if(number_zone.eq.1) then
41 read(iread,500)

42 read(iread,*) inputfom
43 write(*,*) inputfom

44 read(iread,500)

45 read(iread,*) xgx1,xgx2
46 read(iread,500)

a7 read(iread,*) igx1,igx2
48 read(iread,500)

49 read(iread,*) pgx1

50 read(iread,500)

51 read(iread,*) qgx1

52 read(iread,500)

53 read(iread,*) ygy1,ygy2
54 read(iread,500)

55 read(iread,*) jgyl,jgy2
56 read(iread,500)

57 read(iread,*) pgyl

58 read(iread,500)

59 read(iread,*) gqgyl

60 read(iread,500)

61 read(iread,*) zgz1,z9z2
62 read(iread,500)

63 read(iread,*) kgz1,kgz2
64 read(iread,500)

65 read(iread,*) pgzl

66 read(iread,500)

67 read(iread,*) qgz1

71 read(iread,500)

72 read(iread,*) iouttest,jouttest,kouttest

<MPI &3t ZE=>

0

real buff(39)
integer ibuff(2,39)
equivalence(ibuff,buff)
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11 if(id.eq.id0) then
12 OPEN(15,FILE='double_cav.d")
13 endif
16 if(id.eq.id0) then
26 read(iread,*) istart,ifinal
29 READ (IREAD,*) RM, res, iturb
32 read(iread,*) delt
33 endif
34 if(nproc.gt.1) then
35 if(id.eq.id0) then
36 buff(1)=RM
37 buff(2)=res
38 buff(3)=delt
39 ibuff(1,4)=istart
40 ibuff(2,4)=ifinal
41 ibuff(1,5)=iturb
42 endif
43 isrce=0
44 len=5
45 CALL MPI_BCAST(BUFF,len,MPI_REALS8,isrce,MPI_COMM_WORLD,ierr)
46 if(id.ne.id0) then
47 RM=buff(1)
48 res=buff(2)
49 delt=buff(3)
50 istart=ibuff(1,4)
51 ifinal=ibuff(2,4)
52 iturb=ibuff(1,5)
53 endif
54
55 endif
90 if(number_zone.eq.1) then
91 if(id.eq.id0) then
92 read(iread,500)
93 read(iread,*) inputfom
94 write(*,*) inputfom
95 read(iread,500)
96 read(iread,*) xgx1,xgx2
97 read(iread,500)
98 read(iread,*) igx1,igx2
99 read(iread,500)
100 read(iread,*) pgx1
101 read(iread,500)
102 read(iread,*) ggx1
103 read(iread,500)
104 read(iread,*) ygyl,ygy2
105 read(iread,500)
106 read(iread,*) jogyl,jgy2
107 read(iread,500)
108 read(iread,*) pgyl
109 read(iread,500)
110 read(iread,*) qgyl
111 read(iread,500)
112 read(iread,*) zgz1,zg9z2
113 read(iread,500)
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114
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160
161
162
163
164
165
166
167
168
169
170
171
172
173

read(iread,*) kgz1,kgz2
read(iread,500)
read(iread,*) pgzl
read(iread,500)
read(iread,*) qgz1l
read(iread,500)
read(iread,*) iouttest,jouttest,kouttest
endif
if(nproc.gt.1) then
if(id.eq.id0) then
buff(1)=xgx1
buff(2)=xgx2
buff(3)=pgx1
buff(4)=qgx1
buff(5)=ygyl
buff(6)=ygy2
buff(7)=pgy1l
buff(8)=qgy1
buff(9)=zgz1
buff(10)=zgz2
buff(11)=pgzl
buff(12)=qgz1
ibuff(1,13)=igx1
ibuff(2,13)=igx2
ibuff(1,14)=jgyl
ibuff(2,14)=jgy2
ibuff(1,15)=kgz1
ibuff(2,15)=kgz2
ibuff(1,16)=iouttest
ibuff(2,16)=kouttest
ibuff(2,17)=inputfom
endif
isrce=0
len=17
CALL MPI_BCAST(BUFF,len,MPI_REALS8,isrce,MPI_COMM_WORLD,ierr)
if(id.ne.id0) then
xgx1=buff(1)
xgx2=buff(2)
pgx1=buff(3)
qgx1=buff(4)
ygy1=buff(5)
ygy2=buff(6)
pgy1=buff(7)
qgy1=buff(8)
zgz1=Dbuff(9)
zgz2=buff(10)
pgz1l=Dbuff(11)
qgz1=buff(12)
igx1=ibuff(1,13)
igx2=ibuff(2,13)
jagyl=ibuff(1,14)
joy2=ibuff(2,14)
kgzl=ibuff(1,15)
kgz2=ibuff(2,15)
iouttest=ibuff(1,16)
kouttest=ibuff(2,16)
inputfom=ibuff(1,17)
endif

endif
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@ Serial ZE% €2l MPI ZE0M= 02 rankOlA input datagE =2 = 7 data
E X Z=MNAZ broadcatingdt M &L,

@ Ol input datadt real Bl=% UL, integer HaE UI| HE 0l equivalenceE
ArE35H0 StLtZ SREA ot 8tEel MPI_BCAST &= callz Y B 2%

£ broadcating® &= U= otACH.

2. initco FE

A. restart Al J&E datag readingdte UtS

<Serial = &3 DE>

88 WRITE(*,*) 'ITERATION CONTINUE...!
89 OPEN( 8,FILE="flow_flat_plate.fom")
90 1=1
91 k=1
92 DO 279 J=1,J2
93 READ(8,666) W(1,1,J,K),wW(2,1,J,K),W(3,1,J,K),W(4,1,J,K),
94 * W(5,1,3,K) ,wtk(i,j,k),wtom(i,j,k)
95 do ii=2,i2
96 do kk=2,k2
97 W(Z,1i,J,Kk)=W(1,1,J,K)
98 W(2,l1i,J,Kk)=W(2,1,J,K)
99 W(3,1i,J,Kk)=W(3,1,J,K)
100 W(4,1i,J,Kk)=W(4,1,J,K)
101 W(5,1i,J,Kk)=W(5,1,J,K)
102 wik(ii,j,kk)=wtk(1,j,k)
103 wtom(ii,j,kk)=wtom(1,j,k)
104 enddo
105 enddo
106 279 CONTINUE
107 close(8)

93 if(id.eq.id0) then
94 WRITE(*,*) 'ITERATION CONTINUE...'
95 OPEN( 8,FILE="flow_flat_plate.fom")
96 1=1
97 k=1
98 DO 279 J=1,12
99 READ(8,666) W(1,1,J,K),W(2,1,J,K),W(3,1,J,K),W(4,1,J,K),
100 * W(5,1,3,K) ,wtk(i,j,k),wtom(i,j,k)
101 do ii=2,i2
102 do kk=2,k2
103 W(1,1i,J,Kk)=W(1,1,J,K)
104 W(2,1i,J,Kk)=W(2,1,J,K)
105 W(3,1i,J,Kk)=W(3,1,J,K)
106 W(4,1i,J,Kk)=W(4,1,J,K)
107 W(5,1i,J,KK)=W(5,1,J,K)
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108 wik(ii,j,kk)=wtk(1,j,k)

109 wtom(ii,j,kk)=wtom(1,j,k)

110 enddo

111 enddo

112 279 CONTINUE

113 close(8)

114 endif

115 if(nproc.gt.1) then

116 isrce=id0

117 len=5*imx*jmx*kmx

118 CALL MPI_BCAST(W,len,MP1_REALS,isrce,MPI_COMM_WORLD,ierr)
119 len=imx*jmx*kmx

120 CALL MPI_BCAST(wtk,len,MPI_REAL8,isrce,MPI_COMM_WORLD,ierr)
121 CALL MPI_BCAST(wtom,len,MPI_REALS8,isrce,MPI_COMM_WORLD,ierr)
122 endif

(1 Serial ZEQ €2 MPI ZEWME 0H rankOlA restartote=dl 228t datasS
el2 £ 1 datag &M ZZMIAZ2 broadcatingot & & sHC}.
@ =EHOZ ur, vr, wr, p, t, tk, tom, emu, w, wtk, wtom array S0| H A X, O

arraysS2 2 E rankIdt S8 MM FE9 g2 JHXIAH EC.

3. initcozone2 FEl

A. restart Al Y& & dataZ readingot=s A

<Serial &3 DE>

196 WRITE(*,*) 'ITERATION CONTINUE...'

197 OPEN( 8,FILE="flowz2.fom")

198 DO 299 K=1,K2z2

199 DO 299 J=1,J2z2

200 DO 298 1=1,i2z2

201 READ(8,666) Wz2(1,1,J,K),Wz2(2,1,J,K),Wz2(3,1,J,K),Wz2(4,1,J,K),
202 * Wz2(5,1,J,K) ,wtkz2(i,j,k),wtomz2(i,j,k)
203 298 continue

204 299 CONTINUE

205 close(8)

206 666 format(1x,7e13.5)

226 if(id.eq.id0) then

227 WRITE(*,*) 'ITERATION CONTINUE...'

228 OPEN( 8,FILE="flowz2.fom")

229 DO 299 K=1,K2z2

230 DO 299 J=1,J2z2

231 DO 298 1=1,i2z2

232 READ(8,666) Wz2(1,1,J,K),Wz2(2,1,J,K),Wz2(3,1,J,K),Wz2(4,1,J,K),
233 ko Wz2(5,1,J,K) ,wtkz2(i,j,k),wtomz2(i,j,k)

234 298 continue
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235
236
237
238
239
240
241
242
243
244
245

299 CONTINUE
close(8)
endif
isrce=id0
len=5*Iimxz2*jmxz2*kmxz2
CALL MPI_BCAST(Wz2,len,MPI_REALS,isrce,MPI_COMM_WORLD,ierr)
len=imxz2*jmxz2*kmxz2
CALL MPI_BCAST (wtkz2,len,MPI_REALS8,isrce,MPI_COMM_WORLD,ierr)
CALL MPI_BCAST(wtomz2,len,MPI_REAL8,isrce,MPI_COMM_WORLD,ierr)

666 format(1x,7e13.5)

initco fEID 20l MPI ZEWHAM= 0¥ rankOlAM restartot=0l Z2 R datagE
9l2 & 1] dataE &M ZZNAZ broadcatingdt0 & SHCE.

FNBHELZ urz2, vrz2, wrz2, pz2, tz2, tkz2, tomz2, emuz2, wz2, wtkz2, wtomz2
array S0 HAEIMH, 0l arrayS2 2 rankIt S8t MMl SR g2 XA

= CH

4. initcozone3 €l

initcozone2 |EII HL 0|8 HFETO X0l & & H £ 22 2
dAalo=z2 £H5IH mpi B3 ol OsS & 3
N

2=S0|Ct. Ol arrayS2 Initcozone22t OF&HIFA

IJERIA = L

@  Urz3, vrz3, wrz3, pz3, tz3, tkz3, tomz3, emuz3, wz3, wtkz3, wtomz3

5. metric £El

A. VOL array A& S

<Serial &3 DE>

20
21
22
23
24
25
26
27
28
29
30
31
32

DO 10 K=2,KL
N =K -1
DO 10 J=2,JL
M —] il
DO 10 1=2,IL
L =1 -1
1 XP = .125%(X(1,1,3,K) +X(1,1,M,K) +X(1,1,M,N) +X(1,1,J,N)

. +X(1,L,d,K) +X(1,L,M,K) +X(1,L,M,N) +X(1,L,J,N))
4 YP

= 125%(X(2,1,3,K) +X(2,1,M,K) +X(2,1,M,N) +X(2,1,3,N)
. +X(2,L,3,K) +X(2,L,M,K) +X(2,L,M,N) +X(2,L,3,N))
1 zP = .125%(X(3,1,3,K) +X(3,1,M,K) +X(3,1,M,N) +X(3,1,J,N)
. +X(3,L,3,K) +X(3,L,M,K) +X(3,L,M,N) +X(3,L,3,N))
XA = X(1,1,3,K)
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33
34
35
36
37
38
39
40
41
42
43
44
45
46

178
179
180
181
182

187

189
190
191
192
193
194
195
196
197
198
199
200
201
202
203

YA = X(2,1,J,K)

ZA = X(3,1,3,K)
XB = X(1,1,M,K)
YB = X(2,1,M,K)
ZB = X(3,1,M,K)
XC = X(1,1,M,N)
YC = X(2,1,M,N)
ZC = X(3,1,M,N)
XD = X(1,1,3,N)
YD = X(2,1,3,N)
ZD = X(3,1,3,N)

XAX=XA+XB+XC+XD
YAY=YA+YB+YC+YD
ZAZ=7ZA+7B+ZC+ZD

VOLP11 = VOLP1(XP,XAX,YAC,ZBD,ZAC,YBD)
VOLP22 = VOLP2(YP,YAY,ZAC,XBD,XAC,ZBD)
VOLP33 = VOLP3(ZP,ZAZ,XAC,YBD,YAC,XBD)
VP6 = VOLPYM(VOLP11,VOLP22,VOLP33)
VOL(I,J,K) = (VP1 +VP2 +VP3 +VP4 +VP5 +VPG)/6.
10 CONTINUE
DO 12 K=2,KL
DO 12 J=2,JL
VOL(1,J,K) = VOL(2,J,K)
VOL(i2,J,K) = VOL(IL,J,K)
12 CONTINUE
do 19 j = 2,jl
do19i=1,2

vol(i,j,1) = vol(i,j,2)
vol(i,j,k2) = vol(i,j,kl)
19 continue
DO 14 K=1,K2
DO 14 1=1,12
VOL(l,1,K) = VOL(I,2,K)
VOL(l,j2,K) = VOL(I,JL,K)
14 CONTINUE

<MP| H&3 DE=>

27 do 10 k=max(kse(1,idk)-2,2),min(kse(2,idk)+2,kl)

28 N =K -1

30 do 10 j=max(jse(1,idj)-2,2),min(jse(2,idj)+2,jl)

31 M =J -1

32 DO 10 I1=2,IL

33 L =1 -1

34 XP = .125*(X(1,1,J,K) +X(1,1,M,K) +X(1,I,M,N) +X(1,1,J,N)
35 . +X(1,L,d,K) +X(1,L,M,K) +X(1,L,M,N) +X(1,L,J,N))
36 YP = .125*(X(2,1,J,K) +X(2,1,M,K) +X(2,I,M,N) +X(2,1,J,N)
37 . +X(2,L,J,K) +X(2,L,M,K) +X(2,L,M,N) +X(2,L,J,N))
38 ZP = .125*(X(3,1,J,K) +X(3,1,M,K) +X(3,I,M,N) +X(3,1,J,N)
39 . +X(3,L,J,K) +X(3,L,M,K) +X(3,L,M,N) +X(3,L,J,N))
40 XA = X(1,1,J,K)

41 YA = X(2,1,J,K)

42 ZA = X(3,1,J,K)

43 XB = X(1,1,M,K)
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44
45
46
47
48
49
50
51
52
53
54

186
187
188
189
190

197

200
202
203
204
205
206
207
209
210
211
212
213
214
216
217
218
219
220
221
222
223
225
226
227
228
229
230
232
233
234
235
236
237

YB = X(2,1,M,K)

ZB = X(3,1,M,K)
XC = X(1,1,M,N)
YC = X(2,1,M,N)
ZC = X(3,1,M,N)
XD = X(1,1,3,N)
YD = X(2,1,3,N)
ZD = X(3,1,3.N)

XAX=XA+XB+XC+XD
YAY=YA+YB+YC+YD
ZAZ=7ZA+7B+ZC+ZD

VOLP11 = VOLP1(XP,XAX,YAC,ZBD,ZAC,YBD)
VOLP22 = VOLP2(YP,YAY,ZAC,XBD,XAC,ZBD)
2 VOLP33 = VOLP3(ZP,ZAZ,XAC,YBD,YAC,XBD)
VP6 = VOLPYM(VOLP11,VOLP22,VOLP33)
10 VOL(I,JK) = (VP1 +VP2 +VP3 +VP4 +VP5 +VP6)/6.
1 10 CONTINUE

do 12 k=max(kse(1,idk)-2,2),min(kse(2,idk)+2,kl)
do 12 j=max(jse(1,idj)-2,2),min(jse(2,idj)+2,jl)

VOL(1,J,K) = VOL(2,J,K)
VOL(i2,J,K) = VOL(IL,J,K)
12 CONTINUE

if(idk.eq.0) then
do 19 j=max(jse(1,idj)-2,2),min(jse(2,idj)+2,jl)

do19i=1,i2

vol(i,j,1) = vol(i,j,2)
19 continue

endif

if(idk.eq.nprock-1) then

do j=max(jse(1,idj)-2,2),min(jse(2,idj)+2,jl)
doi=1,i2

vol(i,j,k2) = vol(i,j,kl)

enddo

enddo

endif

if(idj.eq.0) then
do 14 k=max(kse(1,idk)-2,1),min(kse(2,idk)+2,k2)
DO 14 1=1,12
VOL(I,1,K) = VOL(I,2,K)

14 CONTINUE
endif
if(idj.eq.nprocj-1) then
do k=max(kse(1,idk)-2,1),min(kse(2,idk)+2,k2)
DO I1=1,12

1 VOL(l,j2,K) = VOL(I,JL,K)

enddo
enddo
endif

@ VOL arrayE 2& M 222 MPI rankJt o &

(o]
ACH HAE = vol arrayOll CHoll LISOl HHASEE2 gf

i
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2t ranke R0l BHRE=2S AZ SEoIHAN E&otH HAGHES do-loopE

HaZ 0|83

1l
*x
N
2
(wml
s
ol
-0
X
z
OTl'
]
s sl
5
=
-~

B. Xxix, etx, ztx, Xix, etx, ztx array H&H WH

<Serial &g DE>

207 do 200 i=2,il

208 I=i-1

209 do 200 j=2,jl

210 m=j-1

211 do 200 k=2,kl

212 n=k-1

213 12 SX = (X(2,1,J,N) -X(2,1,M,K)*(X(3,1,J,K) -X(3,I,M,N))
214 . -(X(@3,1,J,N)  -X(3,I,M,K)*(X(2,1,J,K) -X(2,1,M,N))
215 . +(X(2,L,J,N) -X(2,L,M,K))*(X(3,L,J,K) -X(3,L,M,N))
216 . -(X@3,L,J,N) -X(3,L,M,K))*(X(2,L,J,K) -X(2,L,M,N))
225 6 xix(i,j,k)=sx/vol(i,j,k)/4.

260 1 200 continue

263 DO 22 K=2,KL

264 DO 22 J=2,JL

265 xix(1,j,k)=xix(2,j,k)

268 etx(1,j,k)=-etx(2,j,k)

271 ztx(1,j,k)=-ztx(2,j,k)

274 xix(i2,j,k)=xix(il,j,k)

277 etx(i2,j,k)=-etx(il,j,k)

280 ztx(i2,j,k)=-ztx(il,j,k)

283 22 CONTINUE

285 do 29 j =2l

286 do29i=1,12

287 xix(i,j,1)=xix(i,],2)

290 etx(i,j,1)=etx(i,j,2)

293 ztx(i,j,1)=-ztx(i,j,2)

296 xix(i,j,k2)=xix(i,j,kI)

299 etx(i,j,k2)=etx(i,j,kl)

302 ztx(i,j,k2)=-ztx(i,j,kl)

305 29 continue

306

<MPI &3 ZE>

243 do 200 k=max(kse(1,idk)-2,2),min(kse(2,idk)+2,kl)

244 n=k-1

246 do 200 j=max(jse(1,idj)-2,2),min(jse(2,idj)+2,jl)

247 m=j-1

248 do 200 i=2,il

249 I=i-1

250 7 SX = (X(2,1,L3,N) -X(2,I,M,K)*(X(3,1,J,K) -X(3,I,M,N))
251 . -(X(@B,1LlI,N)  -X(@B,IL,M,KN*(X(2,1,J,K)  -X(2,I,M,N))
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252
253

262 10

298

302
304
305
308 1
311 1
314
317
320
323

325
327
328
329
332
335
338
339
340
342
343
344
347
350 1
353
354
355

+(X(2,L,J,N)
-(X(3,L,J,N)

-X(2,L,M,K))*(X(3,L,J,K)
-X(3,L,M,K))*(X(2,L,J,K)

xix(i,j,k)=sx/vol(i,j,k)/4.
200 continue

do 22 k=max(kse(1,idk)-2,2),min(kse(2,idk)+2,kl)
do 22 j=max(jse(1,idj)-2,2),min(jse(2,idj)+2,jl)
xix(1,],k)=xix(2,j,k)
etx(1,j,k)=-etx(2,j,k)
ztx(1,j,k)=-ztx(2,j,k)
xix(i2,j,k)=xix(l,j,K)
etx(i2,j,k)=-etx(il,j,k)
ztx(i2,j,k)=-ztx(il,j k)
22 CONTINUE

if(idk.eq.0) then
do 29 j=max(jse(1,idj)-2,2),min(jse(2,idj)+2,jl)
do29i=1,12
xix(i,j,1)=xix(i,j,2)
etx(i,j,1)=etx(i,j,2)
ztx(i,j,1)=-ztx(i,j,2)
29 continue
endif
if(idk.eq.nprock-1) then
do j=max(jse(1,idj)-2,2),min(jse(2,idj)+2,jl)
doi=1,12
xix(i,j,k2)=xix(i,j,kI)
etx(i,j,k2)=etx(i,j,kI)
ztx(i,j,k2)=-ztx(i,j,kl)
enddo
enddo
endif

-X(3,L,M,N))
-X(2,L,M,N))

@ <29 VOL arraye 2& MHet OI&IIXKIZ xix arrays 2& MO 2229 MPI
rankJb oY 0 HAMS otEE AH F=JCH US0H HH 222 %2
accessol)| MHE0 2 rank2 F2t0] BHREES2 M2 SESIN ZESH0 H A
ol== do-loopE #=alotD UCH £t k=1,k20 CHoll HAE @ idk H4E 0]
25l 0] ¥ = LE6t= rankBh £=8ig £ QAL = GIRULC}.

6. metriczone2, metriczone3 FE!
S 3T Xolg & He &2 FEO0IJ] HEH metric FE 1 HI
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< Main Process >

1. double_cav REl

A. main 20 mpi J12 FE &

<Serial &g DE>

26
27
28
29

31
32

OPEN( 7,FILE="gri3d.dat',form="UNFORMATTED")
OPEN(15,FILE="ns3d.d")
OPEN(38,FILE="hist.dat")
open(27,file="ns3d.out")

call datain
call gridin

<MPI &3t ZE>

22 call mpi_init(ierr)

23 call mpi_comm_rank(mpi_comm_world,id, ierr)

24 call mpi_comm_size(mpi_comm_world,nproc, ierr)

27 if(id.eq.id0) then

28 OPEN( 7,FILE="gri3d.dat',form="UNFORMATTED")

29 OPEN(15,FILE="ns3d.d")

30 OPEN(38,FILE="hist.dat")

31 open(27,file="ns3d.out")

32 endif

34 call datain

36 call decomp_2d

76 call gridin

374 call mpi_finalize(ierr)

® mian 2 =2l double_cav 2EIH JI2XQ2 mpi REIS &USHAUCH
@ g9 US0 HAMZOHE arraySS 88XHO2 2&olE decomp_2d FEIO

B. Main iteration /2t

<Serial &3 DE>

53

56
57

DO 2000 ITR=ISTART,IFINAL

DO 301 K=1,K2
DO 301 J=1,J2
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58 DO 301 I=1,12

59 9 Wn(1,1,J,K)=W(1,1,J,K)
60 60 wWn(2,1,J,K)=W(2,1,J,K)
61 2 Wn(3,1,J,K)=W(3,1,J,K)
62 Wn(4,1,J,K)=W(4,1,J,K)
63 100 wn(5,1,J,K)=W(5,1,J,K)
64 301 CONTINUE
87 if(iturb.eq.2) then
88 DO 311 K=1,K2
89 DO 311 J=1,J2
90 DO 311 I=1,12
91 25 wtkn(l,J,K)=wtk(l,J,K)
92 42 wtomn(l,J,K)=wtom(i,J,K)
93 311 CONTINUE
94
95 if(number_zone.ge.2) then
96 DO 312 K=1,K2z2
97 DO 312 J=1,J2z2
98 DO 312 1=1,12z2
99 2 wtknz2(1,J,K)=wtkz2(1,J,K)
100 3 wtomnz2(l,J,K)=wtomz2(l,J,K)
101 1 312 CONTINUE
102 DO 313 K=1,K2z3
103 DO 313 J=1,J2z3
104 DO 313 1=1,12z3
105 1 wtknz3(1,J,K)=wtkz3(l,J,K)
106 6 wtomnz3(l,J,K)=wtomz3(l,J,K)
107 313 CONTINUE
108 endif
109 endif
175 if(iturb.ge.2) then
177 do 2011 itrunge=1,4
178 CALL turbkom(itr,itrunge)
180 if(number_zone.ge.2) then
181 CALL turbkomzone2(itr,itrunge)
182 call turbkomzone3(itr,itrunge)
183 endif
185 call boundturb
186 if(number_zone.ge.2) then
187 call boundturbzone2
188 call boundturbzone3
189 endif
191 2011 continue
192 endif
194 if((mod(itr,100).eq.0)) then
195 call outputtest(iouttest,jouttest,kouttest)
196 OPEN( 8,FILE="flow.fom")
197 DO 399 K=1,K2
198 DO 399 J=1,J2
199 DO 399 1=1,I12
200 WRITE(8,667) W(1,1,J,K),W(2,1,J,K),W(3,1,J,K),W(4,1,],K),
201 . W(5,1,J,K),wtk(i,j,k),wtom(i,j,k)
202 399 CONTINUE
203 close(8)
227 endif
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230
231

write(6,*) 'Timing Step',tt0

2000 CONTINUE

<MPI &3 ZE>

100

105
106
107
108
109
110
111
112
113

140
143
144
145
146
147
148
149
150
153
154
155
156
157
158
161
162
163
164
165
166
167
168

262
264
265
267
268
269
270
272
273
274
275
276
278
279

281

105
12
88
54
26

105
26

~ s

DO 2000 ITR=ISTART,IFINAL

do 301 k=kse(1,idk),kse(2,idk)

do 301 j=jse(L,idj),jse(2.idj)

DO 301 1=1,12
Wn(1,1,3,K)=W(1,1,J,K)
Wn(2,1,3,K)=W(2,1,J,K)
Wn(3,1,3,K)=W(3,1,J,K)
Wn(4,1,3,K)=W(4,1,J,K)
Wn(5,1,3,K)=W(5,1,J,K)

301 CONTINUE

if(iturb.eq.2) then
do 311 k=max(kse(1,idk)-2,1),min(kse(2,idk)+2,k2)
do 311 j=max(jse(d,idj)-2,1),min(jse(2,idj)+2,j2)
DO 311 I=1,I2
wtkn(l,J,K)=wtk(l,J,K)
wtomn(l,J,K)=wtom(i,J,K)
311 CONTINUE

if(hnumber_zone.ge.2) then
do 312 k=max(ksez2(1,idk)-2,2),min(ksez2(2,idk)+2,klz2)
do 312 j=max(jsez2(1,idj)-2,2),min(jsez2(2,idj)+2,jlz2)
DO 312 1=1,12z2
wtknz2(1,J,K)=wtkz2(1,J,K)
wtomnz2(l,J,K)=wtomz2(l,J,K)
312 CONTINUE
do 313 k=max(ksez3(1,idk)-2,2),min(ksez3(2,idk)+2,klz3)
do 313 j=max(jsez3(1,idj)-2,2),min(jsez3(2,idj)+2,jlz3)
DO 313 I1=1,12z3
wtknz3(l,J,K)=wtkz3(l,J,K)
wtomnz3(l,J,K)=wtomz3(l,J,K)
313 CONTINUE
endif
endif

if(iturb.ge.2) then
do 2011 itrunge=1,4
CALL turbkom(itr,itrunge)
if(number_zone.ge.2) then
CALL turbkomzone2(itr,itrunge)
call turbkomzone3(itr,itrunge)
endif
call boundturb
if(number_zone.ge.2) then
call boundturbzone?2
call boundturbzone3
endif

2011 continue
endif

if((mod(itr,100).eq.0)) then
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282 call outputtest(iouttest,jouttest,kouttest)

283 if(id.eq.id0) then

284 OPEN( 8,FILE="flow.fom")

285 DO 399 K=1,K2

286 DO 399 J=1,J2

287 DO 399 I1=1,I12

288 WRITE(8,667) W(1,1,J,K),W(2,1,J,K),W(3,1,J,K),W(4,1,],K),
289 . W(5,1,J,K),wtk(i,j,k),wtom(i,j,k)
290 399 CONTINUE

291 close(8)

292 endif

320 endif

323 if(id.eq.id0) then

324 write(6,*) 'Timing Step',tt0

325 endif

326 2000 CONTINUE

@ WnarrayE H&HE O 2t rankel YR 22 HASHES do loopE =34
@ Witkn, wtomn, wtknz2, wtomnz2, wtknz3, wtomnz3 £ H&HE I S Ol Al

o HHER0 Us 22 accessol)| M0 2+ rank0ll T A&
T LTSS TOLA do loopE #=&adt] QUL
]

UE writeole 220 A= rank=0L [HOF %=

m 1y

Rl

N
02

®

02

TEE ot U

ol

b

C. Core Iteration 2t

<Serial &3 DE>

111 do 2001 itrunge=1,4

112 CALL NASTOK(itr,itrunge)

114 rtrms=alog10(rtrms)

115 WRITE (*,666) itr,itrunge,rtrms
119 do 100 k=2,kl

120 do 100 j=2,jl

121 do 100 i=2,il

122 142 ur(i,j,k)=w(2,i,j,k)/w(1,i,j,k)

123 353 vr(i,j,K)=w(3,i,j,k)/w(1,i,j,k)

124 23 wr(i,j,k)=w(4,i,j,k)/w(1,i,j,k)

125 110 p(i,j,k)=(w(5,i,j,k)-0.5*w(1,i,j,k)*(ur(i,j,k)**2
126 * +vr(i,j,K)**2+wr(i,j,k)**2))*(gamm)
127 264 t(i,j,k)=p(i,j,k)/w(1,i,j,k)

128 100 continue

129

130 if(number_zone.ge.2) then

134 CALL NASTOKzone2(itr,itrunge)
135 do 101 k=2,klz2

136 do 101 j=2,jlz2

137 do 101 i=2,ilz2

138 6 urz2(i,j,k)=wz2(2,i,j,k)/wz2(1,i,j,k)
139 48 vrz2(i,j,K)=wz2(3,i,j,K)/wz2(1,i,j,K)
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140 4 wrz2(i,j,k)=wz2(4,i,j,k)/wz2(1,i,j,k)

141 3 pz2(i,j,k)=(wz2(5,i,j,k)-0.5*wz2(1,i,j,k)*(urz2(i,j,k)**2
142 * +vrz2(i,j,K)**2+wrz2(i,j,k)**2))*(gamm)
143 30 tz2(i,j,k)=pz2(i,j,k)/wz2(1,i,j,k)

144 101 continue

148 CALL NASTOKzone3(itritrunge)

149 do 102 k=2,klz3

150 do 102 j=2,jlz3

151 do 102 i=2,ilz3

152 4 urz3(i,j,K)=wz3(2,i,j,k)/wz3(1,i,j,k)

153 19 vrz3(i,j,k)=wz3(3,i,j,k)/wz3(1,i,j,k)

154 1 wrz3(i,j,k)=wz3(4,i,j,k)/wz3(1,i,j,k)

155 6 pz3(i,j,k)=(wz3(5,i,j,k)-0.5*wz3(1,i,j,k)*(urz3(i,j,k) **2
156 * +vrz3(i,j,k)**2+wrz3(i,j,k)**2))*(gamm)
157 15 123(i,j,k)=pz3(i,j,k)/wz3(1,i,j,k)

158 102 continue

159 endif

160

161 call bound

162 if(number_zone.ge.2) then

163 call boundzone2

164 call boundzone3

165 endif

168 2001 continue

<MP| H&3 DE=>

170 do 2001 itrunge=1,4

171 CALL NASTOK(itr,itrunge)

172 ks=kse(1,idk)

173 ke=kse(2,idk)

174 js=jse(1,idj)

175 je=jse(2,idj)

176 call mpi_com_pm2(w,imx,jmx,kmx,i2,k2,

177 & nprocj,nprock,idj,idk,js,je,ks,ke)

179 rtrms=alog10(rtrms)

180 if(id.eq.id0) then

181 WRITE (*,666) itr,itrunge,rtrms

182 endif

188 do 100 k=max(kse(1,idk)-2,2),min(kse(2,idk)+2,kl)
189 do 100 j=max(jse(d,idj)-2,2),min(jse(2,idj)+2,jl)
190 do 100 i=2,il

191 136 ur(i,j,k)=w(2,i,j,k)/w(1,i,j,k)

192 210 vr(i,j,K)=w(3,i,j,kK)/w(1,i,j,k)

193 118 wr(i,j,K)=w(4,i,j,k)/w(1,i,j,k)

194 577 p(i,j,k)=(w(5,i,j,k)-0.5*w(1,i,j,k)*(ur(i,j,k)**2
195 * +vr(i,j,K)**2+wr(i,j,k)**2))*(gamm)

196 106 t(i,J,K)=p(.j,k)/w(1,i,j,k)

197 2 100 continue

200 if(number_zone.ge.2) then

204 CALL NASTOKzone2(itr,itrunge)

205 ksz2=ksez2(1,idk)
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206 kez2=ksez2(2,idk)
207 jsz2=jsez2(1,idj)
208 jez2=jsez2(2,idj)
209 call mpi_com_pm2(wz2,imxz2,jmxz2,kmxz2,i2z2,k2z2,
210 & nprocj,nprock,idj,idk,jsz2,jez2,ksz2,kez2)
213 do 101 k=max(ksez2(1,idk)-2,2),min(ksez2(2,idk)+2,klz2)
214 do 101 j=max(jsez2(1,idj)-2,2),min(jsez2(2,idj)+2,jlz2)
215 do 101 i=2,ilz2
216 7 urz2(i,j,K)=wz2(2,i,j,k)/wz2(1,i,j,k)
217 17 vrz2(i,j,k)=wz2(3,i,j,k)/wz2(1,i,j,k)
218 7 wrz2(i,j,k)=wz2(4,i,j,k)/wz2(1,i,j,k)
219 66 pz2(i,j,k)=(wz2(5,i,j,k)-0.5*wz2(1,i,j,k)*(urz2(i,j,k)**2
220 * +vrz2(i,j,K)**2+wrz2(i,j,K)**2))*(gamm)
221 15 tz2(i,j,k)=pz2(i,j,k)/wz2(1,i,j,k)
222 4 101 continue
226 CALL NASTOKzone3(itr,itrunge)
227 ksz3=ksez3(1,idk)
228 kez3=ksez3(2,idk)
229 jsz3=jsez3(1,idj)
230 jez3=jsez3(2,id))
231 call mpi_com_pm2(wz3,imxz3,jmxz3,kmxz3,i2z3,k2z3,
232 & nprocj,nprock,idj,idk,jsz3,jez3,ksz3,kez3)
235 do 102 k=max(ksez3(1,idk)-2,2),min(ksez3(2,idk)+2,klz3)
236 do 102 j=max(jsez3(1,idj)-2,2),min(jsez3(2,idj)+2,jlz3)
237 do 102 i=2,ilz3
238 7 urz3(i,j,K)=wz3(2,i,j,k)/wz3(1,i,j,k)
239 15 vrz3(i,j,K)=wz3(3,i,j,k)/wz3(1,i,j,k)
240 2 wrz3(i,j,kK)=wz3(4,i,j,k)/wz3(1,i,j,k)
241 22 pz3(i,j,k)=(wz3(5,i,j,k)-0.5*wz3(1,i,j,k)* (urz3(i,j,k)**2
242 * +vrz3(i,j,K)**2+wrz3(i,j, k) **2))*(gamm)
243 8 t23(i,j,k)=pz3(i,j,k)/wz3(1,i,j,k)
244 102 continue
245
246 endif
247
248 call bound
249 if(number_zone.ge.2) then
250 call boundzone2
251 call boundzone3
252 endif
255 2001 continue
@ Nastok REIS XILIH 2 rank0ll cHEols F W w array 22 2 =4,
O30 2= HAUEUAHA ZH 222 w arrayE accessotldl WM&l
El

2. nastok ¢

mpi_comm_pm2 [EIS callotd A 229 dataE 0lel &
A

Mol =
@ Nastokzone?2, nastokzone3 RE £o| HMNEET SUotH XEE )
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A. dw array A& 22 —part 1

<Serial &g DE>

21 do 100 k=2,kI
22 do 100 j=2,jl
23 2 do 10 i=1,i2
24
25 178 pi2=(gamma-1)*(ur(i,j,k)**2+vr(i,j,K)**2+wr(i,j,k)**2)/2.
26 279 pi=sqrt(xix(i,j,k)**2+xiy(i,j, k) **2+xiz(i,j, k) **2)
27 ex=xix(i,j,k)/pi
28 477 cy=xiy(i,j,k)/pi
29 30 cz=xiz(i,j,k)/pi
30 118 the=cx*ur(i,j,k)+cy*vr(i,j,k)+cz*wr(i,j,k)
31 42 cc=sqrt(gamma*p(i,j,k)/w(1,i,j,k))
32 98 alpha=w(1,i,j,k)/(cc*sqrt(2.))
33 151 beta=1./(w(1,i,j,k)*cc*sqrt(2.))
265 80 dw(iri,j,kK)=dw(ir,i,j,k)+(
266 * (1.40.5*p1)*(fm(ir,])-fm(ir,i)) -0.5*p2*(fm(ir,I+1)-fm(ir,1)))
272 5 100 continue
<MP| &€&3t BE>
30 do 100 k=max(kse(1,idk),2),min(kse(2,idk),kl)
32 do 100 j=max(jse(1,idj),2),min(jse(2,idj).,jl)
33 4 do 10 i=1,i2
34
35 403 pi2=(gamma-21)*(ur(i,j,k)**2+vr(i,j,K)**2+wr(i,j,k)**2)/2.
36 189 pi=sqrt(xix(i,j,K)**2+xiy(i,j,K)**2+xiz(i,j,k) **2)
37 ex=xix(i,j,k)/pi
38 cy=xiy(i,j,k)/pi
39 cz=xiz(i,j,k)/pi
40 the=cx*ur(i,j,K)+cy*vr(i,j,k)+cz*wr(i,j,k)
41 79 cc=sqgrt(gamma*p(i,j,k)/w(1,i,j,k))
42 207 alpha=w(1,i,j,k)/(cc*sqrt(2.))
43 81 beta=1./(w(1,i,j,k)*cc*sqrt(2.))
275 520 dw(ir,i,j,kK)=dw(ir,i,j,k)+(
276 * (1.4+0.5*p1)*(fm(ir,1)-fm(ir,i)) -0.5*p2*(fm(ir,1+1)-fm(ir,1)))
282 100 continue

B. dw array A&

<Serial &3 DE>

& —part2

276
277
278
279
280

51

do 200 k=2 kI
do 20 j=1,j2
do i=2,il

pi2=(gamma-1)*(ur(i,j,k)**2+vr(i,j, k) **2+wr(i,j, k) **2)/2.
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281 304 pi=sqrt(etx(i,j,k)**2+ety(i,j,k) **2+etz(i,j,k) **2)
282 ex=etx(i,j,k)/pi

283 380 ey=ety(i,j,k)/pi

284 39 ez=etz(i,j,k)/pi

285 117 the=ex*ur(i,j,k)+ey*vr(i,j,k)+ez*wr(i,j,k)
286 48 cc=sqrt(gamma*p(i,j,K)/w(1,i,j,k))

287 25 alpha=w(1,i,j,k)/(cc*sqrt(2.))

288 435 beta=1./(w(1,i,j,k)*cc*sqrt(2.))

442 87 gj(ir,i,j)=fprc*vol(i,j,k)

443 297 gmj(iri,j)=fmrc*vol(i,j,k)

446 20 continue

449 do 21 j=2,jl

450 m=j-1

478 446 dw(ir,i,j,k)=dw(ir,i,j,k)+(1.+0.5*p1)*(gj(iri,j)-gj(ir,i,m))
479 * -0.5*p2*(gj(ir,i,m)-gj(ir,i,m-1))

483 21 continue

484 do 23 j=2,jl

485 m=j+1

513 413 dw(ir,i,j,K)=dw(ir,i,j,k)+

514 * (1.+0.5*p1)*(gmij(ir,i,m)-gmj(ir,i,j))

515 * -0.5*p2*(gmij(ir,i,m+1)-gmij(ir,i,m))

519 23 continue

521 200 continue

<MPI €23 2=>

286 do 200 k=max(kse(1,idk),2),min(kse(2,idk),kI)
288 do 20 j=max(jse(1,idj)-2,1),min(jse(2,idj)+2,j2)
289 do i=2,il

290

291 475 pi2=(gamma-1)*(ur(i,j,k)**2+vr(i,j,K)**2+wr(i,j, k) **2)/2.
292 165 pi=sqrt(etx(i,j,k)**2+ety(i,j,k)**2+etz(i,j,k)**2)
293 ex=etx(i,j,K)/pi

294 ey=ety(i,j,k)/pi

295 62 ez=etz(i,j,k)/pi

296 206 the=ex*ur(i,j,k)+ey*vr(i,j,k)+ez*wr(i,j,k)
297 103 cc=sqgrt(gamma*p(i,j,k)/w(1,i,j,k))

298 alpha=w(1,i,j,k)/(cc*sqrt(2.))

299 beta=1./(w(1,i,j,k)*cc*sqrt(2.))

453 463 gj(iri,j)=fprc*vol(i,j,k)

454 509 gmj(iri,j)=fmrc*vol(i,j,k)

456 1 enddo

457 1 20 continue

461 do 21 j=max(jse(1,id}),2),min(jse(2,idj),jl)

462 m=j-1
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490
491

495

497
498

526
527
528
532

534

596 dw(iri,j,k)=dw(ir,i,j,k)+(1.+0.5*p1)*(gj(iri,j)-gj(ir,i,m))
* -0.5*p2*(gj(ir,i,m)-gj(ir,i,m-1))

1 21 continue

do 23 j=max(jse(1,idj),2),min(jse(2,idj),jl)
m=j+1

669 dw(iri,j,k)=dw(ir,i,j,k)+
* (1.4+0.5*p1)*(gmj(ir,i,m)-gmj(ir,i,j))
* -0.5*p2*(gmij(ir,i,m+1)-gmij(ir,i,m))

23 continue

200 continue

C. dw array A& 22 —part 3

<Serial &3t ZE>

522 do 30 k=1,k2

523 do j=2,jl

524 do i=2,il

525 118 pi2=(gamma-21)*(ur(i,j,k)**2+vr(i,j,K)**2+wr(i,j, k) **2)/2.
526 334 pi=sqrt(ztx(i,j,k)**2+zty(i,j,K)**2+ztz(i,j,K) **2)
527 zx=ztx(i,j,k)/pi

528 433 zy=zty(i,j,k)/pi

529 34 zz=ztz(i,j,K)/pi

530 122 the=zx*ur(i,j,k)+zy*vr(i,j,k)+zz*wr(i,j,k)

531 40 cc=sqrt(gamma*p(i,j,k)/w(1,i,j,k))

532 alpha=w(1,i,j,k)/(cc*sqrt(2.))

533 467 beta=1./(w(1,i,j,k)*cc*sqrt(2.))

686 88 hk(ir,i,j,K)=gprc*vol(i,j,k)

687 356 hmk(ir,i,j,k)=gmrc*vol(i,j,k)

690 28 enddo

691 1 enddo

692 30 continue

693 do 31 k=2,kl

694 n=k-1

695 do j=2,jl

723 362 dw(ir,i,j,k)=dw(ir,i,j,k)+(1+0.5*p1)*(hk(iri,j,k)-hk(iri,j,n))
724 * -0.5*p2*(hk(ir,i,j,n)-hk(iri,j,n-1))

728 enddo

729 31 continue

731 do 33 k=2,kI

732 n=k+1

733 do j=2,jl

761 372 dw(ir,i,j,K)=dw(ir,i,j,k)+

762 *  (1.40.5*p1)*(hmk(iri,j,n)-hmk(iri,j,k))
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763 *-0.5*p2*(hmk(ir,i,j,n+1)-hmk(ir,i.j,n))

767 enddo
768 33 continue

<MP| H&3 DE=>

536 do 30 k=max(kse(1,idk)-2,1),min(kse(2,idk)+2,k2)
538 do j=max(jse(1,idj),2),min(jse(2,idj),jl)

539 2 do i=2,il

540 557 pi2=(gamma-1)*(ur(i,j,K)**2+vr(i,j,K)**2+wr(i,],K)**2)/2.
541 166 pi=sqrt(ztx(i,j,k)**2+zty(i,j,K)**2+ztz(i,j, k) **2)
542 zx=ztx(i,j,k)/pi

543 zy=zty(i,j,k)/pi

544 2z=712(i,j,K)/pi

545 65 the=zx*ur(i,j,k)+zy*vr(i,j,k)+zz*wr(i,j,k)

546 205 cc=sqrt(gamma*p(i,j,k)/w(1,i,j,k))

547 alpha=w(1,i,j,k)/(cc*sqrt(2.))

548 140 beta=1./(w(1,i,j,k)*cc*sqrt(2.))

701 547 hk(ir,i,j,K)=gprc*vol(i,j,k)

702 676 hmk(ir,i,j,k)=gmrc*vol(i,j,k)

705 enddo

706 enddo

707 1 30 continue

709 do 31 k=max(kse(1,idk),2),min(kse(2,idk),kl)
710 n=k-1

712 do j=max(jse(1,idj),2),min(jse(2,idj).,jl)

740 565 dw(ir,i,j,k)=dw(ir,i,j,k)+(1+0.5*p1)*(hk(iri,j,k)-hk(iri,j,n))
741 * -0.5*p2*(hk(ir,i,j,n)-hk(iri,j,n-1))

745 enddo

746 31 continue

749 do 33 k=max(kse(1,idk),2),min(kse(2,idk),kl)
750 n=k+1

752 do j=max(jse(1,idj),2),min(jse(2,idj),jl)

780 728 dw(ir,i,j,kK)=dw(ir,i,j,k)+

781 *  (1.+0.5*p1)*(hmk(ir,i,j,n)-hmk(ir,i,j,k))

782 *  -0.5*p2*(hmk(ir,i,j,n+1)-hmk(ir,i,j,n))

786 enddo

787 33 continue

@ dw arrays & M 222 MPI rankJt of
Ct.

g S92 A

[

o
ol
H
]
Paa

D. W array Hé& 22
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<Serial &g DE>

786 DO 60 K=2,KL

787 DO 60 J=2,JL

788 DO 60 1=2,IL

789 205 W(1,1,J,K) = Wn(1,l1,J,K)-rungefactor/vol(i,j,k)*DW(1,1,J,K)
790 125 W(2,1,J,K) = Wn(2,1,J,K)-rungefactor/vol(i,j,k)*DW(2,1,J,K)
791 195 W(3,1,J,K) = Wn(3,1,J,K)-rungefactor/vol(i,j,k)*DW(3,1,J,K)
792 1 W(4,1,J,K) = Wn(4,1,J,K)-rungefactor/vol(i,j,k)*DW(4,1,J,K)
793 245 W(5,1,J,K) = Wn(5,1,J,K)-rungefactor/vol(i,j,k)*DW(5,1,J,K)
794 60 CONTINUE

<MP| €3 RE>

806 do 60 k=max(kse(1,idk),2),min(kse(2,idk),kl)
808 do 60 j=max(jse(1,id}),2),min(jse(2,idj),jl)
809 DO 60 1=2,IL
810 127 W(1,1,J,K) = Wn(1,1,J,K)-rungefactor/vol(i,j,k)*DW(1,1,J,K)
811 99 wW(2,1,J,K) = Wn(2,1,J,K)-rungefactor/vol(i,j,k)*DW(2,1,J,K)
812 72 W(3,1,J,K) = Wn(3,1,J,K)-rungefactor/vol(i,j,k)*DW(3,1,J,K)
813 84 W(4,1,J,K) = Wn(4,1,J,K)-rungefactor/vol(i,j,k)*DW(4,1,J,K)
814 261 W(5,1,J,K) = Wn(5,1,J,K)-rungefactor/vol(i,j,k)*DW(5,1,J,K)
815 60 CONTINUE
® 2 MPI rankOil CHoll oY S gol 210 A= Wn, vol, DW arrayES 0|25t
ole S0l CHol WE Al &totHl =T
@ Nastok RE HHEHSZ EH 2t MPI rank0l CHoll Z2HE 22| data 2t=2 0lSol
o e "o W arrayS HAGHAH =CF. & nastok |E A& Ct=
iteration2 nastok FE 2 AH &G ®IoiAMeE BHRE2 data g2 S4 = of

SO0k 8tlt= 2101,

E. RTRMS, RTMAX, IRT, JRT, KRT H& 2&

<Serial &g DE>

797 RTRMS = 0.

798 RTMAX =0.

799 NSUP =0

800 DO 90 K=2 KL

801 DO 90 J=2,JL

802 DO 90 1=2,IL

803 1 RT = dw(1,i,d,K)

804 RTRMS = RTRMS +RT**2
805 271 IF (ABS(RT).LE.ABS(RTMAX)) GO TO 90
806 RTMAX =RT

807 IRT =

808 JRT =1

809 KRT =K

810 90 CONTINUE
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811 RTRMS = SQRT(RTRMS/FLOAT((IL -1)*(JL -1)*(KL -1)))

<MPI &€&3t BE>

818 RTRMS =0.

819 RTMAX =0.

820 NSUP =0

822 do 90 k=max(kse(1,idk),2),min(kse(2,idk),kl)

824 do 90 j=max(jse(1,idj),2),min(jse(2,idj),jl)

825 DO 90 1=2,IL

826 RT = dw(1,i,J,K)

827 1 RTRMS = RTRMS +RT**2

828 132 IF (ABS(RT).LE.ABS(RTMAX)) GO TO 90

829 RTMAX =RT

830 IRT =

831 JRT =

832 KRT =K

833 54 90 CONTINUE

834 c

835 CALL MPI_ALLREDUCE(RTRMS,RTRMSS,1,MP1_REALS,

836 & MPI_SUM,MPI_COMM_WORLD,jierr)

837 RTRMS=RTRMSS

838

839 CALL MPI_ALLGATHER(RTMAX,1,MP1_REALS,buffproc,1,MP1_REALS,

840 & MPI_COMM_WORLD,ierr)

841 kk0=id0

842 RTMAX0=Dbuffproc(kk0)

843 DO 91 kk=1,nproc-1

844 IF (ABS(buffproc(kk)).LE.ABS(RTMAX0)) GO TO 91

845 kkO=kk

846 RTMAX0=buffproc(kk)

847 91 CONTINUE

848 if(id.eq.kk0) then

849 ibuff(1)=IRT

850 ibuff(2)=JRT

851 ibuff(3)=KRT

852 ENDIF

853 isrce=kk0

854 len=3

855 CALL MPI_BCAST(IBUFF,len,MPI_INTEGERA4,isrce,MPI_COMM_WORLD,ierr)

856 IRT=ibuff(1)

857 JRT=ibuff(2)

858 KRT=ibuff(3)

859 c

860 RTRMS = SORT(RTRMS/FLOAT((IL -1)*(JL -1)*(KL -1)))
2F rankOll CHolt ol ¥<ol gtot & Aes dw arrayE 0/E0t0 RT, RTRMSE

H&SHA €L

2t rankOll CHet RTRMSE et 08 & rankOlAd MPI_ALLREDUCE =& &
MPI_SUM operatorE OI&3dt0 OO CHEF & HE St = RTRMSOI MZ&SHCH.
RT2 zICHatS —otJ| fIoHAM X 2 rankOIM RTS ZUigtsS #& = 012
MPI_ALLGATHER &= 0180t buffproc array2 M&ESt & CHAl buffproc
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CHagts 0l RTMAXOE R&HCH E£8F Ol el buffproc array indexE 0IE

ot oY rankE ZO0F W 0 sHEot= IRT, JRT, KRT gt2 ibuff arraryil M
&8 = MPI_BCAST REI2 0I8ct0d &8Al rankOll 8ol =C.
@ Z=NOZ M rank0ll CHoll RTMAXO, IRT, JRT, KRTOF HIAFEIH =ICH

3. nastokzone2, nastokzone3 ¢l

H1
9

r

A0l

nastok &I Y= 0|8 &
= Ch. O

o2 =HOIHW mpi &3 of

SEOUAM HatEEsE H=S0I0

o0 nC
A

<*)

A

@ nastokzone? : dwz2, wz2, RTRMSz2
@ nastokzone3 : dwz3, wz3, RTRMSz3

4. vsflux €l

A. visc array H& 22

<Serial &g DE>

= HO £ 22 FEOJ =20 e &4

Ha~=2 nastokzone2, nastokzone3oundturb

23 do k = 1,k2

24 doj=1,2

25 doi=1,i2

26 357 visc(i,j,k) = (t(i,j,k)/tfree)**vex/res
27 enddo

28 enddo

29 enddo

<MPI &3t ZE>

34 do k=max(kse(1,idk)-1,1),min(kse(2,idk)+1,k2)
36 do j=max(jse(1,idj)-1,1),min(jse(2,idj)+1,j2)
37 doi=1,2

38 139 visc(i,j,k) = (t(i,j,k)/tfree)**vex/res

39 67 enddo

40 1 enddo

41 enddo

24
S0 2 rank0ll CHst H& HE2 BHREE ZEOIES EOA do loopE =

ot RUCH.
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B. dw array A&t 22 —partl

<Serial &g DE>

30 do 100 k=2,kl
31 kp=k+1
32 km=k-1
34 6 do 100 j=2,jl
35 ip=j+1
36 jm=j-1
39 do 10 i=1,il
195 44 10 continue
196 do 11 i=2,il
197 do ir=1,4
198 407 dw(ir+1,i,j,k)=dw(ir+1,i,j,k)
199 * -(fv(iri)-fv(iri-1))
200 enddo
201 11 continue
202 12 100 continue

44 do 100 k=max(kse(1,idk),2),min(kse(2,idk),kl)
45 kp=k+1
46 km=k-1
49 do 100 j=max(jse(1,idj),2),min(jse(2,idj).jl)
50 ip=j+1
51 jm=j-1
54 58 do 10 i=1,il
210 10 continue
211 do 11 i=2,il
212 doir=1,4
213 380 dw(ir+1,i,j,k)=dw(ir+1,i,j,k)
214 * -(fv(ir,i)-fv(ir,i-1))
215 enddo
216 11 continue
217 10 100 continue

C. dwarray A& 22 —part 2

<Serial &g DE>

206 do 200 k=2,kI
207 kp=k+1
208 km=k-1
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216 3 do 20 j=1,jl

217 jp=j+1

218 do i=2,il

355 58 vco=(visc(i,j,k)*facl+visc(i,jp,k)*fac2)/pr

356 *  +(emu(i,j,k)*facl+emu(i,jp,k)*fac2)/prt

358 64 dn =((visc(i,j,k) +emu(i,j,k))*facl

359 *  +(visc(i,jp,k)+emu(i,jp,k))*fac2)

362 492 fvj(1,i,j)=dn*(d1*ui+d5*vi+d6*wi+b1*uj+b5*vj+b7*wj
363 * +f1*uk+f7*vk+f9*wk) -2./3.*r1*tk1*sjx*vol22
364 416 fvj(2,1,j)=dn*(d7*ui+d2*vi+d8*wi+b5*uj+b2*vj+b6*wj
365 e +f5*uk+f2*vk+f10*wk) -2./3.*r1*tk1*sjy*vol22
376 1 enddo

377 3 20 continue

378 do 21 j=2,jl

379 do i=2,il

380 doir=1,4

381 465 dw(ir+21,i,j,k)=dw(ir+1,i,j,k)-(fvj(iri,j)-fvj(iri,j-1))

382 enddo

383 enddo

384 21 continue

385 200 continue

<MPI &€&3t BE>

222 do 200 k=max(kse(1,idk),2),min(kse(2,idk),kl)

223 kp=k+1

224 km=k-1

227 do 20 j=max(jse(1,idj)-1,1),min(jse(2,idj),jl)

228 jp=j+1

229 12 do i=2,il

366 158 vco=(visc(i,j,k)*facl+visc(i,jp,k)*fac2)/pr

367 *  +(emu(i,j,k)*facl+emu(i,jp,k)*fac2)/prt

369 40 dn =((visc(i,j,k) +emu(i,j,k))*facl

370 *  +(visc(i,jp,k)+emu(i,jp,k))*fac2)

371 *  *vol2/2.

373 460 fvj(1,i,j)=dn*(d1*ui+d5*vi+d6*wi+b1*uj+b5*vj+b7*wj
374 * +f1*uk+f7*vk+f9*wk) -2./3.*r1*tk1*sjx*vol22
375 254 fvj(2,i,j)=dn*(d7*ui+d2*vi+d8*wi+b5*uj+b2*vj+b6*wj
376 & +f5*uk+f2*vk+f10*wk) -2./3.*r1*tk1*sjy*vol22
387 enddo

388 3 20 continue

390 do 21 j=max(jse(1,idj),2),min(jse(2,idj),jl)

391 do i=2,il

392 do ir=1,4

393 457 dw(ir+1,i,j,K)=dw(ir+1,i,j,k)-(fvj(iri,j)-fvj(iri,j-1))

76




394 enddo

395 enddo
396 1 21 continue
397 200 continue

D. dw array H& &2 —part 3

<Serial &3 IE>

398 do 30 k=1,kl

399 kp=k+1

400 5 do j=2,jl

401 jp=j+1

402 jm=j-1

403 do i=2,il

540 180 vco=(visc(i,j,k)*facl+visc(i,j,kp)*fac2)/pr

541 *  +(emu(i,j,k)*facl+emu(i,j,kp)*fac2)/prt

543 51 dn =((visc(i,j,k) +emu(i,j,k))*facl+(visc(i,j,kp)

544 *  +emu(i,j,kp))*fac2)*vol2/2.

546 435 fvk(1,i,j,k)=dn*(el*ui+e5*vi+e6*wi+fl*uj+f5*vj+f6*wj
547 * +cl*uk+c5*vk+c7*wk) -2./3.*r1*tk1*skx*vol22
548 273 fvk(2,i,j,k)=dn*(e7*ui+e2*vi+e8*wi+f7*uj+f2*vj+f8*wj
549 * +c5*uk+c2*vk+c6*wk) -2./3.*r1*tk1*sky*vol22
559 enddo

560 3 enddo

561 30 continue

562 do 31 k=2,kl

563 do j=2,jl

564 do i=2,il

565 do ir=1,4

566 616 dw(ir+21,i,j,k)=dw(ir+1,i,j,k)-(fvk(ir,i,j,k)-fvk(ini,j,k-1))
567 enddo

568 enddo

569 enddo

570 31 continue

<MPI &3t ZE=>

403 do 30 k=max(kse(1,idk)-1,1),min(kse(2,idk),kl)
404 kp=k+1

406 do j=max(jse(1,idj),2),min(jse(2,idj),jl)

407 jp=j+1

408 jm=j-1

409 18 do i=2,il

410 ip=i+1

546 452 vco=(visc(i,j,k)*facl+visc(i,j,kp)*fac2)/pr

547 *  +(emu(i,j,k)*facl+emu(i,j,kp)*fac2)/prt
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549 108 dn =((visc(i,j,k) +emu(i,j,k))*facl+(visc(i,j,kp)

550 * +emu(i,j,kp))*fac2)*vol2/2.

552 171 fvk(1,i,j,k)=dn*(el*ui+e5*vi+e6*wi+fl*uj+f5*vj+f6*wj
553 * +c1*uk+c5*vk+c7*wk) -2./3.*r1*tk1*skx*vol22
554 441 fvk(2,i,j,k)=dn*(e7*ui+e2*vi+e8*wi+f7*uj+f2*vj+f8*wj
555 * +c5*uk+c2*vk+c6*wk) -2./3.*r1*tk1*sky*vol22
565 enddo

566 7 enddo

567 30 continue

569 do 31 k=max(kse(1,idk),2),min(kse(2,idk),kl)

571 1 do j=max(jse(1,idj),2),min(jse(2,idj),jl)

572 do i=2,il

573 doir=1,4

574 552 dw(ir+21,i,j,k)=dw(ir+1,i,j,k)-(fvk(ir,i,j,k)-fvk(iri,j,k-1))
575 enddo

576 enddo

577 enddo

578 31 continue

-

@ dw arrayE O0IEE M 222 MPlrankIt dHY FHeH HaS =S XIEH
=RALCH.

@ dw arrayE H &G RHA 22 fuk(x,*,j-1) L fvk(*,*,x k-1)2 g2 20Ok
Sl 2ol 2 f12 do-loopUlA max(jse(1,idj)-1,1) ¥ max(kse(1,idk)-1,1)
e 20l 2t =& YU2H 0 He&h L jp=j+1, kp=k+1LMH2 H &

S = J
A 2O visc arrayE HAME [ GAl SLoHAH do-loopl F#2t2 S EIMLCE.

ﬂJIO
el

5. vsfluxz2, vsfluxz3 €&l

Z2=2 FEOPD| 20 st

oIULE OIS B4==2 vsfluxz2, vsfluxz3 SEINA H A

o0
H1

e

_>'|_|

=)

n

[

¥

10

IR

ogr
oz

0

@® vsfluxz2 : dwz2
@ vsfluxz3 : dwz3

6. bound ZE

A. w, ur, vr,wr, p, tarray H& HE

<Serial &g DE>

3 do 100 k=2,kl
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4 do 100 j=2,jl

5 do ir=1,5

6 78 w(ir,i2,j,k)=w(ir,il,j,k)

7 enddo

8 ur(i2,j,k)=ur(il,j,k)

9 vr(i2,j,k)=vr(il,j,k)
10 wr(i2,j,k)=wr(il,j,k)
11 14 p(i2,j,k)=p(il,j,k)

12 15 1(i2,J,k)=p(i2,j,k)/w(1,i2,j,k)
13 100 continue
15 do 300 j=2,jl
16 do 300 i=1,i2
17 do ir=1,5
18 2 w(ir,i,j,k2)=w(ir,i,j,kl)
19 5 w(iri,j,1)=w(iri,j,2)
20 enddo
21 2 ur(i,j,k2)=ur(i,j,kl)
22 1 vr(i,j,k2)=vr(i,j,kl)
23 3 wr(i,j,k2)=wr(i,j,kl)
24 t(i,j,k2)=t(i,j,kl)
25 p(i.j,k2)=p(i,j,kl)
26 ur(i,j,1)=ur(i,j,2)
27 5 vr(i,j,1)=vr(i,j,2)
28 wr(i,j,1)=wr(i,j,2)
29 2 t(i,j,1)=t(i,j,2)
30 4 p(i.j,1)=p(i.j,2)
31 300 continue
34 do 200 k=1,k2
35 do 200 i=1,i2
37 do ir=1,5
38 9 w(ir,i,j2,k)=w(ir,i,jl,k)
39 11 w(iri,1,k)=w(iri,2,k)
40 enddo
41 3 ur(i,j2,k)=ur(,jl,k)
42 1 vr(i,j2,k)=vr(i,jl,k)
43 2 wr(i,j2,k)=wr(i,jl,k)
44 t(i,j2,k)=t(i,jl,k)
45 p(i.j2,k)=p(i,jl,k)
46 6 ur(i,1,k)=ur(i,2,k)
47 1 vr(i,1,k)=vr(i,2,k)
48 9 wr(i,1,k)=wr(i,2,k)
49 2 t(i,1,k)=t(i,2,k)
50 p(i,1,k)=p(i,2,k)
51 200 continue

<MPl €3 &>
19 do 100 k=max(kse(1,idk)-2,2),min(kse(2,idk)+2,kl)
20 1 do 100 j=max(jse(1,idj)-2,2),min(jse(2,idj)+2,jl)
21 do ir=1,5
22 49 w(ini2,j,k)=w(ir,il,j,k)
23 enddo
24 32 ur(i2,j,k)=ur(il,j,k)
25 22 vr(i2,j,k)=vr(il,j,k)
26 13 wr(i2,j,K)=wr(il,j,k)

79




27 13 p(i2,j,k)=p(il,j,k)

28 11 1(i2,),k)=p(i2,j,k)/w(1,i2,j,k)

29 2 100 continue

30 if(idk.eq.0) then

32 do 300 j=max(jse(1,idj)-2,2),min(jse(2,idj)+2,jl)

33 do 300 i=1,i2

34 do ir=1,5

35 7 w(ir,i,j,1)=w(ir,i,j,2)

36 enddo

37 4 ur(i,j,1)=ur(i,j,2)

38 2 vr(i,j,1)=vr(i,j,2)

39 wr(i,j,1)=wr(i,j,2)

40 2 t(i,j,1)=t(i,j,2)

Al 1 p(i.j,1)=p(ij,2)

42 300 continue

43 endif

44 if(idk.eq.nprock-1) then

46 do 309 j=max(jse(1,idj)-2,2),min(jse(2,idj)+2,jl)

47 do 309 i=1,i2

48 do ir=1,5

49 9 w(ir,i,j,k2)=w(ir,i,j,kl)

50 enddo

51 3 ur(i,j,k2)=ur(i,j,kl)

52 vr(i,j,k2)=vr(i,j,kl)

53 1 wr(i,j,k2)=wr(i,j,kl)

54 1 t(i,j,k2)=t(i,j,kl)

55 p(i.j,k2)=p(i,j,kl)

56 309 continue

57 endif

60 if(idj.eq.0) then

62 do 200 k=max(kse(1,idk)-2,1),min(kse(2,idk)+2,k2)

63 do 200 i=1,i2

65 do ir=1,5

66 19 w(ini,1,K)=w(ini,2,k)

67 enddo

68 10 ur(i,1,k)=ur(i,2,k)

69 vr(i,1,k)=vr(i,2,k)

70 2 wr(i,1,k)=wr(i,2,k)

71 t(i,1,k)=t(i,2,k)

72 p(i,1,k)=p(i,2,k)

73 200 continue

74 endif

@ w,ur,vr,wr, t, parrayg P& Mf 222 MPlrankdt oY 0 HAS GIES

XNEM F=ACH LSS0l Z2H 222 8t2 accessot)l WE0 2 ranke F2+0]
ZHRES N2 SHSI0 ZETZ do-loopS +#otd AUCH L3 k=1,k2
2 j=1 CHoll H&E O idk B ¥ idj H=+E 0I25t¢H 0 S92 EL&ot=
rank2t =g = UAE=F oA

B. Zone2Ul A w, ur, vr, wr, p, t array H&t
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<Serial &g DE>

76
7
78
79
80
81
82 1
83
84
85
86
87
88
89 1
90
91
92
93

if(number_zone.ge.2) then
=1
do 301 k=kszone2+1,kezone2
do 301 i=iszone2+1,iezone2
iz2=i-iszone2+1
kz2=k-kszone2+1
ur(i,j,K)=urz2(iz2,jlz2,kz2) ! need correction
vr(i,j,k)=vrz2(iz2,jlz2,kz2)
wr(i,j,K)=wrz2(iz2,jlz2,kz2)
p(i.j,K)=pz2(iz2,jlz2,kz2)
w(l,i,1,k)=wz2(1,iz2,jlz2,kz2)
w(2,i,1,K)=ur(i,j,k)*w(1,i,j,k)
w(3,i,1,k)=vr(i,j,k)*w(1,i,j,k)
w(4,i,1,k)=wr(i,j,k)*w(1,i,j,k)
w(5,i,1,k)=p(i,j,k)/gamm+0.5*w(1,i,j,k)*
* (ur(i,j,K)**2+vr(i,j,k)**2+wr(i,j,k)**2)

t(i,1,k)=p(i,1,k)/w(1,i,1,k)

301 continue

<MP| H&3 =S

121 nr=5
122 if(number_zone.ge.2) then
125 call cast10(urz2,vrz2,wrz2,pz2,wz2,
126 & urz20,vrz20,wrz20,pz20,wz20,
127 & imxz2,jmxz2,kmxz2,i2z2,nproc,id,nprocj,nprock,idj,idk,
128 & jsez2,ksez2,jlz2,nprocj-1,nr)
129
130 j=1
131 if(idj.eq.0) then
133 do 301 k=max(kse(1,idk)-2,kszone2+1),min(kse(2,idk)+2,kezone2)
134 do 301 i=iszone2+1,iezone2
135 iz2=i-iszone2+1
136 kz2=k-kszone2+1
138 ur(i,j,k)=urz20(iz2,kz2) ! need correction
140 vr(i,j,k)=vrz20(iz2,kz2)
142 wr(i,j,k)=wrz20(iz2,kz2)
144 p(i,j,k)=pz20(iz2,kz2)
146 w(1,i,1,k)=wz20(iz2,kz2)
147 w(2,i,1,K)=ur(i,j,k)*w(1,i,j,k)
148 w(3,i,1,k)=vr(i,j,k)*w(1,i,j,k)
149 w(4,i,1,K)=wr(i,j,k)*w(1,i,j,k)
150 1 w(5,i,1,K)=p(i,j,k)/gamm+0.5*w(1,i,j,k)*
151 & (ur(i,j,k)**2+vr(i,j,k)**2+wr(i,j,k)**2)
152 t(i,1,k)=p(i,1,k)/w(1,i,1,k)
153 301 continue
154 endif
91 subroutine cast10(ur,vr,wr,p,w,
92 & ur0,vrO,wr0,p0,w0,
93 & imx,jmx,kmx,i2,nproc,id,nprocj,nprock,idj,idk,
94 & jse kse,j,jproc,nr)
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111 DO kk=0,nprock-1

112 ks=kse(1,kk)

113 2 ke=kse(2,kk)

114 nk=ke-ks+1

116 jj=jproc

119 nj=1

120 idd=jj+nprocj*kk

121

122 IF(id.eq.idd) THEN

125 11=1

126 do k=ks,ke

128 do i=1,i2

129 5 BUFF(11)=ur(i,j,k)
130 11=11+1

131 6 BUFF(I11)=vr(i,j,k)
132 11=11+1

133 BUFF(11)=wr(i,j,k)
134 11=11+1

135 1 BUFF(11)=p(i,j,k)
136 11=11+1

137 5 BUFF(11)=w(1,i,j,k)
138 11=11+1

139 enddo

140 enddo

141 ENDIF

142 isrce=idd

143 len=5%*i2*nj*nk

144 CALL MPI_BCAST(BUFF,len,MPI_REAL8,isrce,MPI_COMM_WORLD,ierr)
145 11=1

146 do k=ks,ke

147 do i=1,i2

148 98 ur0(i,k)=BUFF(I1)
149 5 11=11+1

150 131 vrO(i,k)=BUFF(11)
151 35 11=11+1

152 62 wrO(i,k)=BUFF(11)
153 1 11=11+1

154 47 pO(i,k)=BUFF(11)
155 11=11+1

156 23 wO(i,k)=BUFF(11)
157 15 11=11+1

158 enddo

159 4 enddo

161 1 ENDDO

S

=]
Al
tn
Q
%
o
02
12
=
lo
£
e
2
kJ

=X U= ur, vr, wr, p, W
l= = j=jlz22 2 = accessotAH &I 20 MPI 2

= subroutine2 callot®d ur, vr, wr, p, w arrayOll CHoll A
j=ilz2Lmel gt 20 YAs 2 ranks0l & ZEZZMIAON broadcastingE & =

ofe Ai&ts &otH =ICh.
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idk=nprock-1

idk=nprock-2

idk=1

idk=0

zZonez?

idj=nprocj-2

18 1.4 Zone 201 M2 GIOIE & wat:

C. Zone30lA w, ur, vr, wr, p, t array A&t

<Serial &g DE>

T idj=anucj— J

jlz25222-1

95
96
97
98
99
100
101
102
103
104
105
106
107
108
109
110

do 302 k=kszone3+1,kezone3

do 302 i=iszone3+1,iezone3
iz3=i-iszone3+1

kz3=k-kszone3+1
ur(i,j,k)=urz3(iz3,jlz3,kz3) ! need correction
vr(i,j,k)=vrz3(iz3,jlz3,kz3)
wr(i,j,k)=wrz3(iz3,jlz3,kz3)
p(i,j,kK)=pz3(iz3,jlz3,kz3)
w(1,i,1,k)=wz3(1,iz3,jlz3,kz3)
w(2,i,1,k)=ur(i,j,k)*w(1,i,j,k)
w(3,i,1,k)=vr(i,j,k)*w(1,i,j,k)
w(4,i,1,K)=wr(i,j,K)*w(1,i,j,k)
w(5,i,1,K)=p(i,j,k)/gamm+0.5*w(1,i,j,K)*

* (ur(i.,j,k)**2+vr(i,j,k)**2+wr(i,j,k)**2)

t(i,1,k)=p(i,1,k)/w(1,i,1,k)

302 continue

<MPI &3 ZE>

158

call cast10(urz3,vrz3,wrz3,pz3,wz3,
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159 & urz30,vrz30,wrz30,pz30,wz30,
160 & imxz3,jmxz3,kmxz3,i2z3,nproc,id,nprocj,nprock,idj,idk,
161 & jsez3,ksez3,jlz3,nprocj-1,nr)
162 if(idj.eq.0) then
164 do 302 k=max(kse(1,idk)-2,kszone3+1),min(kse(2,idk)+2,kezone3)
165 do 302 i=iszone3+1,iezone3
166 iz3=i-iszone3+1
167 kz3=k-kszone3+1
169 ur(i,j,k)=urz30(iz3,kz3) ! need correction
171 vr(i,j,k)=vrz30(iz3,kz3)
173 wr(i,j,k)=wrz30(iz3,kz3)
175 p(i,j,k)=pz30(iz3,kz3)
177 w(1,i,1,k)=wz30(iz3,kz3)
178 w(2,i,1,k)=ur(i,j,k)*w(Z,i,j,k)
179 w(3,i,1,k)=vr(i,j,k)*w(d,i,j,k)
180 w(4,i,1,k)=wr(i,j,k)*w(1,i,j,k)
181 w(5,i,1,k)=p(i,j,k)/gamm+0.5*w(1,i,j,k)*
182 * (ur(i,j,k)**2+vr(i,j,k)**2+wr(i,j,k)**2)
183 t(i,1,k)=p(i,1,k)/w(1,i,1,k)
184 302 continue
@ Zone 20ilM S DH&RIDJIRIZ 2t rank0l CHOH 2210l 2ES0f 6HY 2o} LHSl 3ot
20 Aes ur, vr, wr, p, woarraylll Z&35t0 U= L= j=iz3Y Mol 2
accessotH EJI &0 MPI ZE0lAM= cast1i0 subroutineE callot™ ur, vr,
wr, p, w array0ll CHolt A j=jlz32 el gt& &1 U= 2 rankS0l 8 Z2Z2 MIA0
broadcastingE & & oY Héts =3otH &L
K
zone3
idk=nprock-1 e
idk=nprock-2 T
{* I
: :
1 1
I I -
______ e s 1 .‘-'J
I - -
I AT
I P -
idk=1 1 st 8
idk=0 i )

idj=0

idj=1
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7. boundturb, boundzone2, boundzone3, boundturbzone2,

boundturbzone3 €l

bound REI 42| Hl==otH REZN Ul 20 SLE HASZ £=FHEIH mpi HE
3t oIRCH OIS B4=2 boundturb, boundzone2, boundzone3, boundturbzone2,
boundturbzone3 FEIHAM HEHE= HE-=2 MPI HE3t2 Qlaoll 2 rank0ll CHolA ol

AL HHETH

boundturb : wtk, wtom, tk, tom, emu
boundzone? : wz2, urz2, vrz2, wrz2, pz2, tz2
boundzone3 : wz3, urz3, vrz3, wrz3, pz3, tz3

boundturbzone? : wtkz2, twomz2, tkz2, tomz2, emuz?2

@ ® @ o

boundturbzone3 : wrkz3, twomz3, tkz3, tomz3, emuz3

8. turhs FEl

A. visc array H& 22

<Serial &g DE>

102 do k=1k2

103 do j=1,j2

104 do i=1,2

105 315 visc(i,j,k) = (t(i,j,k)/tfree)**vex/res
106 enddo

107 enddo

108 enddo

158 do k=max(kse(1,idk)-1,1),min(kse(2,idk)+1,k2)
160 do j=max(jse(1,idj)-1,1),min(jse(2,idj)+1,j2)
161 do i=1,i2

162 157 visc(i,j,k) = (t(i,j,k)/tfree)**vex/res

163 84 enddo

164 1 enddo

165 enddo

@ visc arrayES HME I FOA 2 ranke ZHE20 U= S accessold| [
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S0l 2 rank0ll CHEH H& oS FHREE ZEGIEZ FOIA do loopE
ot UL

B. twarray A4t 2= —partl

<Serial &g DE>

109 do 100 k=2,kl

110 kp=k+1

111 km=k-1

112 1 do 100 j=2,jl

113 jp=j+1

114 jm=j-1

117 1 do 10 i=1,il

118 ip=i+1

119 20 vol2=vol(i,j,k)+vol(ip,j,k)

185 142 10 continue

316 1 do 14 i=2,il

317 ip=i+1

318 im=i-1

319 do ir=1,2

320 52 tw(iri,j,k)=tw(ir,i,j,k)

321 * -(fv(iri)-fv(iri-1))

322 enddo

323 14 continue

325 2 100 continue

<MPl &3 DE>

167 do 100 k=max(kse(1,idk),2),min(kse(2,idk),kI)

168 kp=k+1

169 km=k-1

171 do 100 j=max(jse(1,idj),2),min(jse(2,idj).jl)

172 jp=j+1

173 jm=j-1

176 28 do 10 i=1,il

177 ip=i+1

178 13 vol2=vol(i,j,k)+vol(ip,j,k)

244 10 continue

375 do 14 i=2,il

376 ip=i+1

377 im=i-1

378 do ir=1,2

379 70 tw(ir,i,j,k)=tw(ir,i,j,k)

380 * -(fv(iri)-fv(iri-1))

381 enddo

382 1 14 continue
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384 3 100 continue

C. twarray Hé&t 22 —part 2

<Serial &g DE>

328 do 200 k=2,kl

329 kp=k+1

330 km=k-1

332 3 do 20 j=1,jl

333 jp=j+1

334 do i=2,il

335 ip=i+1

336 im=i-1

338 i vol2=vol(i,j,k)+vol(i,jp,k)

356 548 vise=((visc(i,j,k)+emu(i,j,k)*sigma_tko)*facl
357 * +(visc(i,jp,k)+emu(i,jp,k)*sigma_tko)*fac2)*vol2/2.
358 66 visk=((visc(i,j,k)+emu(i,j,k)*sigmastar_tko)*facl
359 ke +(visc(i,jp,k)+emu(i,jp,k)*sigmastar_tko)*fac2)*vol2/2.
404 fvj(1,i,j)=visk*(b1*tki+b2*tkj+b3*tkk)

405 569 fvj(2,i,j)=vise*(bl*tei+b2*tej+b3*tek)

406 67 enddo

408 2 20 continue

535 do 24 j=2,jl

536 jp=j+1

537 jm=j-1

538 do i=2,il

539 doir=1,2

540 147 tw(ini,j,K)=tw(ir,i,j,k)

541 * -(fvj(ini,j)-fvj(iri,j-1))

542 enddo

543 enddo

544 24 continue

546 200 continue

<MP| H&3 DE=>

388 1 do 200 k=max(kse(1,idk),2),min(kse(2,idk),kl)
389 kp=k+1

390 km=k-1

393 do 20 j=max(jse(1,idj)-1,1),min(jse(2,idj),jl)
395 jp=j+1

396 11 do i=2,il

397 ip=i+1

398 im=i-1

400 vol2=vol(i,j,k)+vol(i,jp,k)

418 246 vise=((visc(i,j,k)+emu(i,j,k)*sigma_tko)*facl
419 & +(visc(i,jp,k)+emu(i,jp,K)*sigma_tko)*fac2)*vol2/2.
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420 46 visk=((visc(i,j,k)+emu(i,j,k)*sigmastar_tko)*facl

421 * +(visc(i,jp,k)+emu(i,jp,k)*sigmastar_tko)*fac2)*vol2/2.
466 430 fvj(1,i,j)=visk*(b1*tki+b2*tkj+b3*tkk)
467 46 fvj(2,i,j)=vise*(b1*tei+b2*tej+b3*tek)
468 enddo

470 20 continue

601 do 24 j=max(jse(1,id}),2),min(jse(2,idj),jl)
602 jp=j+1

603 jm=j-1

604 do i=2,il

605 do ir=1,2

606 110 tw(ir,i,j,k)=tw(ir,i,j,k)

607 * -(fvj(ini,j)-fvj(inij-1))

608 enddo

609 enddo

610 1 24 continue

612 200 continue

@ tw arrayS HAGHI RIGHA 2E2F fvk(*,x,j-1)2 2t2 ZO0L0F GtJI HE0 2 <

° do-loopOlA max(jse(1,idj)-1,1)2 201 RS =& 2K 0 AHa L

jo=j+1 M2l HAZS ot oA 22 visc arrayE H At I DAl SLoHA
do—loopl R2t= EHMLCI.

D. tw array H& 22 —part 3

<Serial &g DE>

559 do 30 k=1,kl

560 kp=k+1

561 5 do i=2,il

562 ip=i+1

563 im=i-1

564 do j=2,jl

565 jp=j+1

566 jm=j-1

568 14 vol2=vol(i,j,k)+vol(i,j,kp)

586 171 vise=((visc(i,j,k)+emu(i,j,k)*sigma_tko)*facl

587 £ +(visc(i,j,kp)+emu(i,j,kp)*sigma_tko)*fac2)*vol2/2.
588 77 visk=((visc(i,j,k)+emu(i,j,k)*sigmastar_tko)*facl

589 * +(visc(i,j,kp)+emu(i,j,kp) *sigmastar_tko)*fac2)*vol2/2.
634 769 fvk(1,i,j,k)=visk*(c1*tki+c2*tkj+c3*tkk)

635 fvk(2,i,j,k)=vise*(cl*tei+c2*tej+c3*tek)

636 enddo

637 10 enddo

639 30 continue
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641
642
643
644
645

664
665
666
667

670
671
672
673
674
675
676
677
678
679
680
681
682

713
714
715
716
717
718
719
720

722
723
724
725
726
727
728
729
730
731

763
764
765
766
767
768
769
770

772
773
774
775
776
777

528

169
155
73

13

164

14

149

do 35 k=1,k2
do j=2,jl
do i=2,il
uu=ur(i,j,k)*ztx(i,j,k)+vr(i,j,k)*zty(i,j,k)
* +wr(i,j,k)*ztz(i,j,k)

tek(d,i,j,k)=vol(i,j,k)*w(1,i,j,k)*tk(i,j,k)*ctp
tck(2,i,j,k)=vol(i,j,k)*w(1,i,j,k)*tom(i,j,k) *ctp
temk(1,i,j,k)=vol(i,j,k)*w(1,i,j,k)*tk(i,j,k)*ctm
temk(2,i,j,K)=vol(i,j,k)*w(1,i,j,k)*tom(i,j,k) *ctm

enddo
enddo
35 continue
do 31 k=2,kl
I=k-1
do j=2,jl
do i=2,il
if((k.eq.2) .or. (k.eq.kl)) then
doir=1,2
tw(ini,j,kK)=tw(ir,i,j,k)+(tck(iri,j,k)-tck(iri,j,k-1))
enddo
else
doir=1,2

tw(ir,i,j,kK)=tw(ir,i,j,k)

* +(1.+0.5*p1)*(tck(iri,j,k)-tck(iri,j,1))

* -0.5*p2*(tck(ir,i,j,)-tck(iri,j,I-1))
enddo
endif

enddo

enddo

31 continue

do 33 k=2,kl
I=k+1
do j=2,jl
do i=2,il
if((k.eq.2) .or. (k.eq.kl)) then
doir=1,2
tw(ini,j,k)=tw(ir,i,j,k)+(tcmk(ir,i,j,1)-tcmk(ir,i,j,K))
enddo
else
do ir=1,2

tw(ini,j,K)=tw(ir,i,j,k)+
* (1.+0.5*p1)*(tcmk(ir,i,j,1)-tcmk(ir,i,j,k))
* -0.5*p2*(tcmk(in,i,j,I+1)-tcmk(ini,j,1))
enddo
endif
enddo
enddo
33 continue

do 34 k=2,kl
kp=k+1
km=k-1

do j=2,jl

do i=2,il

do ir=1,2

89




778
779
780
781
782
783

353

tw(ir,i,j,K)=tw(ir,i,j,k)
* -(fvk(ini,j,k)-fvk(ini,j,k-1))
enddo
enddo
enddo

34 continue

806

383

78
398
109

12

252

do 30 k=max(kse(1,idk)-1,1),min(kse(2,idk),kl)
kp=k+1

do j=max(jse(1,idj),2),min(jse(2,idj),jl)

jp=j+1

jm=j-1

do i=2,il

ip=i+1

im=i-1

vise=((visc(i,j,k)+emu(i,j,k)*sigma_tko)*facl

* +(visc(i,j,kp)+emu(i,j,kp)*sigma_tko)*fac2)*vol2/2.
visk=((visc(i,j,k)+emu(i,j,k)*sigmastar_tko)*facl

Z +(visc(i,j,kp)+emu(i,j,kp)*sigmastar_tko)*fac2)*vol2/2.

fvk(1,i,j,k)=visk*(c1*tki+c2*tkj+c3*tkk)
fvk(2,i,j,k)=vise*(cl*tei+c2*tej+c3*tek)
enddo
enddo

30 continue

do 35 k=max(kse(1,idk)-2,1),min(kse(2,idk)+2,k2)
do j=max(jse(1,idj),2),min(jse(2,idj),jl)
do i=2,il
uu=ur(i,j,k)*ztx(i,j,k)+vr(i,j,k) *zty(i,j,k)
*+wr(i,j,k)*ztz(i,j,K)

tek(1,1,,k)=vol(i,j,K)*W(L,i,j,k)*tk(i,j,k)*ctp
tck(2,1,j,k)=vol(i,j,K)*w(L,i,j,k)*tom(i,j,k)*ctp
temk(L,i,j,k)=vol(i,j,k)*W(L,1,j,k)*tk(i,j,k)*ctm
temk(2,i,j,k)=vol(i,j,k)*w(L,i,j,k)*tom(i,j,k)*ctm

enddo
enddo

35 continue

do 31 k=max(kse(1,idk),2),min(kse(2,idk),kl)

I=k-1

do j=max(jse(1,idj),2),min(jse(2,idj),jl)

do i=2,il

if((k.eq.2) .or. (k.eq.kl)) then

do ir=1,2
tw(in,i,j,K)=tw(ir,i,j,K)+(tck(ir,i,j,k)-tck(ini,j,k-1))

enddo

else
do ir=1,2

tw(iri,j,K)=tw(iri,j,k)
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778
779
780
781
782
783
784

787
788
790
791
792
793
794
795
796
797

829
830
831
832
833
834
835
836

839
840
841
843
844
845
846
847
848
849
850
851

* +(1.+0.5*p1)*(tck(iri,j,k)-tck(iri,j,1))
* -0.5*p2*(tck(in,i,j,)-tck(iri,j,1-1))
enddo
endif
enddo
enddo
31 continue

do 33 k=max(kse(1,idk),2),min(kse(2,idk),kl)

I=k+1
do j=max(jse(1,idj),2),min(jse(2,idj).,jl)

do i=2,il

16 if((k.eq.2) .or. (k.eq.kl)) then
do ir=1,2
1 tw(iri,j,k)=tw(ir,i,j,k)+(tcmk(iri,j,)-tcmk(ir,i,j,k))
enddo
else
do ir=1,2
137 tw(ini,j,K)=tw(ir,i,j,k)+

* (1.+0.5*p1)*(tcmk(ir,i,j,1)-tcmk(ir,i,j,k))
* -0.5*p2*(tcmk(in,i,j,1+21)-tecmk(iri,j,1))
enddo
endif
enddo
1 enddo
33 continue

do 34 k=max(kse(1,idk),2),min(kse(2,idk),kl)
kp=k+1
km=k-1
do j=max(jse(1,idj),2),min(jse(2,idj),jl)
do i=2,il
do ir=1,2
326 tw(ir,i,j,K)=tw(ir,i,j,k)
* - (fvk(ini,j,k)-fvk(iri,j,k-1))

enddo
enddo

1 enddo

34 continue

0z
ol
=

tw arrayE ZOI0IEE W 222 MPI rankJt of

=ALH

= tw arrayS HOI0IEE M fvk(x,*,xk-1)2 22 ZLO0tOF &

£ Jl&totE do-loopOl A max(kse(l,idk)-1,1)2F 20l R2t2 & 2O 0l

Heb Y kp=k+1L M2 HEtE GHI| fIoHAM 22l visc arrayE HAE I SAl =

25t do—-loop2l F2ts =&ML

EEt I=k-12 M tck(*,*,x1-1)2 8t L [=k+1 W2 tcmk(x,*,*1+1)2 B2
)

H&HGHIL fIShA max(kse(1,idk)-2,1).min(kse(2,idk)+2,k2) 2t 20l do-loop2l
X

o Yoipt HUS GHES X
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E. twarray A&t 22 —part4

<Serial &3 DE>

798 do 400 k=2,kl

799 kp=k+1

800 km=k-1

801 do 400 j=2,jl

802 jp=j+1

803 jm=j-1

804 2 do 400 i=2,il

805 ip=i+1

806 im=i-1

929 72 tw(l,i,j,k)=-tw(1,i,j,k)+stk*vol(i,j,k)
930 45 tw(2,i,j,K)=-tw(2,i,j,k)+ste*vol(i,j,k)
931 289 400 continue

<MP| 8&€3 RE>

867 do 400 k=max(kse(1,idk),2),min(kse(2,idk),kl)
868 kp=k+1
869 km=k-1
871 1 do 400 j=max(jse(1,idj),2),min(jse(2,idj),jl)
872 jp=j+1
873 jm=j-1
874 do 400 i=2,il
875 ip=i+1
876 im=i-1
999 196 tw(l,i,j,K)=-tw(1,i,j,k)+stk*vol(i,j,k)
1000 162 tw(2,i,j,k)=-tw(2,i,j,k)+ste*vol(i,j,k)
1001 6 400 continue

@ tw arrayE YOOIEE M 222 MPI rankIl oY IS0t

AL

F. drl, dr2, tkm, ikm, jkm, kkm, tem, iem, jem, kem A

<Serial &3 DE>

At

—

ot== XI&0o
==
T

933 drl=1.e-15

934 dr2=1.e-15

935 tkm=0

936 tem=0

937 do 410 i=2,il

938 1 do 410 j=2,jl

939 do 410 k=2,kl

940 5 drl=drl+tw(1,i,j,k)**2
941 15 dr2=dr2+tw(2,i,j,k)**2
942 2357 if(abs(tw(1,i,j,k)).gt.tkm) then
943 tkm=abs(tw(1,i,j,k))

92




944
945
946
947
948
949
950
951
952
953
954
955
956
957
958
959
960

ikm=i

jkm=j

kkm=k

endif
if(abs(tw(2,i,j,k)).gt.tem) then
tem=abs(tw(2,i,j,k))

iem=i

jem=j

kem=k

endif

410 continue

drl=sqrt(drl)/float((il-1)*(jI-1)*(kl-1))
dr2=sqrt(dr2)/float((il-1)*(jl-1)*(kl-1))
drl=alog10(drl)
dr2=alog10(dr2)
write(*,*) it,drl,dr2,tkm,tem

<MPI &3 ZE>

1005
1006
1007
1008
1010
1012
1013
1014
1015
1016
1017
1018
1019
1020
1021
1022
1023
1024
1025
1026
1027
1028
1029
1030
1031
1032
1033
1034
1035
1036
1037
1038
1039
1040
1041
1042
1043

51

58

dr(1)=0.

dr(2)=0.
tkm=0
tem=0

do 410 k=max(kse(1,idk),2),min(kse(2,idk),kl)

do 410 j=max(jse(1,idj),2),min(jse(2,idj),jl)

do 410 i=2,il
dr(1)=dr(1)+tw(1,i,j,k)**2
dr(2)=dr(2)+tw(2,i,j,k)**2

if(abs(tw(1,i,j,k)).gt.tkm) then

tkm=abs(tw(1,i,j,k))

ikm=i

jkm=j

kkm=k

endif

if(abs(tw(2,i,j,k)).gt.tem) then

tem=abs(tw(2,i,j,k))

iem=i

jem=j

kem=k

endif

410 continue

CALL MPI_ALLREDUCE(dr,drs,2,MPI_REALS,
& MP1_SUM,MPI_COMM_WORLD,ierr)

dr(1)=drs(1)

dr(2)=drs(2)

tkme(1)=tkm

tkme(2)=tem

CALL MPI_ALLGATHER((tkme,2,MPI_REAL8,buffproc,2,MP1_REALS,
& MPI_COMM_WORLD,ierr)

kk1=id0

kk2=id0

tkm=buffproc(1,kk1)

tem=buffproc(2,kk2)

DO kk=1,nproc-1
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1044
1045
1046
1047
1048
1049
1050
1051
1052
1053
1054
1055
1056
1057
1058
1059
1060
1061
1062
1063
1064
1065
1066
1067
1068
1069
1070
1071
1072
1073
1074
1075
1076
1077
1078
1079
1080
1081
1082
1083
1084

if(abs(buffproc(1,kk)).gt.tkm) then
tkm=abs(buffproc(1,kk))
kk1=Kkk
endif
if(abs(buffproc(2,kk)).gt.tem) then
tem=abs(buffproc(2,kk))
kk2=Kkk
endif
enddo
if(id.eq.kk1) then
ibuff(1)=ikm
ibuff(2)=jkm
ibuff(3)=kkm
ENDIF
isrce=kk1
len=3
CALL MPI_BCAST(IBUFF,len,MPI_INTEGER4,isrce,MPI_COMM_WORLD,ierr)
ikm=ibuff(1)
jkm=ibuff(2)
kkm=ibuff(3)
if(id.eq.kk2) then
ibuff(1)=iem
ibuff(2)=jem
ibuff(3)=kem
ENDIF
isrce=kk2
len=3
CALL MPI_BCAST(IBUFF,len,MPI_INTEGER4,isrce,MPI_COMM_WORLD,ierr)
iem=ibuff(1)
jem=ibuff(2)
kem=ibuff(3)

dr(1)=dr(1)+1.e-15
dr(2)=dr(2)+1.e-15
dr(21)=sqrt(dr(1))/float((il-1)*(jl-1)*(kl-1))
dr(2)=sqart(dr(2))/float((il-1)*(jl-1)*(kl-1))
dr(1)=alog10(dr(1))
dr(2)=alog10(dr(2))
if(id.eq.id0) then
write(*,*) it,dr(1),dr(2),tkm,tem
endif

-

2k rank0ll CHoll oY &
AFSHCE

2t rankOll CHSt dr arraye F
MPI_SUM operator€ 0|&3dt(H

18
1o
3

oF 2t QU= tw arrayE 0l20lH dr arrays A

-

o
o

Ct & rankOlA MPI_ALLREDUCE =E2
[0l CHet & HE -8t = drs arrayOll X &stCh.
tw(1,i,k) & tw(2,i,j,k) 2 zICHatE Foldl oA HAH 2 rankOll A tw(1,i,j,k)
tw(2,i,j,k)2 =ttt tkm & temS 78 & 012 tkme arrayOl M&SHCH &l
tkme arrayE MPI_ALLGATHER F& & 0|20t buffproc array® M& &t
X bufforoc(1,*)2 =HatES &0t tkmE 6t buffproc(2,+)2 X CHat
0t tem= RetCH. £8F OIIHEl buffproc array indexE O0IZ6tH oY rank
2

kk1, kk22 =0F W2 0 sHEot= ikm, jkm,kkm & iem, jem, kem gt 2=

M
T @ 2

e

_,_

0o o

=2
=
=
-/
2

-
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ibuff arraryil M&sSt = MPI_BCAST RE 2 0l2dtH &l rankOll 8o =Ct.

@ =zEsHo=Z A rank0l CHoH ikm, jkm, kkm & iem, jem, kemOl H & H =ICH.

9. turhszone2, turhszone3 FEl

turhs SE B 01§ T X0l & & HA = 22 SO B0 s2e g4
| H&HE

2 =80t mpi &3 otULH L2 B1==2 turhszone?2, turhszone3 FEI0 A
=

@ turhszone? : twz?2

@ turhszoned : twz3

10. turbkom ZFREl

A. wtk, wtom, tk, tom, emu array H & 22

<Serial &g DE>

20 do 600 k=2,kI
21 16 do 600 j=2,jl
22 do 600 i=2,il
23 183 witk(i,j,k)=wtkn(i,j,k)
24 * +rungefactor*tw(1,i,j,k)/vol(i,j,k)
25 315 wtom(i,j,k)=wtomn(i,j,k)
26 * +rungefactor*tw(2,i,j,k)/vol(i,j,k)
31 16 tk(i,j, k)=wtk(i,j,k)/w(1,i,j,k)
32 154 tom(i,j,k)=wtom(i,j,k)/w(1,i,j,k)
33 224 if(tom(i,j,k).It.tomfree) then
34 4 tom(i,j,k)=tomfree
35 wtom(i,j,k)=w(1,1,J,K)*tom(i,j,k)
36 endif
42 8 emu(i,j,k)=tk(,j,k)/tom(i,j,k)
43 354 if(emu(i,j,k).gt.emumax) then
44 emu(i,j,k)=emumax
45 tk(i,j,k)=emu(i,j,k)*tom(i,j,k)
46 wik(i,j,k)=tk(i,j,k)*w(1,i,j,k)
47 endif
66 600 continue
<MPlI HE3& DE>
23 ks=kse(1,idk)
24 ke=kse(2,idk)
25 js=jse(d1,idj)
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26 je=jse(2,idj)

27 call mpi_com_pm2_2(tw,imx,jmx,kmx,i2,k2,

28 & nprocj,nprock,idj,idk,js,je,ks,ke)

32 do 600 k=max(kse(1,idk)-2,2),min(kse(2,idk)+2,kl)

33 do 600 j=max(jse(d,idj)-2,2),min(jse(2,idj)+2,jl)

34 do 600 i=2,il

35 178 witk(i,j,k)=wtkn(i,j,k)

36 * +rungefactor*tw(1,i,j,k)/vol(i,j,k)

37 192 wtom(i,j,k)=wtomn(i,j,K)

38 £ +rungefactor*tw(2,i,j,k)/vol(i,j,k)

39 317 tk(i,j,K)=wtk(i,j,k)/w(,i,j,k)

40 303 tom(i,j,k)=wtom(i,j,k)/w(Z,i,j,k)

41 61 if(tom(i,j,k).It.tomfree) then

42 2 tom(i,j,k)=tomfree

43 30 wtom(i,j,k)=w(1,1,J,K)*tom(i,j,k)

44 endif

45 127 emu(i,j,k)=tk(i,j,k)/tom(i,j,k)

46 141 if(emu(i,j,k).gt.emumax) then

47 emu(i,j,k)=emumax

48 1 tk(i,j,k)=emu(i,j,k)*tom(i,j,k)

49 148 wik(i,j,k)=tk(i,j,k)*w(1,i,j,k)

50 endif

51 600 continue
turhs FEIE XAUH 2 rank0l oiEoteE <9 Wl tw array &2 & &El=dl,
O30 2= AHAMBENM ZH 222 tw arrayE accessotdl WEO0
mpi_comm_pm2_2 FEZ callotd BH £22 dataE 02l Mol =Ch
25259 arrayE H&E MH0l= 22 MPI rankJb oile S8 HAGHESE XNI&EH =

ALH.

B. tkm, ikm, jkm, kkm, tem, iem, jem, kem H& 22

<Serial

zHg BE>

18
19
20
21
22

53
54
55
56
57
58
59
60
61
62
63
64

16

34

tkm=0
tem=0
do 600 k=2,kl
do 600 j=2,jl
do 600 i=2,il

if(tk(i,j,k).gt.tkm) then
tkm=tk(i,j,k)

ikm=i

jkm=j

kkm=k

endif
if(tom(i,j,k).gt.tem) then
tem=tom(i,j,k)

iem=i

jem=j

kem=k

endif
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66

600 continue

<MPI &3t ZE=>

74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99
100
101
102
103
104
105
106
107
108
109
110
111
112
113

tkme(1)=tkm

tkme(2)=tem

CALL MPI_ALLGATHER(tkme,2,MPI_REALS8,buffproc,2,MPI_REALS,
& MPI_COMM_WORLD,ierr)

kk1=idO

kk2=id0

tkm=buffproc(1,kk1)

tem=buffproc(2,kk2)

DO kk=1,nproc-1

if(buffproc(1,kk).gt.tkm) then

tkm=buffproc(1,kk)

kk1=Kkk

endif

if(buffproc(2,kk).gt.tem) then

tem=Dbuffproc(2,kk)

kk2=Kkk

endif

enddo

if(id.eq.kk1) then

ibuff(1)=ikm

ibuff(2)=jkm

ibuff(3)=kkm

ENDIF

isrce=kk1

len=3

CALL MPI_BCAST(IBUFF,len,MPI_INTEGER4,isrce,MPI_COMM_WORLD,ierr)

ikm=ibuff(1)
jkm=ibuff(2)
kkm=ibuff(3)
if(id.eq.kk2) then
ibuff(1)=iem
ibuff(2)=jem
ibuff(3)=kem
ENDIF

isrce=kk2

len=3

CALL MPI_BCAST(IBUFF,len,MPI_INTEGERA4,isrce,MPI_COMM_WORLD,ierr)

iem=ibuff(1)
jem=ibuff(2)
kem=ibuff(3)

11. turbkomzone2, turbkomzone3 FEl

HEO ROl Y o Dol £ 22 EOD| 20 S

012
i 2923 GIQICH OIS BH+==2 turbkomzone?2, turbkomzone3 &
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Ol HotEl= BH==0ICkH

12.

A.

M turbkomzone? : wtkz2, wtomz2, tkz2, tomz2, emuz2

@ turbkomzoned : wtkz3, wtomz3, tkz3, tomz3, emuz3

outputtest FEl

O rankZ data &8& = Z1E writedols &

<Serial = &3 DE>

tmp=1

open(17, file="flowxy.dat")
open(18, file="flowxz.dat")
open(19, file="flowzy.dat")

write(17,11)

write(17,*) 'variables= x, y, u, v, w, p, r, tk, tom'

write(17,2144) il jl
k=kk

do 30 j=1,jl

do 30 i=1,il

write(17,101) x(1,i,j,k),x(2,i,j,K),ur(i,j,k),vr(i,j,K),wr(i,j,k)

* ,P(0.j,K),W(L,i,j,k),tk(i,j,k),tom(i,j,K)
30 continue

12
13
14
15
16
17
18
19
20
21
22
23
24
25

123

call mpi_com_output(w,ur,vr,wr,p,wtk,wtom,tk,tom,

& imx,jmx,kmx,i2,nproc,id,nprocj,nprock,idj,idk,
& jse,kse,maxmpil)

if(id.eq.0) then

tmp=1

open(17, file="flowxy.dat")
open(18, file="flowxz.dat")
open(19, file="flowzy.dat")
write(17,11)

write(17,*) 'variables= x, y, u, v, w, p, r, tk, tom'

write(17,2144) il jl
k=kk

do 30 j=1,jl

do 30 i=1,il

write(17,101) X(L,i,j,K).X(2,1,,K),ur(i.j.k),vr(i.j,k),wr(i,j,k)

B p(.j.K),w(1,i,j,k),tk(i,j,k),tom(i,j,k)
30 continue

endif

@ w, ur, vr, p, wtk, wtom, tk, tom arrayOll CHoll 2t2r2l MPI rankJt
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O] gt2 mpi_com_output FEEIS 01835t 0 rankE Y CtS 0 rankWlA Ol

[

writect= £ &0ICt.
13. outputtestz2, outputtestz3 FE!

outputtest FEI B4 0|SE XH0lE & He £ 22 FEOD| =20 sLet A2

Z +&otH mpi &3t otALEH
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9. MPI HESI 2
K% jgdseoz ZF MPI HE3E XAMGICIELI array dataE O 1 &= S&EOHA
FEE 220 UUSH, speedup2 MEIEHOZ UFS Bs5S 20},
IBM p690+ 1.7GHz AIAE0MHA MPI H8€3 DEE st Zute S 2.
# Original 2 & Serial = &3t MPI 2E Speedup vs Speedup vs
Tasks s Serial = & 3} Original 2 &
nE
1 164.84 58.12 - - -
2 - - 29.81 1.95 5.53
4 - - 15.42 3.77 10.69
8 - - 8.34 6.97 19.74
16 - - 4.53 12.83 36.39
&< : sec / Iteration
Speedup vs Serial X3 I =
18
16 —
Ideal Speedup /
14 MPI 2 & Speedup /
>
5 10 l///::;”,/"
o
a 8
(7p) //
6
4
2 /

8 9

# CPU

6 7

10 11

12 13 14 15 16 17

100



10. Summary

OlZot0d X+

Jb do loopE

nE

INE=DN;

ZHEe WE=2

M serial

=
=

A= EFS cache miss

i

cache miss

ore
(=

BHE = access& M

ENE ST

do—-loop2

ot =2
4

LS

22X

J
ol
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i0)
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i olf 8L Ct.

subroutine Ol
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tEez o

i0J
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T
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writeo
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CHAPTER Il. CTBL 2E&=

1. Code information

CFD Simulation Z &, DCTBL Z &

2. Makefile

Original 2 =2 Makefile

FFLAGS= -p -03 -garch=pwr4 -gtune=pwr4 -grealsize=8 -qdpc=e -gnolm -gnosave
FFLAG = -p -O3 -garch=pwr4 -qtune=pwr4 -qrealsize=8 -qdpc=e -qnolm -gnosave
FC= xIf
LIB =
dctbl: $(OBJS)
$(FC) $(FFLAG) $@.0 -0 $@ $(OBJS) $(LIB) -bmaxdata:0x40000000 W
-bmaxstack:0x10000000

X M3 TEO Makefile

FFLAGS= -p -03 -gnosave -garch=pwr4 -gtune=pwr4 -grealsize=8 -qdpc=e
FFLAG = -p -O3 -gnosave -garch=pwr4 -qtune=pwr4 -grealsize=8 -qdpc=e
FC= xIf
LIB= libfft.a
dctbl: $(OBJS)
$(FC) $(FFLAG) $@.0 -0 $@ $(OBJS) $(LIB) -bmaxdata:0x40000000 W
-bmaxstack:0x10000000 -pg —g

OpenMP E&3 ZE=2| Makefile

FFLAGS= -03 -gnosave -garch=pwr3 -gtune=pwr3 -qrealsize=8 -qdpc=e W
-gsmp=noauto -greport=smplist -gsource
FFLAG = -03 -gnosave -garch=pwr3 -qtune=pwr3 -grealsize=8 -qdpc=e W
-gsmp=noauto -qreport=smplist
FC= xIf_r
LIB = ../large/libfft.a
dctbl: $(OBJS)
$(FC) $(FFLAG) $@.0 -0 $@ $(OBJS) $(LIB) -bmaxdata:0x80000000 W
-bmaxstack:0x10000000

—gnosave
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o

: Fortran2 2 Y= staticB==2 automatic BH==It ULt static H+= Z2 00| 2¢
HDtXl data storagesOil B1==2| M2l Z2t01 H=Z =X ZIM, Fortran77 ZML WA=
II2H2R static 2EHSTE AMESICH —gnosavesd 2 ZE 2ZHSE automatic H=
2 MEdlE=E £22, automatic H=== stack storage32t0l M & &Lt

—qrealsize=8

D kind EFRIOI NIEEHA @2 S8, a8 a &, B, 85 52

2 3t A2ICH
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3. Flow Chart

Tz )gHo] MEHAEQl X = S 20l fileopen, settup, gettup, end2 A0l T HU

[l ayw e BYwi

Ct. FileopenUl Al inputllt2 2 42 = settupWllAd meshE MAGHLD, getupUlAl g2 A&
E

ot= ZEOICt. Solverll FEI2 Ax=b2| HEUFZAZ Z =0, tomas-algorithmZ AtS

ot(d, banded tridiagonal matrix€ 21 ULk,

fileopen
setup mesh
¥ indices
divcheck
‘L iniwave mefricpoisson
cfl
> getup 71— bcomd
Y uhcalkc RHS1,2.3 tdmai
THIST
GETDUH1.2,3 1dmai
Y
DIVCHECK ctdma3

@ — DPCALC RHSDP

TAKEDP

UPCALC

ZJ&.11.1 DCTBL flow chart
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4. Profiling i}

=

CIS2 Original2 &, &gt &=X2E, OpenMP YHE IS 8 2 Z=z02al 21
OICt. Original2Z&2| Tdma MEREZ zE3tE =XN2EUH A= tdmai, tdmaj, tdmailz 2
cl oA Ch.

<Original Z&2| profiling Z 1>

ngranularity: Each sample hit covers 4 bytes. Time: 720.60 seconds

% cumulative self self total

time seconds seconds calls ms/call ms/call name

14.6 105.13 105.13 50 2102.60 2102.60 .upcalc [6]

13.1 199.88 94.75 50 1895.00 2137.22 .getduh3 [5]

10.8 277.92 78.04 50 1560.80 1800.72 .getduh2 [7]

10.3 352.50 74.58 50 1491.60 9920.70 .uhcalc [4]
10.0 424.70 72.20 50 1444.00 1685.36 .getduhl [8]
6.8 473.52 48.82 50 976.40 976.40 .rhs3[11]
6.6 521.20 47.68 50 953.60 953.60 .rhsl [12]
6.1 564.99 43.79 50 875.80 875.80 .rhs2[13]
5.1 601.63 36.64 50 732.80 989.50 .takedp [10]
4.1 631.41 29.78 50 595.60 13829.40 .getup [3]

3.1 653.96 22.55 7769600 0.00 0.00 .tdma [14]
2.6 672.34 18.38 2441600 0.01 0.01 .ctdma3 [15]

2.1 687.38  15.04 51 294.90 294.90 .divcheck [16]
1.5 698.15  10.77 50 21540 215.40 .rhsdp [17]
0.9 704.90 6.75 101  66.83  66.83 .cfl [18]

0.4 707.56 2.66 5 532.00 532.00 .plane_up [21]

0.3 709.54 1.98 1228800 0.00 0.00 .rftbsub [22]
0.2 711.06 1.52 3276800 0.00 0.00 .cftmdl [25]

0.2 712.55 1.49 ._xlgsub [26]
0.2 713.99 1.44 1228800 0.00 0.00 .rftfsub [27]
0.2 715.18 1.19 .__mcount [28]
0.1 716.17 0.99 2457600 0.00 0.00 .cftlst [29]
0.1 717.04 0.87 1 870.00 870.00 .iniup [30]

0.1 717.60 0.56 819200 0.00 0.00 .dctsub [31]
0.1 718.15 0.55 2457700 0.00 0.00 .bitrv2 [32]
0.1 718.54 0.39 748169 0.00 0.00 .load_locale [34]

<Z&HE3Z ZE9 profiling 212>

ngranularity: Each sample hit covers 4 bytes. Time: 109.79 seconds

% cumulative  self self total
time seconds seconds calls ms/call ms/call name
15.1 16.63 16.63 50 332.60 474.30 .getduh3 [5]
10.0 27.62 10.99 50 219.80 219.80 .rhs2 [8]
10.0 38.58 10.96 50 219.20 219.20 .rhs3 [9]
9.6 49.15 10.57 9550 1.11 1.11 .ctdma3i [10]
8.5 58.53 9.38 50 187.60 187.60 .rhsl [11]
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5.7
5.4
4.4
4.2
4.0
2.4
2.2
15
15
1.4
1.3
1.3
1.2
1.2
1.0
0.8
0.6
0.6
0.6
0.4
0.4
0.3
0.3
0.3
0.2
0.2
0.2
0.2
0.2
0.2
0.2
0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1

64.74

70.68

75.52

80.15

84.57

87.22

89.62

91.25

92.86

94.39

95.79

97.19

98.52

99.84
100.92
101.80
102.49
103.17
103.83
104.27
104.69
105.07
105.43
105.71
105.96
106.19
106.40
106.61
106.81
107.01
107.21
107.36
107.51
107.65
107.79
107.92
108.04
108.16
108.26
108.36
108.46
108.55
108.63
108.71
108.79
108.87
108.94
109.01
109.08
109.14
109.20

6.21
5.94
4.84
4.63
4.42
2.65
2.40
1.63
1.61
1.53
1.40
1.40
1.33
1.32
1.08
0.88
0.69
0.68
0.66
0.44
0.42
0.38
0.36
0.28
0.25
0.23
0.21
0.21
0.20
0.20
0.20

19200
50

50
6551816
19200
50

50

50

101

50

6450

51

50
6792320

50

0.15 13244000

0.15
0.14
0.14
0.13
0.12
0.12
0.10
0.10
0.10
0.09
0.08
0.08
0.08
0.08
0.07
0.07
0.07
0.06
0.06

6622000

1

1

0.32
118.80
96.80
0.00
0.23
53.00
48.00
32.60
15.94
30.60
0.22
27.45
26.60
0.00

4.00

0.00

0.00

100.00

0.32
259.40
238.50

0.00

0.23

81.00
48.00
1821.60
15.94
30.60
0.22
27.45
1625.40
0.00

4.00

0.00

0.00

100.00

60.00 94280.00

.tdmaj [15]
.getduh2 [6]
.getduhl [7]
.cvtloop [17]
.tdmai [18]

.takedp [19]
.upcalc [20]

.getup [3]
.cfl [21]

.rhsdp.GL [22]
.tdmai0 [23]
.divcheck [24]

.uhcalc [4]
.__cvt_r[14]
.__mcount [25]
.dcosj3210f [26]
.memmove [27]
.dcosk3210f [28]
._xIfBeginlO [29]

.WriteUnit [30]
.dcosj1610I [31]
.LdNIR8ToDec [12]
.dcosk1610I [32]
.dcr1610f [33]

._XIfEndIO [34]
.drc1610f [35]
.drc1630f [36]

.drc831nl [37]
.bcond [38]
.I0PutByte [39]
.dcosk320f [40]
.pwr10 [42]
._XIfWriteLDReal [43]
.BeginlOWriteLd [44]
.PrepareUnit [45]
.dcr831pl [46]

.mf2x1 [47]

.I0TerminateRecord [48]

.iniup [49]

.GetMyLocalContext [50]
.I0Write [51]
.dcosk322f [52]
AllowlOAfterEOF [53]
.EndIOWriteLd [54]
.GetUnit [55]
.dcr811pl [56]
.FindUnit [57]

._ptrgl [58]

.dcr162f [59]

.main [1]
._XIfEndl0.GL [60]
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<OpenMP ZE2| profiling Z 1>

ngranularity: Each sample hit covers 4 bytes. Time: 333.42 seconds

%
time
10.5

9.9

9.6

9.3

7.4

5.4

5.0

4.0

3.4

2.3

2.2

2.1

1.9

1.9

1.9

1.8

1.7

1.6

1.4

1.3

1.3

1.1

1.1

1.0

1.0

1.0

0.9

0.9

0.8

0.7

0.7

0.7

0.7

0.6

0.5

0.5

0.3

0.2

0.2

0.1

0.1

0.1

0.1

0.1

0.1

0.1

cumulative

seconds

35.08

68.13
100.20
131.08
155.68
173.75
190.34
203.78
214.97
222.65
229.95
237.02
243.38
249.70
255.95
261.99
267.73
273.16
277.91
282.37
286.59
290.38
293.91
297.28
300.53
303.72
306.87
309.92
312.49
314.93
317.28
319.56
321.75
323.82
325.55
327.21
328.27
329.01
329.54
330.00
330.42
330.72
330.98
331.19
331.37
331.55

self
seconds

35.08
33.05
32.07
30.88
24.60
18.07
16.59
13.44
11.19
7.68
7.30
7.07
6.36
6.32
6.25
6.04
5.74
5.43
4.75
4.46
4.22
3.79
3.53
3.37
3.25
3.19
3.15
3.05
2.57
2.44
2.35
2.28
2.19
2.07
1.73
1.66
1.06
0.74
0.53
0.46
0.42
0.30
0.26
0.21
0.18
0.18

self
calls ms/call

799 43.90
796 41.52
9520 3.37
766 40.31
19153 0.87
799 16.82
19143 0.58
798 9.62
800 9.12
794 8.90
798 7.97
795 7.95
796 7.85
793 7.62
795 7.22
796 6.82
798 5.95
789 5.65
793 5.32
1609 2.36
792 4.46
793 4.25
797 4.08
791 4.03
6424 0.49
16 190.62
794 3.24
811 3.01
789 2.89
793 2.76
796 2.60
792 2.18
784 0.23

total
ms/call
43.90
41.52
3.37
40.31

0.87
21.50
0.58
9.62
13.78
13.60
21.44
21.25
14.79
21.17
14.18
13.78
5.95
5.65
5.32
2.36
6.49
6.19
4.08
4.03
0.49
190.62
3.24
3.01

2.89
2.76
2.60
2.18

0.23

name

.rhs3@0L@1 [2]
.rhs2@0L@1 [3]
.ctdma3i [4]

.rhs1@0L@1 [5]

.ThdCode [6]

._XIsmpSyncRegionltem [7]
.tdmaj [12]
.getduh3@0OL@1 [8]
.tdmai [15]

.getup@OL@1 [19]
.getduh1@OL@1.GL [16]
.getduh2@0L@1 [18]
.getduh1@0OL@3 [9]
.getduh2@0OL@3 [10]
.getduh3@0OL@3 [13]
.getduh3@OL@2 [11]
.getduh2@0L@2 [14]

.getduh1@0L@2 [17]

.uhcalc@OL@1 [22]

.rhsdp@OL@1 [23]
.getduh3@0OL@5 [24]
.cfl@aoL@1 [25]
.takedp@OL@3 [20]

.takedp@OL@4 [21]

.takedp@OL@2 [26]
.getduh3@OL@4 [27]
.tdmai0 [28]
.iniup@OL@1 [29]
.takedp@OL@5 [30]

.divcheck@OL@1 [31]
.dcosj3211f [32]

.upcalc@OL@3 [33]

.upcalc@OL@1 [34]

.upcalc@OL@2 [35]
.upcalc@OL@4 [36]

.dcosk3211f [37]

.dcosj3210I [38]
.dcosk3210I [39]
.drc831nl [40]
.dcr1610f [41]
.drc1610f [42]
.allocate_memory [43]
.dcosk320f [44]
.drc1630f [45]
.bcond@OL@3 [46]
.dcr811pl [47]
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5. hpmcount Z1}

hpmcount= AFEXDF &HEH T2 )20 AlH Aldd Al2HD SIER/AN 2 2dl =
A= 38, AESXIE So NMEEo Hds2 N3dte HMEZICl KE2lEIOICH Oflele
original ZEQ =AHSE =X2E ell) OpenMP HZ 20 ol hpomcountES AlSHA

21 ZDt0ICH.

H

ne

<Original Z=2| hpmcount Z 1>

Total execution time (wall clock time): 603.744974 seconds

HiHH#H#H#H##H  Resource Usage Statistics #HHAH#HHHH

Total amount of time in user mode : 600.000000 seconds
Total amount of time in system mode : 0.660000 seconds
Maximum resident set size : 225328 Khytes
Average shared memory use in text segment : 119987 Kbytes*sec

Average unshared memory use in data segment : 133708275 Kbytes*sec
Number of page faults without 1/0 activity : 56298

Number of page faults with 1/0 activity : 55

Number of times process was swapped out :0

Number of times file system performed INPUT : 0

Number of times file system performed OUTPUT : O

Number of IPC messages sent :0
Number of IPC messages received :0
Number of signals delivered 01
Number of voluntary context switches 134
Number of involuntary context switches : 4081

Hit##H#HH##  End of Resource Statistics #HHHHHHH

PM_FPU_FDIV (FPU executed FDIV instruction) : 900048273
PM_FPU_FMA (FPU executed multiply-add instruction) : 13680113464
PM_FPUOQ_FIN (FPUO produced a result) : 26567056515
PM_FPU1_FIN (FPU1 produced a result) : 24500449179
PM_CYC (Processor cycles) : 569874701858
PM_FPU_STF (FPU executed store instruction) : 7035759817
PM_INST_CMPL (Instructions completed) : 90050778564
PM_LSU_LDF (LSU executed Floating Point load instruction) : 25517110841
Utilization rate : 72.608 %

Load and store operations : 32552.871 M

MIPS : 149.154

Instructions per cycle : 0.158

HW Float points instructions per Cycle : 0.090

Floating point instructions + FMAs : 57711.859 M

Float point instructions + FMA rate : 95.590 Mflip/s

FMA percentage : 47.408 %

Computation intensity : 1.773
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<EFHEZ TE2| hpmcount Z 1>

Total execution time (wall clock time): 223.787592 seconds

HiHH#H#H#H##  Resource Usage Statistics #HHAHHHHHH

Total amount of time in user mode : 219.580000 seconds
Total amount of time in system mode : 1.880000 seconds
Maximum resident set size : 194452 Kbytes
Average shared memory use in text segment : 139002 Kbytes*sec

Average unshared memory use in data segment : 42332373 Kbytes*sec
Number of page faults without 1/0 activity : 48472

Number of page faults with 1/0 activity 115

Number of times process was swapped out :0

Number of times file system performed INPUT : 0

Number of times file system performed OUTPUT : O

Number of IPC messages sent :0
Number of IPC messages received :0
Number of signals delivered :0
Number of voluntary context switches : 39
Number of involuntary context switches : 987

HitHH#HH##  End of Resource Statistics #HHHHHHH

PM_FPU_FDIV (FPU executed FDIV instruction) : 1055291740
PM_FPU_FMA (FPU executed multiply-add instruction) : 29190297957
PM_FPUOQ_FIN (FPUO produced a result) : 51460161638
PM_FPU1_FIN (FPU1 produced a result) : 48933266798
PM_CYC (Processor cycles) : 208854611864
PM_FPU_STF (FPU executed store instruction) : 14335032491
PM_INST_CMPL (Instructions completed) : 166558328992
PM_LSU_LDF (LSU executed Floating Point load instruction) : 44129969563
Utilization rate : 71.790 %

Load and store operations : 58465.002 M

MIPS : 744.270

Instructions per cycle : 0.797

HW Float points instructions per Cycle : 0.481

Floating point instructions + FMAs : 115248.694 M

Float point instructions + FMA rate : 514.991 Mflip/s

FMA percentage : 50.656 %

Computation intensity : 1.971
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<OpenMP ZE2| hpmcount Z1>

Total execution time (wall clock time): 51.252509 seconds
HiHH#H#H#H##  Resource Usage Statistics #HHAH#HHHH

: 315.770000 seconds
: 15.410000 seconds
: 534332 Khytes
: 190291 Kbytes*sec
: 170175529 Kbytes*sec

Total amount of time in user mode

Total amount of time in system mode

Maximum resident set size

Average shared memory use in text segment
Average unshared memory use in data segment

Number of page faults without I/0 activity : 133750
Number of page faults with 1/0 activity 17
Number of times process was swapped out :0

Number of times file system performed INPUT : 0
Number of times file system performed OUTPUT : O

Number of IPC messages sent :0
Number of IPC messages received :0
Number of signals delivered :0
Number of voluntary context switches : 50379
Number of involuntary context switches : 480

Hit##H#HH##  End of Resource Statistics #HHHHHHH

PM_FPU_FDIV (FPU executed FDIV instruction) 2101017772
PM_FPU_FMA (FPU executed multiply-add instruction) 62617858391
PM_FPUOQ_FIN (FPUO produced a result) 112006870947
PM_FPU1_FIN (FPU1 produced a result) 105470686725
PM_CYC (Processor cycles) 562859809572
PM_FPU_STF (FPU executed store instruction) 30004727279
PM_INST_CMPL (Instructions completed) 434609087000
PM_LSU_LDF (LSU executed Floating Point load instruction) : 109727152458
Utilization rate 644.489 %

Load and store operations 139731.880 M

MIPS 8479.762

Instructions per cycle 0.772

HW Float points instructions per Cycle 0.386

Floating point instructions + FMAs
Float point instructions + FMA rate
FMA percentage

Computation intensity

250090.689 M
4879.579 Mflip/s

50.076 %

1.790

Original =2
£ UEtl=
514.99 Mflip/s2, OIS
A
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Eot xHeE =XN2E2 hpmcount Z2H0IA SHRIAIZ =
Float point instructions + FMA rate2 Hlwdol 2% 22+ 95,
= =XDE0A SHRAIZZE O 2 2

8ol 2E2 28 H 4501 E0tAUSS #og




 SXAS MM HE L B

DS MHMO Z2HAM, HIHEHC N2 822 FY20ts 22X nestOl OidH MRl 2
Ol HEF0| EHESE FES =NE HHRHF= =& 2 oIRUCLL DENMN =St= HAtSl H
A0l Tl &8 YEAZ Z0/ote HEUHA=E 1S HE2 2XH|}22 HEASN Ha =
HE Pt FE £ 35 S0 t. Jcl1) Fast Fourier Transform 2t01E 2l

C| F
o =3 WHESS ot H4THEES 8.

DO J=1,N2M
FIMU(J)=J-JMU(J)
FIMV(J)=J-IMV(J)
FIPAQ)=JPA(J)-J

ENDDO

DO 1=1,N1M
FIMU(1)=1-IMU(1)
FIMV(1)=I-IMV(1)
FIPA()=IPA(I)-I

ENDDO

@ ®H DEOA -IMUQ), J-IMV@), JPAQ), I-IMU(I), I-IMV(1), IPA(D)-12] H AHO)

K= EQSICH XFE BH=E00F sHe 019F 22 HAS 012 HHEo 2osez
WSS 8= HA 322 FY £ UCL 9| FE22 Original 2E0E gl
2202 zFE DEMAME R 22 AHA A0 TR M OICH i

FIMU, FIMV, FJPA, FIMU, FIMV, FIPAE =2 M &L

B. iniup.f

< Original 2& >
20 DO 10 NV=1,3
21 DO 10 1=0,N1
22 DO 10 J=0,N2
23 DO 10 K=1,N3M
24 62 10  U(NV,1,J,K)=0.0
25
26
27 C IMPOSE U VELOCITY
28 DO 20 1=0,N1
29 DO 20 J=0,N2
30 DO 20 K=1,N3M
31 17 20 U(@,1,J,K)=1.0

32
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33

34 C IMPOSE ZERO-PRESSURE FLUCTUATIONS
35 DO 60 1=1,N1M
36 DO 60 J=1,N2M
37 DO 60 K=1,N3M
38 8 P(1,J,K)=0.0
39 60 CONTINUE
XA ZE >
20 DO 10 K=1,N3M
21 DO 10 J=0,N2
22 DO 10 1=0,N1
23 4 U(1,J,K,1)=0.0
24 4 U(1,J,K,2)=0.0
25 U(1,d,K,3)=0.0
26 10  CONTINUE
27
28
29 C IMPOSE U VELOCITY
30 DO 20 K=1,N3M
31 DO 20 J=0,N2
32 DO 20 1=0,N1
33 1 20 U(1,J,K1)=1.0
34
35
36 C IMPOSE ZERO-PRESSURE FLUCTUATIONS
37 DO 60 K=1,N3M
38 DO 60 J=1,N2M
39 DO 60 1=1,N1M
40 2 P(1,J,K)=0.0
41 60 CONTINUE
@ Original ZZ0IA I UNV,ILJ K0l CHoll 2= A2 NV, |, J, KE2& 5t
UM SHEXQ M2l EZ20| LML Fortran0llA HI22] 28 HASEO=2
oldl fldhMdeE JIE QEXE X QIgARH HIZDEE IEE PHWMOF SHLH
&G DENA= BHE UL POl OIGH K, J, 12 =28 Xt Al EsE &
2 £A5tD YT
@ BZ AHZE K, J, 19 =22 HASIHA BHE UNV,LJKE UIJKN)E +=F
OlYULE 0OlANE2 FE20AM HIE Ul &2 M 82 5482 =017 {8 =
HOICH OWE =XH,
DO 60 K=1,N3M
DO 60 J=1,N2M
DO 60 1=1,N1M
. UB,LIK) ...
60 CONTINUE
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>

Flet 22 YA H20 2= RFEUA A= QA He0 018 39 =295
HZ22 E20 2lof 2 ds&201 2dotH =0k Olel S&0lA BHE0 et
=5 I8 A NV 2XE e 2LEXRN 2E= 0i2] e

|20 SIKIGHOF B NV T2 Z0f HE

J

-

AT

C. divcheck.f
< Original 2& >
18 DO 20 1=1,N1M
19 DO 20 J=1,N2M
20 DO 20 K=1,N3M
21 37 KP=KPA(K)
22 KM=KMA(K)
23 919 DIV=ABS((U(1,1+1,J,K)-U(1,1,J,K))*DX1
24 > +(U(2,1,3+1,K)-U(2,1,J,K))/DY(J)
25 > +(U(3,1,J,KP)-U(3,1,J,K))*DX3)
26 IF (DIV.GT.DIVMAX) THEN
27 IMAX = |
28 IMAX =]
29 KMAX = K
30 ENDIF
31 655 DIVMAX = AMAX1(DIV,DIVMAX)
32 20 CONTINUE

18 DO 20 K=1,N3M

19 1 DO 20 J=1,N2M

20 DO 20 1=1,N1M

21 KP=KPA(K)

22 KM=KMA(K)

23 101 DIV=ABS((U(1+1,J,K,1)-U(1,J K, 1))*DX1
24 > +(U(1,3+1,K,2)-U(1,4,K,2))/DY(J)
25 > +(U(1,3,KP,3)-U(1,J,K,3))*DX3)
26 IF (DIV.GT.DIVMAX) THEN

27 IMAX = |

28 IMAX = J

29 KMAX = K

30 ENDIF

31 45 DIVMAX = AMAX1(DIV,DIVMAX)

32 20 CONTINUE
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D. cfl.f
< Original 2& >
19 DO 10 K=1,N3M
20 KP=KPA(K)
21 DO 10 I=1,N1M
22 2 IP=I+1
23 DO 10 J=1,N2M
24 JP=J+1
25 891 CFLL=ABS(U(4,1,J,K)+U(1,IP,J,K))*0.5*DX1
26 > +ABS(U(2,1,J,K)+U(2,1,JP,K))*0.5/DY (J)
27 > +ABS(U(3,1,J,K)+U(3,1,J,KP))*0.5*DX3
28 24 CFLM=AMAX1(CFLM,CFLL)
29 5 10 CONTINUE
< FHs 2E >
19 DO 10 K=1,N3M
20 KP=KPA(K)
21 DO 10 J=1,N2M
22 1 JP=J+1
23 DO 10 I=1,N1M
24 IP=1+1
25 183 CFLL=ABS(U(I,J,K,1)+U(IP,J,K,1))*0.5*DX1
26 > +ABS(U(1,J,K,2)+U(1,JP,K,2))*0.5/DY(J)
27 > +ABS(U(1,J,K,3)+U(l1,d,KP,3))*0.5*DX3
28 2 CFLM=AMAXZ1(CFLM,CFLL)
29 2 10 CONTINUE

® MHZeal 20l

E.

getup.f

< Original Z& >

HEXHOI =S | 2Ot J =2

o /T

|E
1o
My
x
]l
g

oY
ol

4]

13 C INITIALIZE THE INTERMEDIATE VELOCITY AND PRESSURE
14 DO 10 NV=1,3
15 DO 10 1=0,N1
16 DO 10 J=0,N2
17 DO 10 K=1,N3M
18 2714 10  UH(NV,1,J,K)=0.0
19 DO 20 1=1,N1M
20 DO 20 J=1,N2M
21 DO 20 K=1,N3M
22 297 20  DP(I,J,K)=0.0

< ZH3 2E >
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14 Cc INITIALIZE THE INTERMEDIATE VELOCITY AND PRESSURE
15 DO 10 K=1,N3M
16 DO 10 J=0,N2
17 DO 10 1=0,N1
18 12 UH(1,J,K,1)=0.0
19 169 UH(1,J,K,2)=0.0
20 2 UH(1,J,K,3)=0.0
21 10  CONTINUE
22 DO 20 K=1,N3M
23 1 DO 20 J=1,N2M
24 DO 20 1=1,N1M
25 54 20 DP(1,J,K)=0.0
@O A iniup fUIA 8= XX OF&IIAIZ H2el E200 35X 02 0|20 X

E=1,J, K2 22
=
=

F. uhcalc.f
< Original 2& >

$0

C

b

A =NE K, J, IZ HBo BHE UH, DPOI TH

5 MO H=aM

— [= - — o

76 C INTERMEDIATE VELOCITY, U*=U~N+dU*

77

78 DO 300 1=2,N1M

79 DO 300 J=1,N2M

80 DO 300 K=1,N3M

81 2695 300  UH(1,1,J,K)=U(1,1,J,K)+UH(1,1,3,K)

82

83 DO 310 1=1,N1M

84 DO 310 J=2,N2M

85 DO 310 K=1,N3M

86 2695 310  UH(2,1,J,K)=U(2,1,J,K)+UH(2,1,3,K)

87

88 DO 320 1=1,N1M

89 DO 320 J=1,N2M

90 DO 320 K=1,N3M

91 2753 320  UH(3,1,J,K)=U(3,1,J,K)+UH(3,1,J,K)
< ZH3 2E >

76 C INTERMEDIATE VELOCITY, U*=U~N+dU*

77

78 DO 300 K=1,N3M

79 DO 300 J=1,N2M

80 DO 300 1=2,N1M

81 60 300  UH(1,3,K,1)=U(1,J,K,1)+UH(1,J,K,1)

82

83 DO 310 K=1,N3M
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84
85
86
87
88
89
90
91

65

DO 310 J=2,N2M
DO 310 1=1,N1M
310 UH(1,J,K,2)=U(1,J,K,2)+UH(1,J.K,2)

DO 320 K=1,N3M
DO 320 J=1,N2M
DO 320 1=1,N1M
320 UH(1,J,K,3)=U(1,J,K,3)+UH(1,J,K,3)

O SAZHQ K22l 22 Wot)| flch 22 A8 =AME HHSGHRUCH

G.

< Original 2& >

rhsl.f

20
21
22
23
24
25
26
27
28
29
30
31
32
34
35
36
37
38
39
40
41
42
43
44
46
48
49
50
52
53
54
56
57
59
60
61
62

373

1480

127
228

1200

23
164

DO 10 J=1,N2M

P=3+1

IM=J-1

JUM=J-IMU(J)

JUP=JPA(J)-J

DO 10 1=2,N1M

IP=1+1

IM=I-1

IUM=I-IMU(I)

IUP=1PA(l)-I

DO 10 K=1,N3M

KP=KPA(K)

KM=KMA(K)

VISCOS=0.5*DX1Q/RE*(U(1,IP.J,K )-2.0*U(1,1,J,K)+U(L,IM,J K ))
+0.5*DX3Q/RE*(U(L,1 ,J,KP)-2.0%U(1,1,J,K)+U(L,1 ,J,KM))
+JUM*JUP*0.5/RE*(HP(J)*U(1,1,JP,K)

-HC@@)*U(1,1,d K)
+HM(@I)*U(L,1,JM,K))
+(1-JUM)*0.5/RE*(2.0/H(2)/(H(1)+H(2))*U(1,1,2,K)
-2.0/H(1)/H(2)*U(1,1,1,K)
+2.0/H(L)/(H(1)+H(2))*U(L,1,0,K))

> +(1-JUP)*0.5/RE*(2.0/H(N2M)/(H(N2)+H(N2M))*U(1,1,N2M-1,K)

-2.0/H(N2M)/H(N2)*U(1,1,N2M,K)

> +2.0/H(N2)/(H(N2)+H(N2M))*U(L,1,N2,K))

PRESSG1=DX1*(P(I,J,K)-P(IM,J K))
BC_DOWN=0.5/RE*2.0/H(1)/(H(1)+H(2))*UBC1(1,1 K)

VVVVVVYV

Vv

> +0.5/DY(1)*0.5*(U(2,1,1,K)+U(2,IM,1,K))*UBC1(L,1,K)

> +0.5/DY(1)*U(1,1,0,K)*0.5*(UBC1(2,1,K)+UBC1(2,IM,K))
BC_UP =0.5/RE*2.0/H(N2)/(H(N2)+H(N2M))*UBC2(1,1,K)

> -0.5/DY(N2M)*0.5*(U(2,1,N2,K)+U(2,1M,N2,K))*UBC2(1,1,K)

> -0.5/DY(N2M)*U(1,1,N2,K)*0.5*(UBC2(2,1,K)+UBC2(2,1M,K))

U2=0.5*(U(1,IP,J,K)+U(1,1 ,J,K))
U1=0.5*(U(L,1 ,J,K)+U(1,IM,J K))
BC_IN = DX1*U1*0.5*UBC3(1,J,K)

> +0.5/RE*DX1Q*UBC3(1,J,K)
BC_OUT=-DX1*U2*0.5*UBC4(1,J,K)
> +0.5/RE*DX1Q*UBC4(1,J,K)
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65 165 BC=(1-JUM)*BC_DOWN
66 > +(1-JUP)*BC_UP
67 > +(1-1UM)*BC_IN
68 > +(1-1UP)*BC_OUT
70 RDUH1(1,J,K)=1./DT*U(1,1,J,K)
71 > -PRESSG1+VISCOS
72 > +BC
137 6 10 CONTINUE
< A >

18
100

14
14

DO 10 K=1,N3M

KP=KPA(K)
KM=KMA(K)
DO 1=2,N1M
IP=1+1
IM=I-1
VISCOS1(1) =0.5/RE*(2.0/H(2)/(H(1)+H(2))*U(1,2,K,1)
> -2.0/H(L)/H(2)*U(1,1,K,1)
> +2.0/H(L)/(H(1)+H(2))*U(1,0,K,1))
VISCOS2(1) =0.5/RE*(2.0/H(N2M)/(H(N2)-+H(N2M))*U(I,N2M-1,K,1)
> -2.0/H(N2M)/H(N2)*U(1,N2M,K, 1)
> +2.0/H(N2)/(H(N2)+H(N2M))*U(1,N2,K, 1))
BC_DOWN(1)=0.5/RE*2.0/H(1)/(H(1)+H(2))*UBC1(1 K,1)
> +0.5/DY(1)*0.5*(U(1,1,K,2)+U(IM,1,K,2))*UBC1(1,K,1)
> +0.5/DY(1)*U(1,0,K,1)*0.5*(UBC1(I,K,2)+UBC1(IM,K,2))

BC_UP(I) =0.5/RE*2.0/H(N2)/(H(N2)+H(N2M))*UBC2(1 K,1)

> -0.5/DY(N2M)*0.5*(U(I,N2,K,2)+U(IM,N2,K,2))*UBC2(l,K, 1)
> -0.5/DY(N2M)*U(1,N2,K,1)*0.5*(UBC2(I K,2)+UBC2(IM,K,2))
ENDDO
DO 10 J=1,N2M
P=3+1
IM=J-1

FIUM=FIMU(J)

FJUP=FJPA(J)

DO 1=2,N1M

IP=1+1

IM=I-1

FIUM=FIMU(I)

FIUP=FIPA(I)

VISCOS=0.5*DX1Q/RE*(U(IPJ,K ,1)-2.0%U(1,J,K,1)+U(IM,J K ,1))
+0.5*DX3Q/RE*(U(I ,J,KP,1)-2.0*U(1,d,K,1)+U(l ,J,KM,1))
+FJUM*FIJUP*0.5/RE*(HP(J)*U(1,JP,K,1)

-HC@@)*U(1,J K,1)

+HM(@I)*U(1,IM,K, 1))
+(1.-FIUM)*VISCOS1(l)
+(1.-FJUP)*VISCOS2(l)

PRESSG1=DX1*(P(I,J,K)-P(IM,J,K))

U2=0.5*(U(IP,J.K,1)+U(1 ,J,K,1))

VVVVVYV
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74 4 U1=0.5*(U(l ,J,K,1)+U(IM,J,K,1))

76 32 BC_IN = DX1*U1*0.5*UBC3(J,K,1)
77 > +0.5/RE*DX1Q*UBC3(J,K,1)
78 30 BC_OUT=-DX1*U2*0.5*UBC4(J,K,1)
79 > +0.5/RE*DX1Q*UBC4(J,K,1)
82 45 BC=(1.-FJUM)*BC_DOWN(I)

83 > +(1.-FJUP)*BC_UP(I)

84 > +(1-FIUM)*BC_IN

85 > +(1-FIUP)*BC_OUT

87 65 RDUH1(1,J,K)=1./DT*U(I,J,K,1)

88 > -PRESSG1+VISCOS

89 > +BC

90 ENDDO

91 4 DO 10 1=2,N1M

92 IP=1+1

93 IM=I1-1

96 FIUM=FIMU(I)

97 FIUP=FIPA(I)

162

163 10 CONTINUE

@ J, |, K &2 BE ddEs 2O HU4S K J, | =22 A HE Ut POl CHE
S X

Al
=

@ C+39 VISCOS, BC_DOWN, BC_UPAHI&IE J, I, K 2
= C

VISCOS=0.5*DX1Q/RE*(U(1,1PJ,K )-2.0%U(1,1,J,K)+U(L,IM,J.K ))
+0.5*DX3Q/RE*(U(L,1 ,J,KP)-2.0%U(1,1,J,K)+U(L,1 ,J,KM))
+JUM*JUP*0.5/RE*(HP(J)*U(1,1,JP.K)

-HCE)*U(L,1,d K)

+HM(@I)*U(L,1,JM,K))
+(1-JUM)*0.5/RE*(2.0/H(2)/(H(1)+H(2))*U(1,1,2,K)

-2.0/H(1)/H(2)*U(1,1,1,K)

+2.0/H(L)/(H(1)+H(2))*U(1,1,0,K))
+(1-JUP)*0.5/RE*(2.0/H(N2M)/(H(N2)+H(N2M))*U(L,1,N2M-1,K)

-2.0/H(N2M)/H(N2)*U(1,1,N2M,K)

+2.0/H(N2)/(H(N2)+H(N2M))*U(L,1,N2,K))

I
02

of bR OIEOIA BHE

BC_DOWN=0.5/RE*2.0/H(1)/(H(1)+H(2))*UBC1(1,1,K)
+0.5/DY(1)*0.5*(U(2,1,1,K)+U(2,1M,1,K))*UBC1(L,1,K)
+0.5/DY(1)*U(1,1,0,K)*0.5*(UBC1(2,1,K)+UBC1(2,IM,K))

BC_UP =0.5/RE*2.0/H(N2)/(H(N2)+H(N2M))*UBC2(1,1,K)
-0.5/DY(N2M)*0.5*(U(2,1,N2,K)+U(2,1M,N2,K))*UBC2(1,1,K)

-0.5/DY(N2M)*U(L,1,N2,K)*0.5*(UBC2(2,1,K)+UBC2(2,IM,K))

all
<

SN==)
=

[

tEA J eIEAQL 228 VISCOSS 2=

o
ol

K, J, 12 #3Z

118




H.

BC_DOWN, BC_UP HittS J X H2Z 0lsAIH SE RSt A0l B2 = A
= %= = Ul 02 fol =& R=0UM=E J g =d
VISCOS1(l), VISCOS2(l), BC_DOWN(I), BC_UP(I)E HI&tGtD UCH 0I5 Soi 2
B==0 Oioh K 2= WOoIA (NIM-1)xN2M&| 2| BH=&| (

o 4 UL

rr
x
z
o

B4 (UM, IUP, JUM, JUPQl HAH2 A ABZEl indiciesOiAl 0101 HAE i
FIMU, FJPA, FIMU, FIPAO MEGH ASS=2 0] 22 22t FJUM, FJUP, FIUM,
FIUPSZ g0} AF25tD QUCH

rhs2.f

< Original 2& >

21
22
23
24
25
27
28
29
30
31
32
33
34
36
37
38
39
40
42
44
45
46
47
49
50
51
52
53
54
56
57
58
59
60
61

DO 10 J=2,N2M
P=J+1

IM=J-1
JUM=J-IMV(J)
JUP=JPA(J)-J

DO 10 1=1,N1M

IP=1+1
IM=I1-1
1 IUM=I-IMV(I)
5 IUP=IPA(I)-1
DO 10 K=1,N3M
KP=KPA(K)
KM=KMA(K)
1011 VISCOS=0.5*DX1Q/RE*(U(2,1P,J,K)-2.*U(2,1,J,K)+U(2,IM,J,K))
> +0.5*DX3Q/RE*(U(2,1,d,KP)-2.0*U(2,1,J,K)+U(2,1,J,KM))
> +0.5/RE*(DYP(J)*U(2,1,JP.K)
> -DYC@)*U(2,1,J K)
> +DYM(J)*U(2,1,IM,K))
20 PRESSG2=(P(1,J,K)-P(1,IM,K))/H(J)
782 BC_DOWN=0.5/RE*DYM(2)*UBC1(2,1,K)
> +1./H(2)*0.5*(U(2,1,2,K)+U(2,1,1,K))*0.5*UBC1(2, 1K)
299 BC_UP =0.5/RE*DYP(N2M)*UBC2(2,1,K)
> -1./H(N2M)*0.5*(U(2,1,N2,K)+U(2,1,N2M,K))*0.5*UBC2(2, 1K)
U2=1.0/H(J)*(DY(J)/2.0*U(L,1P,M,K)+DY (IM)/2.0*U(L,1P,J,K))
646 U1=1.0/H(J)*(DY(J)/2.0*U(1,1 ,IM,K)+DY(IM)/2.0*U(L,1 ,J,K))
448 BC2=1.0/H(J)*(DY(J)/2.0*UBC4(1,IM,K)+DY(IM)/2.0*UBC4(1,J,K))

BC1=1.0/H(J)*(DY(J)/2.0*UBC3(1,IM,K)+DY (IM)/2.0UBC3(1,J,K))
V2=0.5*(U(2,1,J,K)+U(2,1P,J,K))

47 V1=0.5*(U(2,1,d,K)+U(2,1M,J,K))
37 BC_IN =0.5*DX1Q/RE*UBC3(2,J,K)
> +0.5*DX1*U1*0.5*UBC3(2,J,K)
> +0.5*DX1*V1*BC1
312 BC_OUT=0.5*DX1Q/RE*UBC4(2,J,K)
> -0.5*DX1*U2*0.5*UBC4(2,J,K)
> -0.5*DX1*V2*BC2
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64 60 BC=(1-JUM)*BC_DOWN
65 > +(1-JUP)*BC_UP
66 > +(1-1UM)*BC_IN
67 > +(1-1UP)*BC_OUT
68
69 RDUH2(1,J,K)=1./DT*U(2,1,J,K)
70 > -PRESSG2+VISCOS
71 > +BC
143 4 CONTINUE
< FA >
25 DO 10 K=1,N3M
26 KP=KPA(K)
27 KM=KMA(K)
29 DO J=2,N2M
30 JP=J+1
31 IM=J-1
32 2 BC2(J)=1.0/H(3)*(DY(J)/2.0*UBC4(IM,K,1)+DY (IM)/2.0*UBC4(J,K,1))
33 BC1(J)=1.0/H(3)*(DY(J)/2.0*UBC3(IM,K,1)+DY (IM)/2.0*UBC3(J,K,1))
34 ENDDO
35 DO 1=1,N1M
36 1 BC_DOWN(1)=0.5/RE*DYM(2)*UBC1(l,K,2)
37 > +1./H(2)*0.5*(U(1,2,K,2)+U(l,1,K,2))*0.5*UBC1(I,K,2)
38 1 BC_UP(l) =0.5/RE*DYP(N2M)*UBC2(I,K,2)
39 > -1./H(N2M)*0.5*(U(1,N2,K,2)+U(1,N2M,K,2))*0.5*UBC2(1,K,2)
40 ENDDO
42 DO 10 J=2,N2M
43 JP=J+1
44 6 IM=J-1
47 FIUM=FIMV(J)
48 1 FIUP=FJPA(J)
50 DO 10 1=1,N1M
51 IP=I+1
52 IM=I-1
55 FIUM=FIMV(l)
56 FIUP=FIPA(I)
58 287 VISCOS=0.5*DX1Q/RE*(U(IP,J,K,2)-2.*U(1,J,K,2)+U(IM,J K,2))
59 > +0.5*DX3Q/RE*(U(1,J,KP,2)-2.0*U(l,J,K,2)+U(1,J,KM,2))
60 > +0.5/RE*(DYP(J)*U(1,JP,K,2)
61 > -DYC@)*U(l,J K,2)
62 > +DYM(@I)*U(1,IM,K,2))
64 19 PRESSG2=(P(1,J,K)-P(1,dM,K))/H(J)
66 141 U2=1.0/H(3)*(DY(J)/2.0*U(IP,IM,K,1)+DY (IM)/2.0*U(IP,J K,1))
67 3 U1=1.0/H(3)*(DY(J)/2.0*U(l ,IM,K,1)+DY(IM)/2.0*U(l ,J,K,1))
68 15 V2=0.5*(U(1,J,K,2)+U(IP,J,K,2))
69 7 V1=0.5*(U(1,J,K,2)+U(IM,J,K,2))
71 41 BC_IN =0.5*DX1Q/RE*UBC3(J,K,2)
72 > +0.5*DX1*U1*0.5*UBC3(J,K,2)
73 > +0.5*DX1*V1*BC1(J)
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74 34 BC_OUT=0.5*DX1Q/RE*UBC4(J,K,2)

75 > -0.5*DX1*U2*0.5*UBC4(J,K,2)

76 > -0.5*DX1*V2*BC2(J)

79 168 BC=(1.-FJUM)*BC_DOWN(I)

80 > +(1.-FJUP)*BC_UP(I)

81 > +(1-FIUM)*BC_IN

82 > +(1-FIUP)*BC_OUT

84 61 RDUH2(1,J,K)=1./DT*U(1,J,K,2)

85 > -PRESSG2+VISCOS

86 > +BC

159 10 CONTINUE

@ J, I, K=2Z B2 Adlg= 2T AHAS K, J, | =2Z bty oig Ut POl st

Z20| HA==0| HES AL

@ Original Z=0lAM CtE2 BC_DOWN, BC_UP, BC1, BC2 HAES J,
o Jt& oHEUM BH=EICH
BC_DOWN=0.5/RE*DYM(2)*UBC1(2,1,K)
+1./H(2)*0.5%(U(2,1,2,K)+U(2,1,1,K))*0.5*UBC1(2,1 K)
BC_UP =0.5/RE*DYP(N2M)*UBC2(2,1,K)
-1./H(N2M)*0.5*(U(2,1,N2,K)+U(2,1,N2M,K))*0.5*UBC2(2,1,K)

BC2=1.0/H(J)*(DY(J)/2.0*UBC4(L,IM,K)+DY (IM)/2.0~UBC4(L,J,K))
BC1=1.0/H(J)*(DY(J)/2.0*UBC3(L,IM,K)+DY (IM)/2.0~UBC3(L,J,K))

l, K2 &

02

SO 952 K, J, |12 HEoIHAM J oleiA e f22atst BC_DOWN, BC_UP HlA&LS
SO 592 0lsAIZ11, | pleiAe 2atst BC2, BC1 HAZ2 SAl J EX UM
Xelgoahl SEest gt JHar2 2 =0 2EgE DEANMsE JEZ SO |
2O E =2 BC_DOWN(I), BC_UP(DE HAHAGID AL, SHAl J 22T oA £ C
2 J EZE =2 BC()1, BC2(NE Hatst UCH 02 Sl K 2= WHA
(N2M-1)*N1MZ| o] BI=2cl= HKtS BC_DOWN, BC_UPLH BCt1, BC22 AHits
(N2M-1)3l2F NiMsl2 22t =22 4= UCH
® MO rhstUIMAE FIUP, FIUM, FJUM, FJUPSE 0l2l HatE 22 JIH2 AtE
ot ULCH
I. rhs3.f
< Original 2& >
20 DO 10 J=1,N2M
21 JP=J+1
22 IM=J-1
23 JUM=J-IMU(J)
24 JUP=JPA(J)-J
26 DO 10 1=1,N1M
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27 IP=1+1

28 IM=I1-1
29 1 IUM=I-IMV(I)
30 1 IUP=IPA(I)-1
32 DO 10 K=1,N3M
33 382 KP=KPA(K)
34 KM=KMA(K)
36 1232 VISCOS=0.5*DX1Q/RE*(U(3,1P,J,K)-2.*U(3,1,J,K)+U(3,IM,J,K))
37 > +0.5*DX3Q/RE*(U(3,1 ,J,KP)-2.0*U(3,1,J,K)+U(3,1 ,J,KM))
38 > +JUM*JUP*0.5/RE*(HP(J)*U(3,1,JP,K)
39 > -HC(I)*U(3,1,d K)
40 > +HM(@J)*U(3,1,IM,K))
41 > +(1-JUM)*0.5/RE*(2.0/H(2)/(H(1)+H(2))*U(3,1,2,K)
42 > -2.0/H(1)/H(2)*U(3,1,1,K)
43 > +2.0/H(L)/(H(1)+H(2))*U(3,1,0,K))
44 > +(1-JUP)*0.5/RE*(2.0/H(N2M)/(H(N2M)+H(N2))*U(3,1,N2M-1,K)
45 > -2.0/H(N2)/H(N2M)*U(3,1,N2M,K)
46 > +2.0/H(N2)/(H(N2M)+H(N2))*U(3,1,N2,K))
48 104 PRESSG3=DX3*(P(l,J,K)-P(1,J,KM))
50 594 BC_DOWN=0.5/RE*2.0/H(1)/(H(1)+H(2))*UBC1(3,1,K)
51 > +0.5/DY(1)*0.5*(U(2,1,1,KM)+U(2,1,1,K))*UBCL(3,1,K)
52 > +0.5/DY(1)*U(3,1,0,K)*0.5*(UBC1(2,1,K)+UBC1(2,1,KM))
54 220 BC_UP =0.5/RE*2.0/H(N2)/(H(N2M)+H(N2))*UBC2(3,1,K)
55 > -0.5/DY(N2M)*0.5*(U(2,1,N2,KM)+U(2,1,N2,K))*UBC2(3,1,K)
56 > -0.5/DY(N2M)*U(3,1,N2,K)*0.5*(UBC2(2,1,K)+UBC2(2,1,KM))
58 10 U2=0.5*(U(1,1P,J,K)+U(1,1P,J,KM))
59 771 U1=0.5*(U(1,1 ,J,K)+U(L,1 ,J,KM))
60 310 BC2=0.5*(UBC4(1,J,K)+UBC4(1,J,KM))
61 19 BC1=0.5*(UBC3(1,J,K)+UBC3(1,J,KM))
62 18 W2=0.5%(U(3,IP,J,K)+U(3,1,J,K))
63 39 W1=0.5*(U(3,IM,J,K)+U(3,1,J,K))
65 363 BC_IN =0.5*DX1Q/RE*UBC3(3,J,K)
66 > +0.5*DX1*U1*0.5*UBC3(3,J,K)
67 > +0.5*DX1*W1*BC1
68 50 BC_OUT=0.5*DX1Q/RE*UBC4(3,J,K)
69 > -0.5*DX1*U2*0.5*UBC4(3,J,K)
70 > -0.5*DX1*W2*BC2
73 52 BC=(1-JUM)*BC_DOWN
74 > +(1-JUP)*BC_UP
75 > +(1-IlUM)*BC_IN
76 > +(1-UP)*BC_OUT
78 8 RDUH3(1,J,K)=1./DT*U(3,1,J,K)
79 > -PRESSG3+VISCOS
80 > +BC
158 10 10 CONTINUE

24 DO 10 K=1,N3M
25 KP=KPA(K)
26 KM=KMA(K)
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28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
45
46
47
50
51
53
54
55
58
59
62
63
64
65
66
67
68
70
72
73
74
75
77
78
80
81
82
83
84
85
88
89
90
91
93
94
95
97
98

268

51

35

61

28

78

DO 1=1,N1M
VISCOS1(1)=0.5/RE*(2.0/H(2)/(H(1)+H(2))*U(1,2,K,3)

> -2.0/H(L)/H(2)*U(1,1,K,3)

> +2.0/H(1)/(H(1)+H(2))*U(1,0,K,3))
VISCOS2(1)=0.5/RE*(2.0/H(N2M)/(H(N2M)+H(N2))*U(I,N2M-1,K,3)

> -2.0/H(N2)/H(N2M)*U(1,N2M,K,3)

> +2.0/H(N2)/(H(N2M)+H(N2))*U(1,N2,K,3))
BC_DOWN(1)=0.5/RE*2.0/H(1)/(H(1)+H(2))*UBC1(1 K,3)

> +0.5/DY(1)*0.5*(U(1,1,KM,2)+U(l,1,K,2))*UBC1(1,K,3)

> +0.5/DY(1)*U(l,0,K,3)*0.5*(UBC1(I,K,2)+UBC1(I1,KM,2))

BC_UP(l) =0.5/RE*2.0/H(N2)/(H(N2M)+H(N2))*UBC2(1 K,3)

> -0.5/DY(N2M)*0.5*(U(1,N2,KM,2)+U(1,N2,K,2))*UBC2(1 K,3)
> -0.5/DY(N2M)*U(I,N2,K,3)*0.5*(UBC2(I,K,2)+UBC2(1,KM,2))
ENDDO
DO 10 J=1,N2M
P=J+1
IM=J-1

FIUM=FIMU(J)

FIUP=FIPA(J)

DO 1=1,N1M

IP=1+1

IM=I1-1

FIUM=FIMV(I)

FIUP=FIPA(I)

VISCOS=0.5*DX1Q/RE*(U(IP,J,K ,3)-2.0*U(1,J,K,3)+U(IM,J.K ,3))
+0.5*DX3Q/RE*(U(I ,J,KP,3)-2.0*U(1,J,K,3)+U(I ,J,KM,3))
+FIUM*EJUP*0.5/RE*(HP(J)*U(1,JP.K,3)

-HC(@I)*U(1,J K,3)

+HM@I)*U(1,IM,K,3))
+(1.-FIUM)*V1SCOS1(1)
+(1.-FIUP)*VISCOS2(1)

PRESSG3=DX3*(P(l,J,K)-P(1,J,KM))

U2=0.5*(U(IP,J,K,1)+U(IP,J,KM,1))

U1=0.5*(U(l ,3,K,1)+U(l ,J,KM,1))

W2=0.5*(U(IP,J,K,3)+U(l ,J,K ,3))

W1=0.5*(U(IM,J,K,3)+U(l ,J,K ,3))

BC2=0.5*(UBC4(J,K,1)+UBC4(J,KM,1))

BC1=0.5*(UBC3(J,K,1)+UBC3(J,KM,1))

BC_IN =0.5*DX1Q/RE*UBC3(J,K,3)

VVVVVYV

> +0.5*DX1*U1*0.5*UBC3(J,K,3)
> +0.5*DX1*W1*BC1

BC_OUT=0.5*DX1Q/RE*UBC4(J,K,3)
> -0.5*DX1*U2*0.5*UBC4(J,K,3)
> -0.5*DX1*W2*BC2

BC=(1.-FJUM)*BC_DOWN(I)
> +(1.-FJUP)*BC_UP(I)

> +(1-FIUM)*BC_IN

> +(1-FIUP)*BC_OUT
RDUH3(1,J,K)=1./DT*U(1,J,K,3)

> -PRESSG3+VISCOS
> +BC
ENDDO

DO 10 1=1,N1IM
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99 IP=I1+1

100 IM=1-1

103 4 FIUM=FIMV(I)

104 FIUP=FIPA(I)

105

182 10 CONTINUE

@ rhs1OIA 84S 2=519 OIRDIXIZ J, |, K RZ AS K, J, | RT2 HAGHH
AN B2l 20l ASH0| HE= 50 USH, 0f BHOA J QAR 25
VISCOSSl 2221t BC_LDOWN, BC_UP A&t J RI #O2 0|SAIH 228
Bt= A2 Z012 UCH FJUM, FJUP, FIUM, FIUPOI DI2] HAtE g 22f M1
AE AT SUGILH
J. getduhl.f

A. TDMAI S & B&F

< Original 2Z& >

23
24
25
26
27
28
29
30
31
32
33
35
36
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54

15

1763

1609

220

150

DO 2 1=2,N1M
IP=1+1
IM=I-1
IUM=I-IMU(I)
IUP=IPA(l)-I
DO 2 K=1,N3M
DO 20 J=1,N2M
P=3+1
IM=J-1
JUM=J-IMU(J)
JUP=JPA(J)-J
V2=0.5%(U(2,1,JP,K)+U(2,IM,IP,K))
V1=0.5*(U(2,1,J ,K)+U(2,IM,J ,K))
APJ(J)=JUP*(

JUM*(-0.5)*HP(J)/RE

+(1-JUM)*(-0.5)/RE*2.0/H(2)/(H(1)+H(2))
+0.5/DY(J)*V2/H(IP)*DY(J)/2.0
)*DT

ACJ(J)= (JUM*JUP*0.5*HC(J)/RE
+(1-JUM)*0.5/RE*2.0/H(1)/H(2)
+(1-JUP)*0.5/RE*2.0/H(N2)/H(N2M)
+0.5/DY(J)*(JUP*V2/H(IP)*DY(JP)/2.0

-JUM*VI1/H(J )*DY(IM)/2.0)

V.V VYV

)*DT
+1.0
AMI(J)=JUM*(
JUP*(-0.5)*HM(J)/RE
+(1-JUP)*(-0.5)/RE*2.0/H(N2M)/(H(N2M)+H(N2))
-0.5/DY(J)*V1/H(J)*DY(J)/2.0
)*DT

VVVVVYV

V.V VYV
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55
56
58
59
60
61

12

1077

R2(J)=RDUH1(I,J,K)*DT

20 CONTINUE
CALL TDMA(AMJ,ACJ,APJ,R2,R2,1,N2M)
DO 21 J=1,N2M

21 UH(L,1,3,K)=R2(J)

2 CONTINUE

< Original ZE2 TDMA NBE=EI>

4 SUBROUTINE TDMA(A,B,C,R,X,NS,NF)
5 PARAMETER (M1=257,M2=65,M3=129)
6 REAL BET(M1),GAM(0:M1),A(M1),B(M1),C(M1),R(M1),X(M1)
8 17 DO 10 J=NS,NF
9 210 BET(J)=B(J)-A(J)*GAM(J-1)
10 620 GAM(J)=C(J)/BET(J)
11 1105 X(3)=(RE)-A)*X(3-1))/BET(J)
12 10 CONTINUE
13 5 DO 20 J=NFNS,-1
14 284 X(3)=X(J)-GAM(J)*X(J+1)
15 1 20 CONTINUE
16 RETURN
17 7 END
< ZA c>
30 DO 2 K=1,N3M
31 DO 20 J=1,N2M
32 1 P=3+1
33 IM=J-1
36 FIUM=FIMU(J)
37 2 FIUP=FJPA(J)
38 DO 20 1=2,N1M
39 IP=1+1
40 IM=I-1
42 7 V2=0.5*(U(1,JP,K,2)+U(IM,JP,K,2))
43 1 V1=0.5*(U(1,d ,K,2)+U(IM,J ,K,2))
45 36 APJ(1,3)=FJUP*(
46 > FJUM*(-0.5)*HP(J)/RE
47 > +(1.-FJUM)*(-0.5)/RE*2.0/H(2)/(H(1)+H(2))
48 > +0.5/DY(J)*V2/H(IP)*DY(J)/2.0
49 > )*DT
50 52 ACJ(1,J)= (FIUM*FJUP*0.5*HC(J)/RE
51 > +(1.-FJUM)*0.5/RE*2.0/H(1)/H(2)
52 > +(1.-FJUP)*0.5/RE*2.0/H(N2)/H(N2M)
53 > +0.5/DY(J)*(FIUP*V2/H(JP)*DY(JP)/2.0
54 > -FJUM*V1/H(J )*DY(IM)/2.0)
55 > )*DT
56 > +1.0
57 12 AMI(1,3)=FIUM*(
58 > FIJUP*(-0.5)*HM(J)/RE
59 > +(1.-FJUP)*(-0.5)/RE*2.0/H(N2M)/(H(N2M)+H(N2))
60 > -0.5/DY(J)*V1/H(I)*DY(3)/2.0
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A

>

PJ(1,J),

ROUHOI CHEF &E20
@ JUM, JUPS JHl&taH

AtZotd JASH, U

FR HHE APJ, ACJ, AMJ, R2Jt |
ACJ(1,J),
2F K, IQIGAO THEH HAE = 1
205 R2J)ZE W=e=Ch
23522 0|2 <I6i TOMA THal TDMAI REIZ

Ct. TOMAI LHROIA 2XHE BHES HMelot22 Jo 8ol

e n

AZEX &I HEol = A

12 HHHEA 2 K,

AMJ(1,J), R2(1,J)2 B AL

X2 e APJ(J), ACJ(J),
Xt

A AEUAME 2

I'JIQ

o=
— =

2
>

tLiek |

10
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61 > )*DT
62 60 R2(1,J)=RDUH1(l,J,K)*DT
63 CONTINUE
65 CALL TDMAI(AMJ,ACJ,APJ,R2,R2,1,N2M,2,N1M)
66 DO 21 J=1,N2M
67 DO 21 1=2,N1M
68 51 21 UH(1,9,K,1)=R2(1,J)
69 2 CONTINUE
<Z &3t ZEUAM AtE8H TDMAI HEFED>
4 SUBROUTINE TDMAI(A,B,C,R,X,NS,NF,NIS,NIF)
5 include ‘param.h’
6 REAL A(M1,M2),B(M1,M2),C(M1,M2),R(M1,M2),X(M1,M2)
7 REAL BET,GAM(M1,0:M2)
10 J=NS
11 DO I=NIS,NIF
12 1 BET=B(l,J)
13 1 GAM(I1,J)=C(1,J)/BET
14 6 X(1,3)=R(1,J)/BET
15 ENDDO
16 DO 10 J=NS+1,NF
17 1 DO I=NIS,NIF
18 30 BET=B(I,J)-A(l,J)*GAM(l,J-1)
19 41 GAM(1,J)=C(1,J)/BET
20 317 X(1L,)=R(1,I)-A(1,3)*X(1,J-1))/BET
21 3 ENDDO
22 10 CONTINUE
23 DO 20 J=NF-1,NS,-1
24 DO I=NIS,NIF
25 53 X(1,9)=X(1,3)-GAM(I,J)*X(1,J+1)
26 ENDDO
27 20 CONTINUE
® I, K J =22 gF ML= X HasS K J, | =22 HHH BiE Ut UH,

Hetoll MEHE gtS FJUMIE FJUP2Z 20t
Oi st DEUAME

10l CHalHl JRI LHOILA

2 LHOIA HIAHEI D] 2ABH 2K HH

Original 2Z0A TOMA A

AMJW), R2(J)
H

H

00 12
o
s

n o

t

rgbug

0z
40
1




2 A F=UAC

HHECR ||, KRZO Bl 3|0t38 S&&= TOMA FEI Hiwol IRE BH=
2dls FE UWRO0HA Xclots TDMAIE K22 =30 S 2H0 22 o=+
P2ALDAD 183 & Bl O 2 22 €2 M2SEN ZE 8882 =
011 ACH

TOMAIOIA  J=NS€ ™ GAM(,J-1)=0, X(,J-1)=001 &0 == W2
A(LI)*GAM(1,d=1), A(LJ)*X(1,J-1)2 Bt= ALOl R2D0IGIE 2 J=NS@l BRE 2
I 90A 2 Melotld A 2l = Fe REUMs 2A B0 12 HiE
BET() CH&l A2et B BETE OI8d =28 N2l SHIE Y0 UL

B. TDMAJ S & ¥&

< Original 2& >

63 DO 1 J=1,N2M
64 DO 1 K=1,N3M
65 5 DO 10 1=2,N1M
66 8 IP=I+1
67 IM=I-1
68 29 IUM=I-IMU(I)
69 13 IUP=IPA(I)-I
71 9 U2=0.5*(U(1,IP,J,K)+U(1,1 ,J,K))
72 66 U1=0.5*(U(1,1 ,J,K)+U(1,IM,J,K))
73 29 API(1)= (-0.5*DX1Q/RE
74 > +DX1*U2*0.5)*IUP
75 > *DT
76 30 ACI(1)= 1.0+(
77 > +DX1Q/RE
78 > +DX1*(U2*0.5-U1*0.5)
79 > )*DT
81 74 AMI(1)= (-0.5*DX1Q/RE
82 > -DX1*U1*0.5)*IUM
83 > *DT
85 28 R1(1)=UH(1,1,J,K)
86 10 CONTINUE
88 CALL TDMA(AMI,ACI,API,R1,R1,2,N1M)
89 DO 11 1=2,N1M
90 54 11 UH(1,1,d,K)=R1(l)
91 1 CONTINUE
< ZHEF DE >
71 DO 1 K=1,N3M
72 DO 10 J=1,N2M
73 DO 10 1=2,N1M
74 IP=I+1
75 IM=I-1
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78 1 FIUM=FIMU(1)
79 1 FIUP=FIPA(I)
81 31 U2=0.5*(U(IPJ,K,1)+U(l ,J K,1))
82 10 U1=0.5*(U(l ,J,K,1)+U(IM,J K, 1))
83 11 API(1,J)= (-0.5*DX1Q/RE
84 > +DX1*U2*0.5)*FIUP
85 > *DT
86 26 ACI(1,3)= 1.0+(
87 > +DX1Q/RE
88 > +DX1*(U2*0.5-U1*0.5)
89 > y*DT
91 21 AMI(1,9)= (-0.5*DX1Q/RE
92 > -DX1*U1*0.5)*FIUM
93 > *DT
95 18 R1(1,3)=UH(1,J,K,1)
96 10 CONTINUE
98 CALL TDMAJ(AMI,ACI,API,R1,R1,2,N1M,1,N2M)
99 DO 11 J=1,N2M
100 DO 11 1=2,N1M
101 35 UH(1,J,K,1)=R1(1,J)
102 CONTINUE
< ZE3 ZEUHM AFZESH TODMAJ ABERE >

© 00N o o1 bs

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
30
31
32
33
34

137

28
191
68

109
102

SUBROUTINE TDMAJ(A,B,C,R,X,NS,NF,NJS,NJF)
include ‘param.h’
REAL A(M1,*),B(M1,*),C(M1,*),R(M1,*),X(M1,*)
REAL BET,GAM(0:M1,M2)
DO J=NJS,NJF-1,2
I=NS
BET1=1./B(l,J)
BET2=1./B(l,J+1)
GAM(1,J)=C(1,J)*BET1
GAM(1,J+1)=C(l,J+1)*BET2
X(1,9)=R(I,J)*BET1
X(1,J+1)=R(l,J+1)*BET2
DO I=NS+1,NF
BET1=1./(B(l,J)-A(1,J)*GAM(I-1,J))
BET2=1./(B(l,J+1)-A(l,J+1)*GAM(I-1,J+1))
GAM(1,J)=C(1,J)*BET1
GAM(I1,J+1)=C(l,J+1)*BET2
X(1L,)=(R(1,I)-A(1,3)*X(1-1,J))*BET1
X(1,J+1)=(R(I,J+1)-A(l,J+1)*X(I-1,J+1))*BET2
ENDDO
DO I=NF-1,NS,-1
X(1,9)=X(1,J)-GAM(1,J)*X(1+1,J)
X(1,J+1)=X(1,J+1)-GAM(I,J+1)*X(1+1,J+1)
ENDDO
ENDDO
IF(MOD(NJF-NJS+1,2).eq.1) THEN
J=NJF
I=NS
BET1=1./B(l,J)
GAM(1,J)=C(1,J)*BET1
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35 X(1,9)=R(1,J)*BET1
36 DO I=NS+1,NF
37 BET1=1./(B(l,3)-A(1,3)*GAM(I-1,J))
38 GAM(1,J)=C(1,J)*BET1
39 2 X(1,9)=(R(1,J)-A(1,J)*X(1-1,J))*BET1
40 ENDDO
41 DO I=NF-1,NS,-1
42 X(1,9)=X(1,J)-GAM(I,d)*X(1+1,J)
43 ENDDO
44 ENDIF
46 RETURN
47 END
® HTME2=Z TDMAIE S &ote R0 s2st 2E8s 2 HAOT. =, 22X =
AE HIY BHE &E20] HAx&0| &2 oD, 0l HEUWA 1X2 BHE AMI, ACI,
APl, R1 S0| 2X& tigz HAZIULCH 1X& BHE =2 Xelot= TOMADHA 2XH&
oz HPE IS Helot= TOMAJ FEHES U= AMSctl UL TODMAJ=E
TOMASF Hlwol JEXE B2 WHREWA HelotH D0, Tetd Jol BRI =0
=g AL},
@ TDMAJ =REU A= HAN A=H0l e HZ2E 22X Jofl ol factor 29
unrolling2 Al& GISICEH.
DO 20 J = NJS,NJF-1,2
DO I = NF-1,NS,-1
X(1,9)=X(1,9)-GAM(1,3)*X(1+1,J)
X(1,3+1)=X(1,J+1)-GAM(I,J+1)*X(1+1,J+1)
ENDDO
20 CONTINUE
@ 12T oM SRS A4S E01J] 2ol 1I=NSY ME 2Z oM U2 Hdelst
D Ae A, Ol LAl H20 11X g BET() hal Azt B4 BETE 0l2
of 2ZRs HIZe YHIE =0/ A= & S22 TOMAINIM =8E G2}t S
U 5HCH
C. CTDMA3I & &&

< Original Z& >

93 DO 3 1=2,N1M
94 IP=1+1
95 IM=I-1
96 IUM=I-IMU(I)
97 IUP=IPA(l)-I
98 DO 3 J=1,N2M
99 1 DO 30 K=1,N3M
100 492 KP=KPA(K)
101 KM=KMA(K)
103 51 W2=0.5*(U(3,IM,J,KP)+U(3,1,J,KP))
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104 41 W1=0.5*(U(3,IM,J,K )+U(3,1,3,K ))

106 730 APK(K)=(

107 > -0.5*DX3Q/RE

108 > +0.5*DX3*W2*0.5

109 > y*DT

110 18 ACK(K)=1.+(

111 > +DX3Q/RE

112 > +0.5*DX3*(W2*0.5-W1*0.5)
113 > )*DT

114 343 AMK(K)=(

115 > -0.5*DX3Q/RE

116 > -0.5*DX3*W1*0.5

117 > y*DT

118 1163 R3(K)=UH(L,1,J,K)

119 30 CONTINUE

120 1 CALL CTDMA3(AMK,ACK,APK,R3,UH, 1,J,1,N3M)
121 3 CONTINUE

< Original Z&E2| CTDMA3 MNE=ZE >

4 SUBROUTINE CTDMA3(A,B,C,R,X,1,J,NV,N)
5 PARAMETER (M1=257,M2=65,M3=129)
6 COMMON/DIM/N1,N2,N3,N1M,N2M,N3M
7 REAL A(M3),B(M3),C(M3),R(M3)
8 REAL X(3,0:M1,0:M2,0:M3)
9 REAL BET(M3),GAM(M3)
10 REAL P(M3),Q(M3)
12 BET(1)=B(1)
13 2 GAM(1)=C(1)/BET(1)
14 4 X(NV,1,J,1)=R(1)/BET(1)
15 P(1)=C(N)
16 Q(1)=A(1)/BET(1)
18 DO 10 K=2,N-1
19 23 BET(K)=B(K)-A(K)*GAM(K-1)
20 97 GAM(K)=C(K)/BET(K)
21 558 P(K)=-P(K-1)*GAM(K-1)
22 126 Q(K)=-A(K)/BET(K)*Q(K-1)
23 214 10 X(NV,1,3,K)=(R(K)-A(K)*X(NV,1,J,K-1))/BET(K)
25 7 P(N-1)=A(N)-P(N-2)*GAM(N-2)
26 1 Q(N-1)=(C(N-1)-A(N-1)*Q(N-2))/BET(N-1)
28 X(NV,1,J,N)=R(N)
29 P(N)=B(N)
30 DO 20 K=1,N-1
31 132 X(NV,1,J,N)=X(NV,1,J,N)-P(K)*X(NV,1,J,K)
32 112 20 P(N)=P(N)-P(K)*Q(K)
33 X(NV,1,3,N)=X(NV,1,J,N)/P(N)
35 14 GAM(N-1)=0.0
36 DO 30 K=N-1,1,-1
37 503 30 X(NV,1,3,K)=X(NV,1,J,K)-GAM(K)*X(NV,1,J,K+1)-Q(K)*X(NV,1,J,N)

130




104
105
106
107
108
109
110
112
113
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130

51
10
27

20

28

32

DO 3 J=1,N2M
DO 30 K=1,N3M
KP=KPA(K)
KM=KMA(K)

DO 30 1=2,N1M
IP=1+1

IM=1-1

W2=0.5*(U(IM,J,KP,3)+U(l,J,KP,3))
W1=0.5*(U(IM,J,K ,3)+U(1,J,K ,3))

APK(1,K)=(
> -0.5*DX3Q/RE
> +0.5*DX3*W2*0.5
> )*DT
ACK(1,K)=1.+(
> +DX3Q/RE
> +0.5*DX3*(W2*0.5-W1*0.5)
> )*DT
AMK(1,K)=(
> -0.5*DX3Q/RE
> -0.5*DX3*W1*0.5
> )*DT

R3(1,K)=UH(1,J,K,1)

30 CONTINUE

3

CALL CTDMA3I(AMK,ACK,APK,R3,UH(0,0,0,1),J,N3M,2,N1M)
CONTINUE

< z ™3t DESl CTOMA3I MEFE >

© 00N o o1 bs

10
12
13
14
15
16
17
18
20
21
22
23
24
25
26
27
28
30
31
32

w

125
69
207
66
255
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SUBROUTINE CTDMA3I(A,B,C,R,X,J,N,NIS,NIF)
include ‘param.h’
COMMON/DIM/N1,N2,N3,N1M,N2M,N3M
REAL A(M1,M3),B(M1,M3),C(M1,M3),R(M1,M3)
REAL X(0:M1,0:M2,0:M3)

REAL GAM(M1,M3)

REAL P(M1,M3),Q(M1,M3)

DO I=NIS,NIF

BET=1./B(l,1)

GAM(I1,1)=C(l,1)*BET
X(1,3,1)=R(1,1)*BET

P(1,1)=C(I,N)

Q(1,1)=A(l,1)*BET

ENDDO

DO 10 K=2,N-1

DO I=NIS,NIF
BET=1./(B(1,K)-A(l,K)*GAM(I,K-1))
GAM(I,K)=C(I,K)*BET
P(1,K)=-P(I,K-1)*GAM(I,K-1)
Q(I,K)=-A(1,K)*BET*Q(I,K-1)
X(1,3,K)=(R(I,K)-A(I,K)*X(1,J,K-1))*BET
ENDDO

CONTINUE

DO I=NIS,NIF
BET=1./(B(I,N-1)-A(I,N-1)*GAM(I,N-2))
P(1,N-1)=A(1,N)-P(I,N-2)*GAM(I,N-2)
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33 2 Q(I,N-1)=(C(I,N-1)-A(I,N-1)*Q(I,N-2))*BET

35 X(1,9,N)=R(I,N)

36 P(1,N)=B(I,N)

37 ENDDO

38 DO 20 K=1,N-1

39 DO I=NIS,NIF

40 112 X(1,9,N)=X(1,3,N)-P(1,K)*X(1,J,K)

41 39 P(1,N)=P(I,N)-P(1,K)*Q(1,K)

42 ENDDO

43 20 CONTINUE

44 DO I=NIS,NIF

45 1 X(1,9,N)=X(1,3,N)/P(I,N)

47 1 GAM(I,N-1)=0.0

48 ENDDO

49 1 DO 30 K=N-1,1,-1

50 DO I=NIS,NIF

51 162 X(1,3,K)=X(1,3,K)-GAM(I,K)*X(1,d,K+1)-Q(1,K)*X(1,J,N)

52 ENDDO

53 30 CONTINUE

@ Original 2ZE0A |, J, K =92 RO BI=20| A8ic=s 218 J, K, |12 HAEBO i
g U, UHOI Ciet &2 Hs5482 =0

@ 21, JOIl CHoll K2 LHOIA HIAMEE 11X HHE APK, ACK, AMK, R3Jt IR L
HIA AHAEIDl 2161 2XH2 B APK(ILK), ACK(I,K), AMK(I,K), R3(LK)2 HE AU
Ct. Ol2 ¢lal 11X Higs H™elotl= =FE CTDMA3(AMK,ACK,APK,R3,UH,
ILJ,1,N3M)= 2X2 HHE S 20l Xelole ME& FE CTDMASI(AMK,ACK,APK,
R3,UH(0,0,0,1), JN3M,2NTM)2 HZALAUCH

@ =2I |, JO P2 340t2 B2 S&L = CTDMA3Z Hluol CTDMA3IE JRIZEO
=020t SEHH S oI SY 0D 02 8 HHl o 2 242 22 Kl
StOZMN ZE SEB4M2 =011 UL FB2Z |= FE CTDMAZI HEHAM XMel=2
ASH, 0| o 12 HRAJF elx2 ML

@ =€ CTDMA30IA Ofcliet 22 222 JI0Ie E20] =HEZ0IHA E2 MAI
AE L2IAH =L,

DO 10 K=1,N-1

10 X(NV,1,J,K)=(R(K)-AK)*X(NV,1,J,K-1))/BET(K)
012101 =& DES F|E CTOMA3INAM= TS &0l el Ch.
DO 10 K=2,N-1
DO I=NIS,NIF

;(I,J,K):(R(I,K)-A(I,K)*X(I,.],K-l))*BET
ENDDO

10  CONTINUE
|IRZI KREE HR0HAN BFEE22M I0IE 822 HA54801 0 =0tX110 JA2H,
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AXHE HHE UHEX

el

=0/ Ot=cl =2

njo

K. getduh2.f
A. TDMAI S & &
< Original 2& >
23 DO 2 1=1,N1M
24 IP=1+1
25 IM=1-1
26 IUM=I-IMV(1)
27 IUP=IPA(I)-I
28 DO 2 K=1,N3M
29 KP=KPA(K)
30 KM=KMA(K)
31 DO 20 J=2,N2M
32 P=J+1
33 IM=J-1
34 100 JUM=J-IMV(J)
35 JUP=JPA(J)-J
37 21 V2=0.5*(U(2,1,JP,K)+U(2,1,J ,K))
38 23 V1=0.5*(U(2,1,J ,K)+U(2,1,IM,K))
40 114 APJ(J)=JUP*(
41 > -0.5*DYP(J)/RE
42 > +1.0/H(J)*V2*0.5
43 > y*DT
44 1426 ACJ(3)=1.0+(
45 > +0.5*DYC(J)/RE
46 > +1.0/H(J)*(V2*0.5-V1*0.5)
47 > )*DT
48 157 AMI(J)=JUM*(
49 > -0.5*DYM(J)/RE
50 > -1.0/H(J)*V1*0.5
51 > )*DT
53 c M21UH
54 420 V2=0.5*(U(2,1P,J,K)+U(2,1 ,J,K))
55 1735 V1=0.5%(U(2,1 ,J,K)+U(2,IM,J,K))
56 1082 UH2=1.0/H(3)*(DY(J)/2.*UH(L,1P,JM,K)+DY(IM)/2.*UH(1,IP,J,K))
57 14 UH1=1.0/H(3)*(DY(3)/2.*UH(1,1 ,JM,K)+DY(IM)/2.*UH(1,1 ,J,K))
58 20 RM21UH=0.5*DX1*(1UP*V2*UH2-1UM*V1*UH1)
60 57 R2(J)=DT*(RDUH2(I,J,K)-RM21UH)
62 6 20 CONTINUE
63 CALL TDMA(AMJ,ACJ,APJ,R2,R2,2,N2M)
64 2 DO 21 J=2,N2M
65 26 21 UH(2,1,J,K)=R2(J)
66 2 CONTINUE
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30
31
32
33
34
35
38
39
40
41
42
45
46
48
49
51
52
53
54
55
56
57
58
59
60
61
62
64
65
66
67
68
69
71
73
74
75
76
77
78

12

13
23

35

15
43
12
33
31

69

20

21

DO 2 K=1,N3M

KP=KPA(K)

KM=KMA(K)

DO 20 J=2,N2M

P=J+1

IM=J-1

FIUM=FIMV(J)

FIUP=FIPA(J)

DO 20 1=1,N1M

IP=1+1

IM=I1-1

FIUM=FIMV(I)

FIUP=FIPA(I)
V2=0.5*(U(1,JPK,2)+U(l,J K,2))
V1=0.5*(U(1,J ,K,2)+U(1,IM K,2))
APJ(1,J)=FIUP*(

> -0.5*DYP(J)/RE
> +1.0/H(J)*V2*0.5
> y*DT
ACI(1,3)=1.0+(
> +0.5*DYC(J)/RE
> +1.0/H(J)*(V2*0.5-V1*0.5)
> y*DT
AMI(1,J)=FIUM*(
> -0.5*DYM(J)/RE
> -1.0/H(@J)*V1*0.5
> y*DT
M21UH

V2=0.5*(U(IPJ,K,2)+U(l ,J,K,2))

V1=0.5*(U(l ,J,K,2)+U(IM,J K,2))
UH2=1.0/H(J)*(DY(J)/2.*UH(IP,IM,K,1)+DY(IM)/2.*UH(IP,J K, 1))
UH1=1.0/H@J)*(DY(3)/2.*UH(l ,IM,K,1)+DY(IM)/2.*UH(I ,J,K,1))
RM21UH=0.5*DX1*(FIUP*V2*UH2-FIUM*V1*UH1)
R2(1,3)=DT*(RDUH2(1,J,K)-RM21UH)

CONTINUE

CALL TDMAI(AMJ,ACJ,APJ,R2,R2,2,N2M,1,N1M)

DO 21 J=2,N2M

DO 21 1=1,N1M

UH(1,3,K,2)=R2(1,J)

CONTINUE

B. TDMAJ

< Original Z& >

68
69
70
71
72

DO 1 J=2,N2M
P=3+1

IM=J-1

DO 1 K=1,N3M
KP=KPA(K)
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73 KM=KMA(K)
74 5 DO 10 I1=1,N1M
75 2 IP=I+1
76 IM=I-1
77 1 IUM=I1-IMV(1)
78 20 IUP=IPA(I)-I
80 28 U2=1.0/H(3)*(DY(J)/2.0*U(1,1P,IM,K)+DY(IM)/2.0*U(1,1P,J,K))
81 68 U1=1.0/H@)*(DY(J)/2.0*U(1,1 ,IM,K)+DY(IM)/2.0*U(L, ,J,K))
82 12 API(1)=IUP*(
83 > -0.5*DX1Q/RE
84 > +0.5*DX1*U2*0.5
85 > )*DT
86 44 ACI(1)=1.0+(
87 > +DX1Q/RE
88 > +0.5*DX1*(U2*0.5-U1*0.5)
89 > )*DT
90 80 AMI(D)=IUM*(
91 > -0.5*DX1Q/RE
92 > -0.5*DX1*U1*0.5
93 > )*DT
95 7 R1(1)=UH(2,1,J,K)
96 10 CONTINUE
97 CALL TDMA(AMI,ACI,API,R1,R1,1,N1M)
98 DO 11 I=1,N1M
99 57 11 UH(2,1,d,K)=R1(l)
100 1 CONTINUE
&g 2E >
80 DO 1 K=1,N3M
81 KP=KPA(K)
82 KM=KMA(K)
83 DO 10 J=2,N2M
84 JP=J+1
85 IM=J-1
86 1 DO 10 I=1,N1M
87 IP=1+1
88 IM=I-1
91 FIUM=FIMV(I)
92 7 FIUP=FIPA(I)
94 42 U2=1.0/H(J)*(DY(J)/2.0*U(IP,JM,K,1)+DY (IM)/2.0*U(IP,J,K, 1))
95 13 U1=1.0/H(J)*(DY(J)/2.0*U(l ,IM,K,1)+DY(IM)/2.0*U(I ,J,K,1))
96 13 API(1,J)=FIUP*(
97 > -0.5*DX1Q/RE
98 > +0.5*DX1*U2*0.5
99 > )*DT
100 40 ACI(1,3)=1.0+(
101 > +DX1Q/RE
102 > +0.5*DX1*(U2*0.5-U1*0.5)
103 > )*DT
104 18 AMI(1,J)=FIUM*(
105 > -0.5*DX1Q/RE
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106
107
109
110
111
112
113
114
115

32

10

11

> -0.5*DX1*U1*0.5
> y*DT
R1(1,3)=UH(1,J.K,2)
CONTINUE
CALL TDMAJ(AMI,ACI,API,R1,R1,1,N1M,2,N2M)
DO 11 J=2,N2M
DO 11 1=1,N1IM
UH(1,J,K,2)=R1(1,J)
CONTINUE

@ getduhi.fold2l TOMAJ SE <

t& Ol Ct.

ro
[
L
tol
=

C. CTDMA3I S & ®&

< Original Z& >

102 DO 3 1=1,N1M
103 IP=I+1
104 IM=I-1
105 IUM=I-IMV(1)
106 IUP=IPA(1)-I
107 DO 3 J=2,N2M
108 JP=J+1
109 IM=J-1
110 DO 30 K=1,N3M
111 8 KP=KPA(K)
112 KM=KMA(K)
114 1178 W2=1.0/H()*(DY(J)/2.0*U(3,1,JM,KP)+DY (IM)/2.0*U(3,1,J,KP))
115 650 W1=1.0/H@J)*(DY(J)/2.0*U(3,1,IM,K )+DY(IM)/2.0*U(3,1,J,K ))
117 55 APK(K)=(
118 > -0.5*DX3Q/RE
119 > +0.5*DX3*W2/2.0
120 > )*DT
121 1038 ACK(K)=1.+(
122 > +DX3Q/RE
123 > +0.5*DX3*(W2/2.0-W1/2.0)
124 > )*DT
125 15 AMK(K)=(
126 > -0.5*DX3Q/RE
127 > -0.5*DX3*W1/2.0
128 > )*DT
129 33 R3(K)=UH(2,1,J,K)
130 30 CONTINUE
131 CALL CTDMA3(AMK,ACK,APK,R3,UH,1,J,2,N3M)
132 3 CONTINUE
< ZH3 2E >
117 DO 3 J=2,N2M
118 JP=J+1
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119

120 1
121

122

123

124

125

127 69
128 31
130 5
131

132

133

134 52
135

136

137

138 35
139

140

141

142 17
143

144

145

IM=J-1
DO 30 K=1,N3M

KP=KPA(K)

KM=KMA(K)

DO 30 1=1,N1M

IP=1+1

IM=1-1
W2=1.0/H(J)*(DY(3)/2.0*U(1,JM,KP,3)+DY(IM)/2.0*U(1,J,KP,3))
W1=1.0/H(J)*(DY(3)/2.0*U(1,JM,K ,3)+DY(IM)/2.0*U(1,J.K ,3))

APK(1,K)=(
> -0.5*DX3Q/RE
> +0.5*DX3*W2/2.0
> )*DT
ACK(1,K)=1.+(
> +DX3Q/RE
> +0.5*DX3*(W2/2.0-W1/2.0)
> )*DT
AMK(1,K)=(
> -0.5*DX3Q/RE
> -0.5*DX3*W1/2.0
> )*DT

R3(1,K)=UH(1,J,K,2)
30 CONTINUE

CALL CTDMA3I(AMK,ACK,APK,R3,UH(0,0,0,2),J,N3M,1,N1M)
3 CONTINUE

@ getduh1.fold2l CTOMA3I S &1t S &t

L. tdma.f
Bl Cl
A, B, G,
et 2ol

algorithm=2 AIE8t &

N ZotALt.

Original ZEW A=

A= Ol TOMA FE S TDMAI,

Banded Tri—diagonal

LL X 1[R"
K K X, R,
LL M M
LL M || M
L L A Byea CNF—l XnFa Rye s
L L O ANF BNF AL XNF RNF

matrix2 T8E dYUFAZS

ElIOICH <2 deYHAZ Ot Z2 00 A

HeE o

Ol=Zoll 0 == Xclot

TOMAJ, TDMAIO S22 =clot, z&EsE

TOMA =& otUE

kJ
0
rr
g
m
JA
fol
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Ct. TOMAIZH TDMAIOE= 2A TOIRA2E2= I = FE TOMAIOSH A ZSHCE

A. tdmaiO.f

<z A3 IE >

4 SUBROUTINE TDMAIO(A,B,C,R,X,NS,NF,NIS,NIF)
5 include 'param.h’
6 REAL A(0:M1,M2),B(0:M1,M2),C(0:M1,M2),R(0:M1,M2),X(0:M1,M2)
7 REAL BET,GAM(0:M1,0:M2)

10 J=NS

11 DO I=NIS,NIF

12 BET=B(l,J)

13 GAM(1,3)=C(1,J)/BET

14 X(1,9)=R(1,J)/BET

15 ENDDO

16 DO 10 J=NS+1,NF

17 DO I=NIS,NIF

18 11 BET=B(I,J)-A(l,J)*GAM(l,J-1)

19 16 GAM(1,3)=C(1,J)/BET

20 87 X(1,9)=(R(1,9)-A(1,d)*X(1,J-1))/BET

21 ENDDO

22 10 CONTINUE

23 DO 20 J=NF-1,NS,-1

24 DO I=NIS,NIF

25 12 X(1,9)=X(1,d)-GAM(1,J)*X(1,J+1)

26 ENDDO

27 20 CONTINUE

30 RETURN

31 END

O ANEZE TAKEDPOIA FFTHA £ S & ol RESZ, TODMAIZH S &t
X, REMAM XMelZ= 2X2 g A, B, C, R, X2 H B X AlE
10! OtLict O E AIZECHe 242+01 CH2CH
M. rhsdp.f
< Original 2& >
19 DO 10 J=1,N2M
20 JP=J+1
21 JM=J-1
22 JUM=J-JMU(J)
23 JUP=JPA(J)-J
25 DO 10 I=1,N1M
26 7 IP=1+1
27 IM=I]-1
28 IUM=I-IMV(I)
29 4 IUP=IPA(I)-I
31 DO 10 K=1,N3M
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32 2 KP=KPA(K)

33 KM=KMA(K)

35 1000 DIVUH=(IUP*UH(L,IP,J,K)-lUM*UH(Z,1,J,K))*DX1
36 > +(JUP*UH(2,1,JP,K)-JUM*UH(2,1,J,K))/DY(J)
37 > +(UH(3,1,J,KP)-UH(3,1,J,K))*DX3

39 46 CBC=(1-JUM)*UBC1(2,1,K)/DY(J)

40 > -(1-JUP)*UBC2(2,1,K)/DY(J)

41 > +(1-IUM)*UBC3(1,d,K)*DX1

42 > -(1-1UP)*UBCA4(1,J,K)*DX1

43 138 RDP(1,J,K)=(DIVUH-CBC)/DT

44 3 10 CONTINUE

21 DO 10 K=1,N3M

22 KP=KPA(K)

23 KM=KMA(K)

25 DO 10 J=1,N2M

26 P=3+1

27 IM=J-1

30 FIUM=FIMU(J)

31 FJUP=FJPA(J)

33 DO 10 I=1,N1M

34 IP=1+1

35 IM=I-1

38 20 FIUM=FIMV(I)

39 6 FIUP=FIPA(I)

41 66 DIVUH=(FIUP*UH(IP,J K, 1)-FIUM*UH(I,J,K,1))*DX1

42 > +(FJUP*UH(1,JP,K,2)-FIUM*UH(1,J,K,2))/DY(J)

43 > +(UH(1,J,KP,3)-UH(1,J,K,3))*DX3

45 55 CBC=(1.-FJUM)*UBC1(I,K,2)/DY(J)

46 > -(1.-FJUP)*UBC2(I K,2)/DY(J)

47 > +(1-FIUM)*UBC3(J,K,1)*DX1

48 > -(1.-FIUP)*UBC4(J,K,1)*DX1

49 15 RDP(1,J,K)=(DIVUH-CBC)/DT

50 10 CONTINUE

@ J, I, KECZ 5 Adlg = 2T AMS K, J, | =22 HIH BHE UH, ROPO CH
8t 20 ¢xH0] D=2 ol¥UCH  of2d  UBC1(2,1,K), UBC2(2,1,K),
UBC3(1,J,K), UBC4(1,J,K) HiZ%= UBCI(l,K,2), UBC2(l,K,2), UBC3(J,K,1),
UBC4(J,K,1)22 BHHl &2 A4S =012 UCH

@ UM, IUP, JUM, JUPES HI&tot=
FJUMZF FJUP2Z 20t AtEotd UL

[wm]
=
HO
=2
x
x
rr
=]
_>,—_|

o= S FIUM, FIUP,

H

N. takedp.f
0l 222 S0l 20! 504 2202 LA Hlm &Y}
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< Original 2& >

29 C Cosine transform of RDP in X1 direction
31 IPC(0)=0 I Initialize
32 DO 100 J=1,N2M
33 DO 100 K=1,N3M
34 DO L=0,N1M-1
35 56 R1(L)=RDP(L+1,J,K)
36 END DO
37 CALL DDCT(N1M,-1,R1,IPC,WC)
38 DO L=0,N1M-1
39 48 CRDP(L,J,K)=R1(L)
40 END DO
41 100 CONTINUE
44 C FFT of RDP in X3 direction
46 IPF(0)=0 ! Initialize
a7 DO 110 L=0,N1M-1
48 DO 110 J=1,N2M
49 9 DO K=0,N3M-1
50 704 R2(K)=CRDP(L,J,K+1)
51 END DO
52 CALL RDFT(N3M,1,R2,IPF,WF)
53 DO 111 M=0,N3M/2-1
54 146 FRDP_R(L,J,M)=R2(M*2)
55 434 111 FRDP_I(L,J,M)=R2(M*2+1)
56 19 FRDP_R(L,J,N3M/2)=R2(1)
57 110 CONTINUE
< x&8g ZE >
26 C Cosine transform of RDP in X1 direction
28 DO 100 K=1,N3M
29 call cosfftj_d(RDP(1,1,K),M1,CRDP(0,1,K),M1+1,2*N1M,N2M,1.d0)
30 100 CONTINUE
33 C FFT of RDP in X3 direction
35 DO 110 J=1,N2M
36 1 DO 110 LS=0,N1M-1,IBLK
37 1 LE=MIN(LS+IBLK-1,N1M-1)
38 c===
39 1 DO K=0,N3M-1
40 DO L=LS,LE
41 L1=L-LS
42 63 R2(K,L1)=CRDP(L,J,K+1)
43 ENDDO
44 3 ENDDO
46 call refft_d(r2,n3m+2,r2,n3m+2,n3m,le-Is+1,-1,1.d0)
48 DO M=0,N3M/2-1
49 2 DO L=LS,LE
50 L1=L-LS
51 38 FRDP_R(L,J,M)=R2(M*2,L1)
52 25 FRDP_I(L,J,M)=R2(M*2+1,L1)
53 ENDDO
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54 1 ENDDO

55 DO L=LS,LE

56 L1=L-LS

57 FRDP_R(L,J,N3M/2)=R2(2*(N3M/2),L1)

58 ENDDO

59 c===

60 110 CONTINUE

@ Original 2=0A BIZ ROPOI CHSH 2 ARl BIStS 8G5l= DOCTRE &l =H
StEl cosfftid REIS AEStD UL zAHF DEOAME LAl H2(original 2&
O R1)E AIZ26IAl 21 RDPE A& cosffti_dz2 MLl 1 Z2UE CROPZ AE
cIEet) QACH DDCTIt 1XHE HIE S Xcelot= B cosfftide 2XH& BHE Ol CH
of DAtel HEts 3ol & B0l O e A4S +=dotES ot UL

@ L, JRZ Bt5g J, LRZ BI202 HZEGSILD 22X LS 37| IBLKZ block3t 6tH
HMelstn QUCH original 2E0A & ROFTOF 1XHE BHE R2(K)E XMelot= BtH
Z X3 DEA 2E refft_.d= 2X2 BIZ R2(N3M,IBLK)E Melatn QUCH

< Original Z& >

60 C Solution of Poisson eq. ; REAL part

61

62 DO 70 L=0,N1M-1

63 DO 70 M=0,N3M/2

64

65 DO 71 J=1,N2M

66 7 CMJI(J)=PMI(J)

67 181 CCJI(J)=PCJI(J)-AK3(M)-AK1(L)

68 5 CPJ(J)=PPJ(J)

69 13 R(@)=FRDP_R(L,J,M)

70 71 CONTINUE

72 C Special treatment to remove singularity when I=k=0

73

74 IF (L.EQ.0.AND.M.EQ.0) THEN

75 CPJ(N2M-1)=0.0

76 CALL TDMA(CMJ,CCJ,CPJ,R,R,1,N2M-1)

77 ENDIF

78 IF (L.NE.0.OR.M.NE.O) CALL TDMA(CMJ,CCJ,CPJ,R,R,1,N2M)

79 1 DO 73 J=1,N2M

80 155 73 FDP_R(L,J,M)=R(@J)

81 IF (L.EQ.0.AND.M.EQ.0) FDP_R(L,N2M,M)=0.

82

83 70 CONTINUE

< xHs RE >
63 C Solution of Poisson eq. ; REAL part
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64

65 DO 70 M=0,N3M/2

66

67 DO 71 J=1,N2M

68 DO 71 L=0,N1M-1

69 5 CMJ(L,J)=PMJ(J)

70 26 CCJ(L,J)=PCJI(J)-AK3(M)-AK1(L)

71 CPJ(L,J)=PPJ(J)

72 22 R(L,J)=FRDP_R(L,J,M)

73 71 CONTINUE

75 C Special treatment to remove singularity when I=k=0

76

77 IF (M.EQ.0) THEN

78 CPJ(0,N2M-1)=0.0

79 CALL TDMAIO(CMJ,CCJ,CPJ,R,R,1,N2M-1,0,0)

80 CALL TDMAIO(CMJ,CCJ,CPJ,R,R,1,N2M,1,N1M-1)

81 ELSE

82 CALL TDMAIO(CMJ,CCJ,CPJ,R,R,1,N2M,0,N1M-1)

83 ENDIF

84 DO J=1,N2M

85 DO L=0,N1M-1

86 16 FDP_R(L,J,M)=R(L,J)

87 c IF (L.EQ.0.AND.M.EQ.0) FDP_R(L,N2M,M)=0.

88 ENDDO

89 ENDDO

90

91 70 CONTINUE

92 FDP_R(0,N2M,0)=0.

@ Original 2LEWAS L, M, J 22T Az M, J, LY =NMZ2 HZo i
FRDP_R(L,J,M)0fl THEt 20| d5Ho2 Held=s ofCch

@ TDOMAZSl z[H3 ZEIQI TDMAIOE AMEdtD JA2H 012 fdH &AM HA4HE/UXO
original ZEH M2 1XH& HIE CMJ, CCJ, CPJ, R 2X& gz R4 = &3t
= FE TOMAIOZ MES D QUL

® Original 2=01A2 IF (L.EQ.0.AND.M.EQ.0) FDP_R(L,N2M,M)=0. =2=2

FDP_R(O,N2M,0)=0.2 CHAl 5} %iCt.

< Original 2Z& >

86
87
88
89
90
91
92
93
94

C Solution of Poisson eg. ; Image part

DO 80 L=0,N1M-1
DO 80 M=1,N3M/2-1

1 DO 81 J=1,N2M
4 CMI(I)=PMI(J)
13 CCI(J)=PCI(I)-AK3(M)-AKL(L)
2 CPJ(J)=PPJ(J)
221 81  R(J)=FRDP_I(L,J,M)
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95

96 CALL TDMA(CMJ,CCJ,CPJ,R,R,1,N2M)
97
98 DO 83 J=1,N2M
99 162 83  FDP_I(L,J,M)=R(J)
100 5 80 CONTINUE
< ®Hs RE >
95 C Solution of Poisson eg. ; Image part
96
97 DO 80 M=1,N3M/2-1
98 DO 81 J=1,N2M
99 DO 81 L=0,N1M-1
100 1 CMJ(L,J)=PMJ(J)
101 14 CCJ(L,J)=PCI(J)-AK3(M)-AKL(L)
102 CPJ(L,J)=PPJ(J)
103 23 81 R(L,J)=FRDP_I(L,J,M)
104
105 CALL TDMAIO(CMJ,CCJ,CPJ,R,R,1,N2M,0,N1M-1)
106
107 DO 83 J=1,N2M
108 DO 83 L=0,N1M-1
109 11 83  FDP_I(L,J,M)=R(L,J)
110 80 CONTINUE

@ Original ZEMAS L, M, J X A™#s M, J, LY &=AHA=2 BHZol LS
ju |

FROP_I(L,J,M)OHl CH

ArZotd UCH

< Original Z& >

0

=
st @29 gx4dE =010 TODMAL = H3

103
104
105
106
107
108 1
109 353
110
111 407
112
113
114 1
115
116
117 7
118

21

22

Inverse FFT of FDP in X3 direction

DO 200 L=0,N1M-1
DO 200 J=1,N2M

DO 21 M=0,N3M/2-1
R2(2*M)=FDP_R(L,J,M)
DO 22 M=1,N3M/2-1
R2(2*M+1)=FDP_I(L,J,M)
R2(1)=FDP_R(L,J,N3M/2)

CALL RDFT(N3M,-1,R2,IPF,WF)
DO K=0,N3M-1

R2(K)=R2(K)*2/N3M
END DO
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119
120
121
122
123

615

16

DO 23 K=1,N3M
23 CDP(L,J,K)=R2(K-1)

200 CONTINUE

113
114
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153
154
155
156

38

31

C Inverse FFT of FDP in X3 direction

scale=1./float(n3m)

DO 200 J=1,N2M

DO 200 LS=0,N1M-1,IBLK

LE=MIN(LS+IBLK-1,N1M-1)
c====

M=0

DO L=LS,LE
L1=L-LS
R2(2*M,L1)=FDP_R(L,J,M)
R2(2*M+1,L1)=0.

ENDDO

DO M=1,N3M/2-1

DO L=LS,LE
L1=L-LS
R2(2*M,L1)=FDP_R(L,J,M)
R2(2*M+1,L1)=FDP_I(L,J,M)

ENDDO

ENDDO
M=N3M/2

DO L=LS,LE
L1=L-LS
R2(2*M,L1)=FDP_R(L,J,M)
R2(2*M+1,L1)=0.

ENDDO

call crfft_d(r2,n3m+2,r2,n3m+2,n3m,le-Is+1,1,scale)

DO K=1,N3M
if(Is.ne.0) then
DO L=LS,LE
L1=L-LS
CDP(L,J,K)=R2(K-1,L1)
ENDDO
else
CDP(0,J,K)=R2(K-1,0)/2.
DO L=LS+1,LE
L1=L-LS
CDP(L,J,K)=R2(K-1,L1)
ENDDO
endif
ENDDO

C====
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157 1 200 CONTINUE

@ L JRE BIES J, LRE BIE02 HEM 29 dx4s =011 FFTE <ldl 2

A 2
Ol CHe Hl&tES =3otd UCH
< Original 2& >
126 C Inverse Cosine transform of CDP in X1 direction
127
128 DO 40 J=1,N2M
129 DO 40 K=1,N3M
130
131 DO 41 L=0,N1M-1
132 53 41 R1(L)=CDP(L,J,K)
133 R1(0)=R1(0)/2
134
135 CALL DDCT(N1M,1,R1,IPC,WC)
136
137 DO JJ=0,N1M-1
138 13 R1(JJ)=R1(JJ)*2/N1M
139 END DO
140
141 DO 42 1=1,N1M
142 44 42 DP(1,J,K)=R1(I-1)
143
144 40 CONTINUE
< ®Hg BE >
160 C Inverse Cosine transform of CDP in X1 direction
161
162 scale=2./N1M
163 DO 40 K=1,N3M
164 call cosfftk_d(CDP(0,1,K),M1+1,DP(1,1,K),M1,2*N1M,N2M,scale)
165 40 CONTINUE
@ oA DDCTERE tHdl =ASHE cosfftk_d

o) COPE A& cosfftk d2 HLol

DOCTIOt 1XH& HHES XNclotes BHH cosffti_de 2XH& HIE0 CHoli 2 Ate!
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SEl crfft_.dES AIEstd UL original 2 =0
E

= HMclots 2, A3t 28 crfft_.d= 2AH& HHE




O.

upcalc.f

< Original 2& >

21
23
24
25
26
27
28
30
31
32
33
34
35
36
37
38
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73

3121

3013

3098

10

11

12

20

21

22

U1 VELOCITY UPDATE
DO 10 1=2,N1M
DO 10 K=1,N3M
DO 10 J=1,N2M
U(L,1,3,K)=UH(1,1,J,K)
> -DT*(DP(1,J,K)-DP(I-1,J,K))*DX1
CONTINUE
DO 11 1=1,N1
DO 11 K=1,N3M
U(1,1,0,K)=UBC1(1,1,K)
U(L,1,N2,K)=UBC2(L,1,K)
CONTINUE
DO 12 J=1,N2M
DO 12 K=1,N3M
U(1,1,J,K)=UBC3(1,J,K)
U(1,N1,d,K)=UBC4(1,J,K)
CONTINUE

U2 VELOCITY UPDATE

DO 20 1=1,N1M
DO 20 K=1,N3M
DO 20 J=2,N2M
U(2,1,3,K)=UH(2,1,J,K)
> -DT*(DP(1,J,K)-DP(1,J-1,K))/H(J)
CONTINUE

DO 21 1=1,N1

DO 21 K=1,N3M
U(2,1,1,K)=UBC1(2,1,K)
U(2,1,N2,K)=UBC2(2,1,K)
CONTINUE

DO 22 J=1,N2M

DO 22 K=1,N3M
U(2,0,J,K)=UBC3(2,J,K)
U(2,N1,J,K)=UBC4(2,J,K)
CONTINUE

U3 VELOCITY UPDATE

DO 30 1=1,N1M
DO 30 K=1,N3M
KM=KMA(K)
DO 30 J=1,N2M
U(3,1,J,K)=UH(3,1,J,K)
> -DT*(DP(1,J,K)-DP(1,J,KM))*DX3

30 CONTINUE

DO 31 I=1,N1
DO 31 K=1,N3M
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74 5 U(3,1,0,K)=UBC1(3,1,K)

75 5 U(3,1,N2,K)=UBC2(3,1,K)
76 31 CONTINUE

77 DO 32 J=1,N2M

78 DO 32 K=1,N3M

79 3 U(3,0,J,K)=UBC3(3,J,K)

80 2 U(3,N1,J,K)=UBC4(3,J,K)
81 32 CONTINUE

83 PRESSURE UPDATE

85 DO 40 1=1,N1M

86 DO 40 J=1,N2M

87 DO 40 K=1,N3M

88 1703 P(1,3,K)=P(1,J,K)+DP(1,J,K)
89 40 CONTINUE

= A E>

21 Ul VELOCITY UPDATE

22

23 DO K=1,N3M

24 =

25 DO I=1,N1

26 3 U(1,0,K,1)=UBC1(l,K,1)

27 ENDDO

28 DO J=1,N2M

29 1 U(1,J,K,1)=UBC3(J,K,1)
30 DO I1=2,N1M

31 85 u(1,3,K,1)=UH(1,J,K, 1)
32 > -DT*(DP(1,J,K)-DP(I-1,J,K))*DX1
33 ENDDO

34 1 U(N1,J,K,1)=UBC4(J,K,1)
35 ENDDO

36 DO I=1,N1

37 4 U(1,N2,K,1)=UBC2(I,K,1)
38 ENDDO

39

50 U2 VELOCITY UPDATE

51

52 DO 22 K=1,N3M

53 DO I=1,N1

54 1 U(1,1,K,2)=UBC1(l,K,2)
55 ENDDO

56 J=1

57 U(0,J,K,2)=UBC3(J,K,2)
58 U(N1,J,K,2)=UBC4(J,K,2)
59 DO J=2,N2M

60 1 U(0,J,K,2)=UBC3(J,K,2)
61 DO I=1,N1M

62 70 U(1,,K,2)=UH(1,J,K,2)
63 > -DT*(DP(1,,K)-DP(1,J-1,K))/H()
64 ENDDO
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65 2 U(N1,J,K,2)=UBC4(J,K,2)
66 ENDDO
67 DO I=1,N1
68 2 U(I1,N2,K,2)=UBC2(I K,2)
69 ENDDO
80 U3 VELOCITY UPDATE
83 KM=KMA(K)
84 DO I=1,N1M
85 3 U(1,0,K,3)=UBC1(1,K,3)
86 ENDDO
87 DO J=1,N2M
88 1 U(0,J,K,3)=UBC3(J,K,3)
89 DO I=1,N1M
90 80 U(@1,d,K,3)=UH(1,J,K,3)
91 > -DT*(DP(1,J,K)-DP(1,J,KM))*DX3
92 ENDDO
93 3 U(N1,J,K,3)=UBC4(J,K,3)
94 ENDDO
95 DO I=1,N1M
96 1 U(I1,N2,K,3)=UBC2(1,K,3)
97 ENDDO
98
108 PRESSURE UPDATE
109
110 DO 40 K=1,N3M
111 DO 40 J=1,N2M
112 DO 40 I=1,N1M
113 65 P(1,3,K)=P(1,J,K)+DP(1,J,K)
114 40 CONTINUE
115 =====
116 enddo
@ Original 2Z=0A U1, U2, U3 velocity update 282 2% |,
2O J, KED Bt5o2 22 240 UL 0IHRZE K, J, 1<
U, UH, DP, POl gt 201 H5X0| Y == StUCE
@ 2T A £ HZESIH, Nl BE22 25 K2Z0 Uoll =

=
KEZE mergedt L.

A
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7. &X32E =3 21

1cp P690+ 1.7GHZ

Original Code 16.24sec/time step

Tuned Code 2.09sec/time step

Speedup 7.77

X Het=l DEE time step JIES 2 original 2E Yl 7.778H(2 M2 D]: 257 x 65 x 129)
o dssiAlg B0 F=RUCH DE MYEBORE=E =2 UX HHEH CHE MZ2 H20 &
=M HEE 2L AME=AZE HHolld, 501 24T Fourier g FEE 0|882=2
MW AssA2 210 Al 22X A SEQSHH BtE it = 2228 82 812z 0ls
A0, NEREINA ZMol= HAAMTHE ZA6H)] ol RENAM XelEe ige 2
XTE HAAIE UHE AIZ6tD UCH JIEF 2E HHUHA SIS BH=2Cs HAS

Z0l1 22X mergeE S¢ 283G S2 Soll dssa2 210 UL

Timing per timestep
(sec/timestep)

6
4
2
0

original Z &£ X M5z E

Jg.2 29 ds i

149



Chs2 AA IEZ=0U OpenMP directiveE &6t Y3 6f

CtS & JHXION CHoH

=k

o 8= 21 =0h

iniup.f

divcheck.f

cfl.f

getup.f

bcont.f

Uhcalc.f

rhsl.f

rhs2.f

rhs3.f

getduhl.f

getduh2.f

getduh3.f

rshsp.f

takedp.f

upcalc.f

plane_up.f

8.1. iniup.f
< ZH3 &X2E >

20 DO 10 K=1,N3M
21 DO 10 J=0,N2
22 DO 10 I=0,N1
23 4 u(1,3,K,1)=0.0
24 4 u(1,3,K,2)=0.0
25 u(1,3,K,3)=0.0
26 10 CONTINUE
29 C IMPOSE U VELOCITY
30 DO 20 K=1,N3M
31 DO 20 J=0,N2
32 DO 20 I1=0,N1
33 1 20 U(1,J,K,1)=1.0
36 C IMPOSE ZERO-PRESSURE FLUCTUATIONS
37 DO 60 K=1,N3M
38 DO 60 J=1,N2M
39 DO 60 I1=1,N1M
40 2 P(1,3,K)=0.0
41 60 CONTINUE

<OpenMP code>
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20 ISomp parallel do

21 DO 60 K=1,N3M

22 DO 10 J=0,N2

23 DO 10 I=0,N1

24 78 u(l,3,K,1)=0.0

25 79 u(l,3,K,2)=0.0

26 78 u(1,d,K,3)=0.0

27 10 CONTINUE

30 © IMPOSE U VELOCITY
31 c!$omp parallel do

32 c DO 20 K=1,N3M

33 DO 20 J=0,N2

34 DO 20 I1=0,N1

35 20 U(1,J,K,1)=1.0

38 © IMPOSE ZERO-PRESSURE FLUCTUATIONS
39 c!$omp parallel do

40 c DO 60 K=1,N3M

41 DO 60 J=1,N2M

42 DO 60 I=1,N1M

43 60 P(1,J,K)=0.0

44 60 CONTINUE

® HEs xJ|stele B2 parallel do XIAIHE Ol=2d &gt ofLt

8.2. divcheck.f

< EFEG =XM2E >

18
19
20
21
22
23
24
25
26
27
28
29
30
31
32

101

45

DO 20 K=1,N3M
DO 20 J=1,N2M
DO 20 1=1,N1M
KP=KPA(K)
KM=KMA(K)
DIV=ABS((U(1+1,J,K,1)-U(1,J K, 1))*DX1
> +(U(1,3+1,K,2)-U(1,4,K,2))/DY(J)
> +(U(1,3,KP,3)-U(1,J,K,3))*DX3)
IF (DIV.GT.DIVMAX) THEN
IMAX = |
IMAX = J
KMAX = K
ENDIF
DIVMAX = AMAX1(DIV,DIVMAX)
20 CONTINUE

<OpenMP code>

18
19
20
21
22

ISomp parallel do private(KP,KM,DIV) reduction(max:DIVMAX)
DO 20 K=1,N3M
KP=KPA(K)
KM=KMA(K)
DO 20 J=1,N2M
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23 DO 20 I1=1,N1M
24 DIV=ABS((U(1+1,J,K,1)-U(l,J,K,1))*DX1
25 > +(U(1,d+1,K,2)-U(1,J,K,2))/DY(J)
26 > +(U(1,J,KP,3)-U(l,J,K,3))*DX3)
32 217 DIVMAX = AMAX1(DIV,DIVMAX)
33 20 CONTINUE
® ZlU8t DIVMAXE Fol= 222 YZ3otHA 0 2dE0AN SREX 200k
Tl= KP, KM, DIVE private B2 Heldtd ULt
@ B2 fE MHotD X XIAIK reductiondt H& maxE 0|2df Jots =
g2 gdgz 20 Y
8.3. cfl.f
< ZH &x2E >
19 DO 10 K=1,N3M
20 KP=KPA(K)
21 DO 10 J=1,N2M
22 1 JP=J+1
23 DO 10 I=1,N1IM
24 IP=I+1
25 183 CFLL=ABS(U(I,J,K,1)+U(IP,J,K,1))*0.5*DX1
26 > +ABS(U(1,J,K,2)+U(1,JP,K,2))*0.5/DY(J)
27 > +ABS(U(1,J,K,3)+U(1,d,KP,3))*0.5*DX3
28 2 CFLM=AMAX1(CFLM,CFLL)
29 2 10 CONTINUE
<OpenMP code>
19 1ISomp parallel do private(KP,JP,IP,CFLL) reduction(max:CFLM)
20 DO 10 K=1,N3M
21 KP=KPA(K)
22 DO 10 J=1,N2M
23 JP=J+1
24 1 DO 10 I=1,N1M
25 IP=I+1
26 CFLL=ABS(U(I,J,K,1)+U(IP,J,K,1))*0.5*DX1
27 > +ABS(U(1,J,K,2)+U(1,JP,K,2))*0.5/DY(J)
28 > +ABS(U(1,J,K,3)+U(1,d,KP,3))*0.5*DX3
29 329 CFLM=AMAX1(CFLM,CFLL)
30 1 10 CONTINUE

@ zI0igt CFLM Fots 222 EEZSotEAM Hdd AdE0A SREX $0H0F &=
KP, JP, IP, CFLLZ private B2 Xclotl] UL
A

@ 22X XIAO reductionzt A& maxE Ol2adll =ICHa! MES gHE2 2 QL

Z—{I_I

I
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8.4. getup.f

< ®Hs =x2E >

14 Cc INITIALIZE THE INTERMEDIATE VELOCITY AND PRESSURE
15 DO 10 K=1,N3M
16 DO 10 J=0,N2

17 DO 10 1=0,N1

18 12 UH(1,J,K,1)=0.0
19 169 UH(1,J,K,2)=0.0
20 2 UH(1,J,K,3)=0.0
21 10  CONTINUE

22 DO 20 K=1,N3M
23 1 DO 20 J=1,N2M
24 DO 20 1=1,N1M
25 54 20 DP(1,J,K)=0.0

<OpenMP code>

14 © INITIALIZE THE INTERMEDIATE VELOCITY AND PRESSURE
15 ISomp parallel do

16 DO 20 K=1,N3M
17 DO 10 J=0,N2

18 224 DO 10 I1=0,N1

19 117 UH(1,J,K,1)=0.0
20 101 UH(1,J,K,2)=0.0
21 107 UH(1,J,K,3)=0.0
22 10 CONTINUE

23 c DO 20 K=1,N3M
24 DO 20 J=1,N2M
25 DO 20 I=1,N1M
26 212 20 DP(l1,J,K)=0.0

D K BZE mergeotdd, parallel doES & ol HES o

8.5. bcont.f
< F &t &=X2E >
21 DO 10 K=1,N3M
22 DO 10 I=1,N1
24 c Lower Wall boundary conditions
25 3 UBC1(l,K,1)=0.0 ! U(1,1,0,K) Lower WALL : No-slip condition
26 UBC1(1,K,2)=0.0 ! U(2,1,1,K)
27 UBC1(1,K,3)=0.0 ! U(3,1,0,K)
36 (o For MAIN SIMULATION
37 UBC2(1,K,1)=1.0 ! U(1,1,N2,K)
38 UBC2(1,K,2)=U(I,N2M,K,2) ! U(2,I,N2,K)
39 1 UBC2(1,K,3)=U(I,N2M,K,3) ! U(3,I,N2,K)
41 10 CONTINUE
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50 C BOUNDARY CONDITION 2001/12/29

52 DO 15 K=1,N3M

53 DO 15 I=1,N1M/3

54 1 15 UBC1(l,K,1)=U(l1,0,K,1)

56 c INLET BOUNDARY CONDITION

57 DO 20 K=1,N3M

58 DO 20 J=1,N2M

59 UBC3(J,K,1)=1.0

60 2 UBC3(J,K,2)=0.0

61 UBC3(J,K,3)=0.0

62 20 CONTINUE
<OpenMP code>

22 ISomp parallel do

23 DO 20 K=1,N3M

24 DO 10 I=1,N1

26 c Lower Wall boundary conditions

27 4 UBC1(l,K,1)=0.0 ! U(1,1,0,K) Lower WALL : No-slip condition

28 3 UBC1(l,K,2)=0.0 ! U(2,1,1,K)

29 5 UBC1(1,K,3)=0.0 ! U(3,1,0,K)

30

31 c Upper Wall boundary conditions

32

38 © For MAIN SIMULATION

39 2 UBC2(1,K,1)=1.0 ! U(1,I,N2,K)

40 1 UBC2(1,K,2)=U(I,N2M,K,2) ! U(2,I,N2,K)

41 4 UBC2(1,K,3)=U(I,N2M,K,3) ! U(3,I,N2,K)

43 10 CONTINUE

52 © BOUNDARY CONDITION 2001/12/29

55 DO 15 I=1,N1M/3

56 15 UBC1(l,K,1)=U(l1,0,K,1)

58 © INLET BOUNDARY CONDITION

60 DO 20 J=1,N2M

61 UBC3(J,K,1)=1.0

62 UBC3(J,K,2)=0.0

63 UBC3(J,K,3)=0.0

64 20 CONTINUE

® K BZE mergedtd, parallel doE &loll H&E 3 GHALE
< EZHAF =X2E >

66 UC=0.0

67 DO 31 K=1,N3M

68 DO 31 J=1,N2M

69 5 UC=UC+U(N1,J,K,1)*DY(J)/DX3

70 31 CONTINUE

71 UC=UC/ALZ/ALY ! BULK VELOCITY

72 DO 32 K=1,N3M

73 DO 32 J=1,N2M
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74 4 UBC4(J,K,1)=U(N1,J,K,1)-DT*DX1*UC*(U(N1,J,K,1)-U(N1M,J,K,1))

75 1 UBC4(J,K,2)=U(N1,J,K,2)-DT*DX1*UC*(U(N1,J,K,2)-U(N1M,J,K,2))
76 6 32 UBCA4(J,K,3)=U(N1,J,K,3)-DT*DX1*UC*(U(N1,,K,3)-U(N1M,J,K,3))
78 c THE INTERGAL OF MASS FLUX MUST BE ZERO!!!!
79 Q_IN=0.
80 Q_UP=0.
81 Q_DOWN=O0.
82 Q_EX=0.
83 DO 33 K=1,N3M
84 DO 33 J=1,N2M
85 1 Q_IN=Q_IN+UBC3(J,K,1)*DY(J)/DX3
86 33  Q_EX=Q_EX+UBC4(J,K,1)*DY(J)/DX3
88 DO 35 K=1,N3M
89 DO 35 1=1,N1M
90 Q_UP=Q_UP+UBC2(l,K,2)/DX1/DX3
91 35  Q_DOWN=Q DOWN-+UBC1(I,K,2)/DX1/DX3
93 WRITE(*,*)
94 WRITE(*,100) Q_IN,Q_UP,Q_EX
96 99  FORMAT(4(E15.7,X))
97 100 FORMAT('MASS FLUX : Q_IN='",E10.4,X,'Q_UP="E10.4,X,'Q_EX=',E10.4)
99 RATE=(Q_IN+Q_DOWN-Q_UP)/Q_EX
101 DO 34 K=1,N3M
102 DO 34 J=1,N2M
103 UBC4(J,K,1)=RATE*UBC4(J,K,1)
104 UBC4(J,K,2)=RATE*UBC4(J K, 2)
105 1 34 UBC4(J,K,3)=RATE*UBC4(J,K,3)

<OpenMP code>

68 UC=0.0

69 ISomp parallel do reduction(+:UC)

70 DO 31 K=1,N3M

71 DO 31 J=1,N2M

72 5 UC=UC+U(N1,J,K,1)*DY(J)/DX3

73 31 CONTINUE

74 UC=UC/ALZ/ALY ! BULK VELOCITY

75 ISomp parallel do

76 DO 32 K=1,N3M

77 DO 32 J=1,N2M

78 5 UBC4(J,K,1)=U(N1,J,K,1)-DT*DX1*UC*(U(N1,J,K,1)-U(N1M,J,K,1))
79 4 UBC4(J,K,2)=U(N1,J,K,2)-DT*DX1*UC*(U(N1,J,K,2)-U(N1M,J,K,2))
80 4 32 UBC4(J,K,3)=U(N1,J,K,3)-DT*DX1*UC*(U(N1,J,K,3)-U(N1IM,J,K,3))
82 © THE INTERGAL OF MASS FLUX MUST BE ZERO!!!!

83 Q_IN=0.

84 Q_UP=0.

85 Q_DOWN=0.

86 Q_EX=0.

87 ISomp parallel do reduction(+:Q_IN,Q_UP,Q _DOWN,Q_EX)

88 DO 35 K=1,N3M

89 DO 33 J=1,N2M

90 Q_IN=Q_IN+UBC3(J,K,1)*DY(J)/DX3

91 33 Q_EX=Q_EX+UBC4(J,K,1)*DY(J)/DX3

94 DO 35 I=1,N1M

95 Q_UP=Q UP+UBC2(l,K,2)/DX1/DX3
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96 35 Q_DOWN=Q DOWN+UBC1(l,K,2)/DX1/DX3
98 WRITE(*,*)
99 WRITE(*,100) Q_IN,Q_UP,Q_EX
101 99  FORMAT(4(E15.7,X))
102 100 FORMAT('MASS FLUX : Q_IN=',E10.4,X,'Q_UP='E10.4,X,'Q_EX=',E10.4)
104 RATE=(Q_IN+Q_DOWN-Q UP)/Q_EX
106 I$Somp parallel do
107 DO 34 K=1,N3M
108 DO 34 J=1,N2M
109 UBC4(J,K,1)=RATE*UBC4(J,K,1)
110 UBC4(J,K,2)=RATE*UBC4(J,K,2)
111 34  UBC4(J,K,3)=RATE*UBC4(J,K,3)

st ot I, UC,Q_IN,Q_UP,Q_DOWN,Q_EX & =
A

dE 82 82 HudEd = OAl MM

8.6. uhcalc.f
< ®HEF =xZ2E >
76 C INTERMEDIATE VELOCITY, U*=U"NN+dU*
77
78 DO 300 K=1,N3M
79 DO 300 J=1,N2M
80 DO 300 I=2,N1M
81 60 300  UH(1,3,K,1)=U(1,J,K,1)+UH(1,J,K,1)
82
83 DO 310 K=1,N3M
84 DO 310 J=2,N2M
85 DO 310 I=1,N1M
86 65 310  UH(1,3,K,2)=U(1,J,K,2)+UH(1,J,K,2)
87
88 DO 320 K=1,N3M
89 1 DO 320 J=1,N2M
90 DO 320 I=1,N1M
91 75 320  UH(1,3,K,3)=U(1,J,K,3)+UH(1,J K,3)

<OpenMP code>

77 © INTERMEDIATE VELOCITY, U*=U"N+dU*
78
79 1ISomp parallel do
80 DO 320 K=1,N3M
81 DO 300 J=1,N2M
82 DO 300 I=2,N1M
83 133 300 UH(1,J,K,1)=U(1,d,K,1)+UH(1,J,K,1)
84
85 cl$omp parallel do
86 C DO 310 K=1,N3M
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87
88
89
90
91
92
93
94
95

133

146

DO 310 J=2,N2M
DO 310 1=1,N1M
310 UH(1,J,K,2)=U(1,J,K,2)+UH(1,J,K,2)

c!$omp parallel do
c DO 320 K=1,N3M
DO 320 J=1,N2M
DO 320 I=1,N1M
320  UH(1,3,K,3)=U(1,J,K,3)+UH(1,J,K,3)

D parallel doE Ol2dl 2EZE Y of}C
8.7. rhsl.f
< FH3 &XZ2E >
25 DO 10 K=1,N3M
26 KP=KPA(K)
27 KM=KMA(K)
29 DO 1=2,N1M
30 IP=1+1
31 IM=I-1
32 2 VISCOS1(1) =0.5/RE*(2.0/H(2)/(H(1)+H(2))*U(1,2,K,1)
33 > -2.0/H(L)/H(2)*U(1,1,K,1)
34 > +2.0/H(1)/(H(1)+H(2))*U(l,0,K,1))
35 3 VISCOS2(1) =0.5/RE*(2.0/H(N2M)/(H(N2)+H(N2M))*U(I1,N2M-1,K,1)
36 > -2.0/H(N2M)/H(N2)*U(1,N2M,K, 1)
37 > +2.0/H(N2)/(H(N2)+H(N2M))*U(I,N2,K,1))
38 2 BC_DOWN(1)=0.5/RE*2.0/H(1)/(H(1)+H(2))*UBC1(l,K,1)
39 > +0.5/DY(1)*0.5*(U(l,1,K,2)+U(IM,1,K,2))*UBC1(l,K,1)
40 > +0.5/DY(1)*U(1,0,K,1)*0.5*(UBC1(l,K,2)+UBC1(IM,K,2))
42 BC_UP(I) =0.5/RE*2.0/H(N2)/(H(N2)+H(N2M))*UBC2(I,K,1)
43 > -0.5/DY(N2M)*0.5*(U(I,N2,K,2)+U(IM,N2,K,2))*UBC2(I K, 1)
44 > -0.5/DY(N2M)*U(1,N2,K,1)*0.5*(UBC2(1,K,2)+UBC2(IM,K,2))
45 ENDDO
47 DO 10 J=1,N2M
48 JP=J+1
49 IM=J-1
52 FIUM=FIMU(J)
53 FIUP=FJPA(J)
54 4 DO 1=2,N1M
55 IP=1+1
56 IM=I-1
59 FIUM=FIMU(I)
60 18 FIUP=FIPA(I)
62 100 VISCOS=0.5*DX1Q/RE*(U(IP,J,K ,1)-2.0*U(l,J,K,1)+U(IM,J K ,1))
63 > +0.5*DX3Q/RE*(U(I ,J,KP,1)-2.0*U(l,J,K,1)+U(l ,J,KM,1))
64 > +FJUM*FJUP*0.5/RE*(HP(J)*U(1,JPK,1)
65 > -HC@I)*U(1,d K,1)
66 > +HM@)*U(1,dM,K, 1))
67 > +(1.-FJUM)*VISCOS1(1)
68 > +(1.-FJUP)*VI1SCOS2(l)

157




14
14

32

30

45

65

PRESSG1=DX1*(P(l,d,K)-P(IM,J,K))
U2=0.5*(U(IP,J,K,1)+U(l ,J,K,1))
U1=0.5*(U(l ,J,K,1)+U(IM,J K, 1))
BC_IN = DX1*U1*0.5*UBC3(J,K,1)

>

+0.5/RE*DX1Q*UBC3(J,K,1)

BC_OUT=-DX1*U2*0.5*UBC4(J,K,1)

>

+0.5/RE*DX1Q*UBC4(J,K,1)

BC=(1.-FJUM)*BC_DOWN(I)
> +(1.-FJUP)*BC_UP(I)

> +(1-FIUM)*BC_IN

> +(1.-FIUP)*BC_OUT
RDUH1(1,J,K)=1./DT*U(l,J,K,1)

> -PRESSG1+VISCOS
> +BC

ENDDO

DO 10 I1=2,N1M

IP=1+1

IM=I-1

FIUM=FIMU(I)

FIUP=FIPA(I)

CONTINUE

<OpenMP code>

24
25
26
27
28
29
30
31
32
52
53
54
57
58
59
60
61
64
65
67
68
69
70
71
74
75
76
77

13

1ISomp parallel do default(shared)

1ISomp& private(1P,IM,JP,JM,KP,KM,FIUM,FIUP,FJUM,FJUP,
ISomp& VISCOS,PRESSG1,BC_DOWN,BC_UP,BC_IN,BC_OUT,BC,
ISomp& U1,U2,V1,V2,W1,W2,

ISomp& API,ACI,AMI,APJ,ACJ,AMJ,APK,ACK,AMK,

1ISomp& RM11U_N,RM12V_N,RM13W_N)

DO 10 K=1,N3M

KP=KPA(K)

KM=KMA(K)

DO 10 J=1,N2M

JP=J+1

JM=J-1

FIUM=FIMU(J)

FIUP=FJPA(J)

DO 10 I=2,N1M

IP=1+1

IM=I-1

FIUM=FIMU(I)

FIUP=FIPA(I)

VISCOS=0.5*DX1Q/RE*(U(IP,J,K ,1)-2.0*U(l,J,K,1)+U(IM,J,K ,1))

>

VVVVVVYV

+0.5*DX3Q/RE*(U(I ,J,KP,1)-2.0*U(l,d,K,1)+U(l ,J,KM,1))
+FJUM*FIJUP*0.5/RE*(HP(J)*U(1,JP,K,1)
-HC@@)*U(1,J K,1)
+HM@I)*U(1,IM,K, 1))
+(1.-FIUM)*0.5/RE*(2.0/H(2)/(H(1)+H(2))*U(1,2,K,1)
-2.0/H(L)/H(2)*U(1,1,K,1)
+2.0/H(L)/(H(1)+H(2))*U(1,0,K,1))
+(1.-FJUP)*0.5/RE*(2.0/H(N2M)/(H(N2)+H(N2M))*U(I,N2M-1 K, 1)
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78 > -2.0/H(N2M)/H(N2)*U(1,N2M,K,1)

79 > +2.0/H(N2)/(H(N2)+H(N2M))*U(1,N2,K,1))

81 PRESSG1=DX1*(P(l,J,K)-P(IM,J,K))

82 BC_DOWN=0.5/RE*2.0/H(1)/(H(1)+H(2))*UBC1(l,K,1)

83 > +0.5/DY(1)*0.5*(U(1,1,K,2)+U(IM,1,K,2))*UBCL(I,K,1)

84 > +0.5/DY(1)*U(1,0,K,1)*0.5*(UBCL(I,K,2)+UBCL1(IM,K,2))

85 BC_UP =0.5/RE*2.0/H(N2)/(H(N2)+H(N2M))*UBC2(1,K,1)

86 > -0.5/DY(N2M)*0.5*(U(I,N2,K,2)+U(IM,N2,K,2))*UBC2(I K, 1)

87 > -0.5/DY(N2M)*U(I,N2,K,1)*0.5*(UBC2(1,K,2)+UBC2(IM,K,2))

91 U2=0.5*(U(IP,J,K,1)+U(l ,J,K,1))

92 U1=0.5*(U(l ,J,K,1)+U(IM,J,K,1))

94 BC_IN = DX1*U1*0.5*UBC3(J,K,1)

95 > +0.5/RE*DX1Q*UBC3(J,K,1)

9 BC_OUT=-DX1*U2*0.5*UBC4(J,K,1)

97 > +0.5/RE*DX1Q*UBC4(J,K,1)

100 BC=(1.-FJUM)*BC_DOWN

101 > +(1.-FJUP)*BC_UP

102 > +(1.-FIUM)*BC_IN

103 > +(1.-FIUP)*BC_OUT

105 1695 RDUH1(1,J,K)=1./DT*U(l,J,K,1)

106 > -PRESSG1+VISCOS

107 > +BC

172 2 10 CONTINUE

@ parallel doS 0120 MY HIZAZE KREE HAES of L

@ =X2E ZES BHUM JRZN SEEQ 228 JRT Ho=Z 0IsSAH 22
St At BIES =0/l HES 050, 88 RSlAMesE 0 B2s U2
HE3 AIIIK LD CAl |2 2UC2 sl & HHEIE AEGHD QUL =2
ZIQoH Bt=2re B2 JRI SHilA Hatcls 2 ESE DEE HES 6l Hlw
off 2 20 AYE JHz=DF 404 OlA0l TIHA A2 20| 2ol REE Hds
S o As0l EH USsS &0l8 2= UJUL

8.8. getduhl.f

< EFEG =XM2E >

30
31
32
33
36
37
38
39
40
42
43

DO 2 K=1,N3M
DO 20 J=1,N2M
1 P=J+1
IM=J-1
FIUM=FIMU(J)
2 FIUP=FJPA(J)
DO 20 1=2,N1M
IP=1+1
IM=I-1
7 V2=0.5*(U(1,JP,K,2)+U(IM,JP,K,2))
1 V1=0.5*(U(1,d ,K,2)+U(IM,J ,K,2))
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45 36
46
47
48
49
50 52
51
52
53
54
55
56
57 12
58
59
60
61
62 60
63
65
66
67
68 51
69

20

21

APJ(1,J)=FIUP*(
FJUM*(-0.5)*HP(J)/RE
+(1.-FIUM)*(-0.5)/RE*2.0/H(2)/(H(1)+H(2))
+0.5/DY(J)*V2/H(IP)*DY(3)/2.0
y*DT
ACJ(1,9)= (FIJUM*FIUP*0.5*HC(J)/RE
+(1.-FJUM)*0.5/RE*2.0/H(1)/H(2)
+(1.-FJUP)*0.5/RE*2.0/H(N2)/H(N2M)
+0.5/DY(J)*(FIUP*V2/H(JP)*DY(JP)/2.0
-FJUM*V1/H(J )*DY(IM)/2.0)

V.V V V

y*DT
+1.0
AMI(1,J)=FIUM*(
FJUP*(-0.5)*HM(J)/RE

VVVVVYV

-0.5/DY(J)*V1/H(J)*DY(J)/2.0
y*DT
R2(1,J)=RDUH1(1,J,K)*DT
CONTINUE
CALL TDMAI(AMJ,ACJ,APJ,R2,R2,1,N2M,2,N1M)
DO 21 J=1,N2M
DO 21 1=2,N1M
UH(1,J,K,1)=R2(1,J)
CONTINUE

V.V V V

<OpenMP code>

30
31
32
33
34
35
38
39
40 12
41
42
44 30
45
47 79
48
49
50
51
52 141
53
54
55
56
57
58
59 144
60

1$omp parallel do private(JP,JM,IP,IM,FJUM,FJUP,V1,V2,
1$ompé& APJ,ACJ,AMJ,R2)

DO 2 K=1,N3M
DO 20 J=1,N2M
P=3+1
IM=J-1
FIUM=FIMU(J)
FJUP=FJPA(J)
DO 20 1=2,N1M
IP=1+1
IM=I-1
V2=0.5*(U(1,JP,K,2)+U(IM,JP,K,2))
V1=0.5*(U(1,d ,K,2)+U(IM,J ,K,2))
APJ(1,3)=FJUP*(
FJUM*(-0.5)*HP(J)/RE
+(1.-FJUM)*(-0.5)/RE*2.0/H(2)/(H(1)+H(2))
+0.5/DY(J)*V2/H(IP)*DY(J)/2.0
)*DT
ACI(1,3)= (FIUM*FIUP*0.5*HC(J)/RE

VV VYV

> +(1.-FJUM)*0.5/RE*2.0/H(1)/H(2)
> +(1.-FJUP)*0.5/RE*2.0/H(N2)/H(N2M)
> +0.5/DY(J)*(FJUP*V2/H(JP)*DY(JP)/2.0
> -FJUM*V1/H(J )*DY(IM)/2.0)
> )*DT
> +1.0
AMI(1,9)=FIUM*(
> FJUP*(-0.5)*HM(J)/RE
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61 > +(1.-FJUP)*(-0.5)/RE*2.0/H(N2M)/(H(N2M)+H(N2))
62 > -0.5/DY(J)*V1/HJ)*DY(J)/2.0
63 > )*DT
64 157 R2(1,J)=RDUH1(1,J,K)*DT
65 1 20 CONTINUE
67 CALL TDMAI(AMJ,ACJ,APJ,R2,R2,1,N2M,2,N1M)
68 DO 21 J=1,N2M
69 DO 21 1=2,N1M
70 167 21  UH(1,J,K,1)=R2(l,J)
71 2 CONTINUE
< ZEg &X2E

71 DO 1 K=1,N3M
72 DO 10 J=1,N2M
73 DO 10 1I=2,N1M
74 IP=1+1
75 IM=I-1
78 1 FIUM=FIMU(I)
79 1 FIUP=FIPA(I)
81 31 U2=0.5*(U(IP,J,K,1)+U(l ,J,K,1))
82 10 U1=0.5*(U(l ,J,K,1)+U(IM,J,K,1))
83 11 API(1,J)= (-0.5*DX1Q/RE
84 > +DX1*U2*0.5)*FIUP
85 > *DT
86 26 ACI(1,J)= 1.0+(
87 > +DX1Q/RE
88 > +DX1*(U2*0.5-U1*0.5)
89 > )*DT
91 21 AMI(1,J)= (-0.5*DX1Q/RE
92 > -DX1*U1*0.5)*FIUM
93 > *DT
95 18 R1(1,3)=UH(1,J,K,1)
96 10 CONTINUE
98 CALL TDMAJ(AMI,ACI,API,R1,R1,2,N1M,1,N2M)
99 DO 11 J=1,N2M

100 DO 11 1=2,N1M

101 35 11 UH(1,J,K,1)=R1(1,J)

102 1 CONTINUE

<OpenMP code>

73 1$omp parallel do private(IP,IM,FIUM,FIUP,U1,U2,
74 1$ompé& API,ACI,AMI,R1)
75 DO 1 K=1,N3M
76 DO 10 J=1,N2M
77 28 DO 10 I=2,N1M
78 IP=1+1
79 IM=I-1
82 FIUM=FIMU(I)
83 FIUP=FIPA(I)
85 U2=0.5*(U(IP,J,K,1)+U(l ,J,K,1))
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86 U1=0.5*(U(l ,J,K,1)+U(IM,J,K,1))
87 112 API(1,J)= (-0.5*DX1Q/RE
88 > +DX1*U2*0.5)*FIUP
89 > *DT
90 72 ACI(1,J)= 1.0+(
91 > +DX1Q/RE
92 > +DX1*(U2*0.5-U1*0.5)
93 > )*DT
95 106 AMI(1,J)= (-0.5*DX1Q/RE
96 > -DX1*U1*0.5)*FIUM
97 > *DT
99 126 R1(1,J)=UH(I,J,K,1)
100 10 CONTINUE
102 CALL TDMAJ(AMI,ACI,API,R1,R1,2,N1M,1,N2M)
103 DO 11 J=1,N2M
104 DO 11 1=2,N1M
105 100 11  UH(1,J,K,1)=R1(l,J)
106 1 CONTINUE
< ZE8g &X2E
104 DO 3 J=1,N2M
105 DO 30 K=1,N3M
106 KP=KPA(K)
107 KM=KMA(K)
108 DO 30 I=2,N1M
109 IP=1+1
110 IM=I-1
112 51 W2=0.5*(U(IM,J,KP,3)+U(l,J,KP,3))
113 10 W1=0.5*(U(IM,J,K ,3)+U(l,J,K ,3))
115 27 APK(I,K)=(
116 > -0.5*DX3Q/RE
117 > +0.5*DX3*W2*0.5
118 > )*DT
119 20 ACK(I1,K)=1.+(
120 > +DX3Q/RE
121 > +0.5*DX3*(W2*0.5-W1*0.5)
122 > )*DT
123 28 AMK(1,K)=(
124 > -0.5*DX3Q/RE
125 > -0.5*DX3*W1*0.5
126 > )*DT
127 32 R3(1,K)=UH(1,J,K,1)
128 30 CONTINUE
129 CALL CTDMASI(AMK,ACK,APK,R3,UH(0,0,0,1),J,N3M,2,N1M)
130 3 CONTINUE
<OpenMP code>
108 1$omp parallel do private(KP,KM,W1,W2,
109 1I$omp& APK,ACK,AMK,R3)
110 DO 3 J=1,N2M
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111
112
113
114
115
116
118
119
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136

DO 30 K=1,N3M
KP=KPA(K)
KM=KMA(K)
76 DO 30 I=2,N1M
IP=1+1
IM=I1-1
78 W2=0.5*(U(IM,J,KP,3)+U(l,J,KP,3))
W1=0.5*(U(IM,J,K ,3)+U(l1,J,K ,3))
60 APK(1,K)=(
> -0.5*DX3Q/RE
> +0.5*DX3*W2*0.5
> )*DT
147 ACK(I,K)=1.+(
> +DX3Q/RE
> +0.5*DX3*(W2*0.5-W1*0.5)
> )*DT
54 AMK(1,K)=(
> -0.5*DX3Q/RE
> -0.5*DX3*W1*0.5
> )*DT
186 R3(1,K)=UH(1,J,K,1)
30 CONTINUE
CALL CTDMA3I(AMK,ACK,APK,R3,UH(0,0,0,1),J,N3M,2,N1M)
3 CONTINUE

1 parallel do XIAIGE Ol2oll JIE HIZZ 2D (e 2= HEFE =8
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ZESIE =X2EE HESRS M 1 time step JIECZ ZOI0IE2 ds8as2 A
Xl Oreff Zoff Helol FUAC
Large Parallel Very large Parallel
(257x65x129) Speed up | (513x65%x129) Speed up
Original (Serial) 16.23 s
Tuned (Serial) 2.09s 470s
2cp 1.19s 1.76 2.50s 1.88
4cp 0.62 s 3.37 1.25s 3.76
8cp 0.37 s 5.65 0.64 s 7.34
16¢cp 0.21s 9.95 0.37 s 12.70
32¢cp 0.17 s 12.29 0.29 s 16.21

t YIELDLOOPTIMES 2t2f

=RSkel DN

Otei 2t &Lt

2N(CEE:

100002+ 4000022 &
SPINLOOPTIME=40,

Parallel
Large Speed Very large Parallel
(257x65%x129) up (513x65%x129) Speed up
Original
(Serial) 16.23 s
Tuned (Serial) 2.09s 470 s
2cp 1.21s 1.73 2.65s 1.77
4cp 0.66 s 3.13 1.30 s 3.62
8cp 0.42 s 4.98 1.00 s 4.70
16¢cp 0.74 s 2.82 1.03 s 4.56
32¢cp 1.30 s 1.61 1.49 s 3.15
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Timing per timestep
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o
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o
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IR 2
ZI=SIESEE
O, e A<

0

HIZ(cost)Ol

30
[0 |> 1]

0
rno

b

c
ol

spin—-waiting

MEfE UCH sleeping &EHIF H&=

SEE QA EHeE Ats 2FEH0

H == SPINLOOPTIME, YIELDLOOPTIME

ASHBIA] 2= idleMEl= sleepingdt spin—waiting &AlEHZ2 226 = %=
Jb sleeping &EIZ S0 JHHl S S 2SI T RSED| oA
ECH. SPINLOOPTIME® AdIE=D sleeping AEHIZ =0 I &0

AdlE=E AFE A2 S0 spin—waiting

Gl OIH YIELDLOOPTIME gt0l 0L2CH 2 gt= JHAIYE tt

Z sleeping &EIZ JHA 21 yield() MAE SE2 A, Z2HANME CHE AHS0HAH B
EIotXICH (&S| Ald st Az SOt &0 YIELDLOOPTIMER AdIEDt sleeping
AEHZ SOHII &0l yielding &EH2 U Zle= Al2t2 &FSHC sleeping AEHNl U=
AYSO MAEE=0 O X2 &0l AHIEI22 dedicatedtHl AIE58t= AIAEIS B2,
M5t S 8H2E A EI JI=H sleeping HEHZ SOHIHA &5 ot= 201 2
E 4d=s0l Sclotth. Bt 2 AIENA ZZ2MAIE ALE56t= busy AIAES H=R
spinningil &2 Al2H0l AHIEI® M AAE 452 UBH & == JCH 2&3E 5 HO
THE2 ZZNAM 2 s 22 et AIAE E40 AECHH A0 2ol 1 s &=

ol SICH OiDI0M= SPINLOOPTIMEZ YIELDLOOPTIMES HIWE = &H&HA Y

g 2= & UMULL

_,_

OtLI2t scalability® £0tXKl= 22
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10. Summary

Z A= =X2EE time step JIESZ2 original =X2E 04l 7.77(2H3AD
x 120)HHol AssAS B0 =RUCH FHECZ=E =2 NIl 829 542
S >3, 850 =56t Fourier HEt REIZ2 MEBEC= M EaE 582 21
OpenMPE Ol&¢st Hdsl A2 parallel doE 0|Est FEX HESE st
012, BEX a2 Soil zICHzt2 2L BHEQ &2 d= S HEs5ot
parallel do2t =2 22X XIAIK reductionE OlEotAC

sy
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